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I [|] 25 - - - - - - - - - - - -
R AW
By 2 259 3 2 1 3 - - 2 1 1 3 13
100. 0 1.2 0.8 0.4 1.2 - - 0.8 0.4 0.4 1.2 5.0
B 20 - 30mCLUT 79 1 1 - - - - 1 - - - 5
100. 0 1.3 1.3 - - - - 1.3 - - - 6.3
B 40 - 50t 104 - 1 - 1 - - - - 2 3
100. 0 - 1.0 - 1.0 - - - - - 1.9 2.9
B 6 0 ULk 76 2 - 1 2 - - 1 1 1 1 5
100. 0 2.6 - 1.3 2.6 - - 1.3 1.3 1.3 1.3 6.6
Bt Fln R - - - - - - - - - - - -
etk AR 224 1 3 - - 1 1 3 1 7
100. 0 0.4 1.3 - - - 0.4 0.4 1.3 0.4 - 3.1
LM 20« 30mRLLT 71 1 1 - - - - - - - - 5
100. 0 1.4 1.4 - - - - - - - - 7.0
M 40 -5 0mft 102 - - - - - 1 - 2 1 - 1
100. 0 - - - - - 1.0 - 2.0 1.0 - 1.0
Lt 6 Ol B 51 - 2 - - - - 1 1 - - 1
100. 0 - 3.9 - - - - 2.0 2.0 - - 2.0
otk AR K - - - - - - - - - -
PRI Z DAl - - - - - - - - -
A 1 4[] 25 - - - - - - - - - - - -
] - - - - - - - - - - - -
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100. 0 5.4 15.1 4.3 1.1 1.1 1.1 - 3.2
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100. 0 3.2 15. 1 8.3 - - 0.9 0.9 7.3
JFAE - R 81 4 11 6 - 1 1 - -
100. 0 4.9 13.6 7.4 - 1.2 1.2 - -
1~3DENTHLZRNZEDH 91 4 13 2 - - - 1 6
100. 0 4.4 14.3 2.2 - - - 1.1 6.6
I [|] 22 - - - - - - - - -
W1 JEEH (HRN=)7)
JevEE - #E 17 - - - - - -
100. 0 - - - - - - - -
B 150 20 71 30 - - - -
100. 0 13.3 47.3 20.0 - - - - -
bk - i 53 - - - 1 2 4 3 25
100. 0 - - - 1.9 3.8 7.5 5.7 47.2
BEVE 70 - - - - - - - -
100. 0 - - - - - - - -
HE - P 22 - - - - - - -
100. 0 - - - - - - - -
JUM - P (RE D S IR LAAL) 103 - - - _ - = — —
100. 0 - - - - - - - -
JEE V2 B U 67 - - - - - - - -
100. 0 - - - - - - - -
GRS 1 - - - - - - - -
100. 0 - - - - - - - -
JuM - phE (BREIRDS
i i) L2k 47 - - - - - - - -
100. 0 - - - - - - - -
1A 78 R, 9 - - - - - - - -
100. 0 - - - - - - - -
Rl IR 7 - - - - - - - -
100. 0 - - - - - - - -
REA I 20 - - - - - - - -
100. 0 - - - - - - - -
Koy I 2 - - - - - - - -
100. 0 - - - - - - - -
B IR ek 10 - - - - - - - -
100. 0 - - - - - - - -
T L 8 - - - - - - - -
100. 0 - - - - - - - -
| 2 - - - - - - - -
M2 4
2 OARELF 84 4 18 5 - - 2 1 3
100. 0 4.8 21.4 6.0 - - 2.4 1.2 3.6
3 0% 66 3 16 2 1 1 1 - 3
100. 0 4.5 24.2 3.0 1.5 1.5 1.5 - 4.5
4 0%k 100 5 10 13 - - - - 3
100. 0 5.0 10.0 13.0 - - - - 3.0
5 0 At 106 4 12 5 - - - 2 12
100. 0 3.8 11.3 4.7 - - - 1.9 11.3
6 0 it 81 3 11 4 - 1 1 - 2
100. 0 3.7 13.6 4.9 - 1.2 1.2 - 2.5
7 0L B 46 1 4 1 - - - 2
100. 0 2.2 8.7 2.2 - - - 4.3
I [|] 25 - - - - - - - - -
M - AR
By 2 259 13 41 19 1 2 2 2 14
100. 0 5.0 15.8 7.3 0.4 0.8 0.8 0.8 5.4
B 20 - 30mCLUT 79 5 16 6 1 1 2 - 3
100. 0 6.3 20. 3 7.6 1.3 1.3 2.5 - 3.8
B 40 ¢ 5 0% 104 6 17 10 - - - 2 9
100. 0 5.8 16.3 9.6 - - - 1.9 8.7
B 6 0l b 76 2 8 3 - 1 - - 2
100. 0 2.6 10.5 3.9 - 1.3 - - 2.6
B R - - - - - - - -
etk AR 224 7 30 11 - - 2 1 11
100. 0 3.1 13.4 4.9 - - 0.9 0.4 4.9
LM 20« 30mRLLT 71 2 18 1 - - 1 1 3
100. 0 2.8 25. 4 1.4 - - 1.4 1.4 4.2
M 40 - 5 0mkft 102 3 5 8 - - - - 6
100. 0 2.9 4.9 7.8 - - - - 5.9
Lt 6 Ol B 51 2 7 2 - - 1 - 2
100. 0 3.9 13.7 3.9 - - 2.0 - 3.9
- QR R LIRS - - - - - - - - -
PERIZ O - - - - - - -
A 1 4[] 25 - - - - - - - - -
i EIpS - - - - - - - - -
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100. 0 3.1 0.6 0.8 1.4 7.5 2.7 1.2 0.8 0.4 0.4
EUR A 93 1 1 1 - 9 3 - 1 1 1
100. 0 1.1 1.1 1.1 - 9.7 3.2 - 1.1 1.1 1.1
By LV x— 218 9 1 1 5 14 6 3 1 1 -
100. 0 4.1 0.5 0.5 2.3 6. 4 2.8 1.4 0.5 0.5 -
JFAE - R 81 4 - - - 11 1 3 2 - -
100. 0 4.9 - - - 13.6 1.2 3.7 2.5 - -
1~3DENTHLZRNZEDH 91 1 1 2 2 2 3 - - - 1
100. 0 1.1 1.1 2.2 2.2 2.2 3.3 - - - 1.1
i EIpS - - - - - - - - - -
W1 JEEH (HRN=)7)
JevEE - #E 17 - — — = -
100. 0 - - - - - - - - - -
B 150 - - - - - - - - - -
100. 0 - - - - - - - - - -
ek - i 53 15 3 - - - - - - - -
100. 0 28.3 5.7 - - - - - - - -
i) 70 - - 4 7 36 13 6 4 - -
100. 0 - - 5.7 10.0 51. 4 18.6 8.6 5.7 - -
IE - DY E 22 - - - - - - - - 2 2
100. 0 - - - - - - - - 9.1 9.1
JUM - P (RE D S IR LAAL) 103 - - - - - - - - - -
100. 0 - - - - - - - - - -
JEE R IR 67 - - - - - - - - - -
100. 0 - - - - - - - - - -
pdEIpas 1 - - - - - - - - - -
100. 0 - - - - - - - - - -
JuM - phE (BREIRDS
i i) L2k 47 - - - - - - - - - -
100. 0 - - - - - - - - - -
1A 78 R, 9 - - - - - - - - - -
100. 0 - - - - - - - - - -
Rl IR 7 - - - - - - - - - -
100. 0 - - - - - - - - - -
REA I 20 - - - - - - - - - -
100. 0 - - - - - - - - - -
Koy & 2 - - - - - - - - - -
100. 0 - - - - - - - - - -
B IR ek 10 - - - - - - - - - -
100. 0 - - - - - - - - - -
T L 8 - - - - - - - - - -
100. 0 - - - - - - - - - -
| 2 - - - - - - - - - - -
M2 4
2 0k RELT 84 3 1 1 - 8 2 - - 1
100. 0 3.6 1.2 1.2 - 9.5 2.4 - - - 1.2
3 0kt 66 1 - - 2 4 - 1 2 - -
100. 0 1.5 - - 3.0 6.1 - 1.5 3.0 - -
4 0%k 100 4 - 1 - 8 3 1 - 1 -
100. 0 4.0 - 1.0 - 8.0 3.0 1.0 - 1.0 -
5 0 At 106 4 - 1 2 9 3 3 1 - -
100. 0 3.8 - 0.9 1.9 8.5 2.8 2.8 0.9 - -
6 0 it 81 3 1 1 2 4 4 1 - - 1
100. 0 3.7 1.2 1.2 2.5 4.9 4.9 1.2 - - 1.2
7 0L B 46 - 1 - 1 3 1 - 1 1 -
100. 0 - 2.2 - 2.2 6.5 2.2 - 2.2 2.2 -
I [|] 25 - - - - - - - - - - -
R AW
By 2 259 7 2 4 21 5 4 2 - 1
100. 0 2.7 0. 0.8 1.5 8.1 1.9 1.5 0.8 - 0.4
B 20 - 30mCLUT 79 2 - - 1 9 1 1 - - -
100. 0 2.5 - - 1.3 11.4 1.3 1.3 - - -
B 40 ¢ 5 0% 104 5 - 1 - 6 1 3 1 -
100. 0 4.8 - 1.0 - 5.8 1.0 2.9 1.0 - -
B 6 0 ULk 76 - 1 1 3 6 3 - 1 - 1
100. 0 - 1.3 1.3 3.9 7.9 3.9 - 1.3 - 1.3
B R - - - - - - - - - - -
etk AR 224 8 2 2 3 15 8 2 2 2 1
100. 0 3.6 0.9 0.9 1.3 6.7 3.6 0.9 0.9 0.9 0.4
LM 20« 30mRLLT 71 2 1 1 1 3 1 - 2 - 1
100. 0 2.8 1.4 1.4 1.4 4.2 1.4 - 2.8 - 1.4
M 40 -5 0mft 102 3 - 1 2 11 5 1 - 1 -
100. 0 2.9 - 1.0 2.0 10. 8 4.9 1.0 - 1.0 -
Lt 6 Ol B 51 3 1 - - 1 2 1 - 1 -
100. 0 5.9 2.0 - - 2.0 3.9 2.0 - 2.0 -
- QR R LIRS - - - - - - - - -
PRI Z DAl - - - - - - - -
A 1 4[] 25 - - - - - - - - - - -
i EIpS - - - - - - - - - - -

%-1-15




1 JEEH GEE IR
13 SKEHHHAY

Jis i 78 7 = = & 1% =S fE x
= ] = JI % 0 [if] = [l N 97
El]| 123 I8 JLN I8 JLN I8 JL=N I8 I8 I8 I8
#
%
ESE N 483 8 4 1 2 1 2 47 9 7 20 2
100. 0 1.7 0.8 0.2 0.4 0.2 0.4 9.7 1.9 1.4 4.1 0.4
EUR A 93 1 - 1 1 - 9 3 3 2 1
100. 0 - 1.1 - 1.1 1.1 - 9.7 3.2 3.2 2.2 1.1
By LV x— 218 5 2 1 1 - 1 21 3 1 12 1
100. 0 2.3 0.9 0.5 0.5 - 0.5 9.6 1.4 0.5 5.5 0.5
JFAE - R 81 2 - - - - 1 11 1 2 4 -
100. 0 2.5 - - - - 1.2 13.6 1.2 2.5 4.9 -
1~3DENTHLZRNZEDH 91 1 1 - - - - 6 2 1 2
100. 0 1.1 1.1 - - - - 6.6 2.2 1.1 2.2
i EIpS - - - - - - - - - - -
W1 JEEH (HRN=)7)
JevEE - #E 17 - - - - - - - - - -
100. 0 - - - - - - - - - -
B 150 - - - - - - - - - -
100. 0 - - - - - - - - - -
ek - s 53 - - - - - - - - - -
100. 0 - - - - - - - - - -
BEVE 70 - - - - - - - - - -
100. 0 - - - - - - - - - -
HIE - YE 22 8 4 1 2 1 2 - -
100. 0 36. 4 18.2 4.5 9.1 4.5 9.1 - - -
JUM - P (RE D S IR LAAL) 103 - - - - - - 47 9 7 20
100. 0 - - - - - - 45.6 8.7 6.8 19.4 1
JEE R IR 67 - - - - - - - - -
100. 0 - - - - - - - - - -
pdEIpas 1 - - - - - - - - - -
100. 0 - - - - - - - - - -
JuM - phE (BREIRDS
e ] 5% 47 - - - - - - 47 - - -
100. 0 - - - - - - 100. 0 - - -
P 9 - - - - - - - 9 -
100. 0 - - - - - - - 100. 0 - -
Rl IR 7 - - - - - - - - 7 -
100. 0 - - - - - - - - 100. 0 -
FEAR I 20 - - - - - - - - - 20
100. 0 - - - - - - - - - 100. 0
Koy & 2 - - - - - - - - - -
100. 0 - - - - - - - - - - 100.
I U 10 - - - - - - - - - -
100. 0 - - - - - - - - - -
T L 8 - - - - - - - - - -
100. 0 - - - - - - - - - -
| 2 - - - - - - - - - - -
M2 4
2 0k RELT 84 1 1 - - - - 7 3 2 2
100. 0 1.2 1.2 - - - - 8.3 3.6 2.4 2.4
3 0% 66 1 - 1 5 3 1 4
100. 0 1.5 - - - - 1.5 7.6 4.5 1.5 6.1
4 0%k 100 1 - 1 1 1 - 13 2 2 5
100. 0 1.0 - 1.0 1.0 1.0 - 13.0 2.0 2.0 5.0
5 0 At 106 4 - - 1 - - 10 1 - 6
100. 0 3.8 - - 0.9 - - 9.4 0.9 - 5.7 0.
6 0 it 81 1 1 - - - 1 6 - 1 2
100. 0 1.2 1.2 - - - 1.2 7.4 - 1.2 2.5 1.
7 0L B 46 - 2 - - - - 6 1 1
100. 0 - 4,3 - - - 13.0 2.2 2.2
I [|] 25 - - - - - - - - - -
R AW
By 2 259 3 3 1 2 1 - 21 6 1 9
100. 0 1.2 1 0.4 0.8 0.4 - 8.1 2.3 0.4 3.5 0.
B 20 - 30mCLUT 79 1 - - - - 7 4 - 3
100. 0 1.3 - - - - - 8.9 5.1 - 3.8
B 40 - 50t 104 2 - 1 2 1 - 6 2 1 6
100. 0 1.9 - 1.0 1.9 1.0 - 5.8 1.9 1.0 5.8 -
B 6 0l b 76 - 3 - - - - 8 - - - 1
100. 0 - 3.9 - - - - 10.5 - - - 1.3
Bt Fln R - - - - - - - - - - - -
etk AR 224 5 1 - - - 2 26 3 6 11 1
100. 0 2.2 0.4 - - - 0.9 11.6 1.3 2.7 4.9 0.4
LM 20« 30mRLLT 71 1 1 - - - 1 5 2 3 3 -
100. 0 1.4 1.4 - - - 1.4 7.0 2.8 4.2 4.2 -
M 40 -5 0mft 102 3 - - - - - 17 1 1 5 1
100. 0 2.9 - - - - - 16.7 1.0 1.0 4.9 1.0
Lt 6 Ol B 51 1 - - - - 1 4 - 2 3 -
100. 0 2.0 - - - - 2.0 7.8 - 3.9 5.9
otk AR K - - - - - - - - - -
PERIZ O - - - - - - - - -
A 1 4[] 25 - - - - - - - - - - -
i EIpS - - - - - - - - - - -
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100. 0 2.1 13.9 1.7 0.2
EUR A 93 1 14 3 -
100. 0 1.1 15.1 3.2 -
By LV x— 218 8 22 1 -
100. 0 3.7 10. 1 0.5 -
JFAE - R 81 - 5 2 1
100. 0 - 6.2 2.5 1.2
1~3DENTHLZRNZEDH 91 1 26 2 -
100. 0 1.1 28.6 2.2 -
i EIpS - - - - -
W1 JEEH (HRN=)7)
JevEE - #E 17 - -
100. 0 - - - -
B 150 - - - -
100. 0 - - - -
bk - HEp 53 - - - -
100. 0 - - - -
E3io) 70 - - -
100. 0 - - -
IE - DY E 22 - - -
100. 0 - - - -
JUIN - iR (FE IR S IR LIAN) 103 10 - 8 -
100. 0 9.7 - 7.8 -
FE R B I 67 - 67 - -
100. 0 - 100. 0 -
pdEIpas 1 - - 1
100. 0 - - 100. 0
JuM - phE (BREIRDS
i i) L2k 47 - - - -
100. 0 - - - -
1A 78 R, 9 - - - -
100. 0 - - - -
Rl IR 7 - - - -
100. 0 - - - -
REA I 20 - - - -
100. 0 - - - -
Koy & 2 - - - -
100. 0 - - - -
B IR ek 10 10 - - -
100. 0 100. 0 - - -
T R 8 - - 8 -
100. 0 - - 100. 0 -
| 2 - - - - -
M2 4
2 0k RELT 84 2 5 -
100. 0 2.4 6.0 1. -
3 0% 66 1 9 - -
100. 0 1.5 13.6 - -
4 0%k 100 2 17 2 -
100. 0 2.0 17.0 2.0 -
5 0 At 106 4 9 4 -
100. 0 3.8 8.5 3.8 -
6 0 it 81 - 15 1 -
100. 0 - 18.5 1.2 -
7 0L B 46 1 12 - 1
100. 0 2.2 26. 1 - 2.2
I [|] 25 - - - - -
R AW
By 2 259 2 36 3 -
100. 0 0.8 13.9 1.2 -
B 20 - 30mCLUT 79 1 6 1 -
100. 0 1.3 7.6 1.3 -
B 40 - 50t 104 - 13 2 -
100. 0 - 12.5 1.9 -
B 6 0l b 76 1 17 - -
100. 0 1.3 22. 4 - -
B R - - - - -
etk AR 224 8 31 5 1
100. 0 3.6 13.8 2.2 0.4
LM 20« 30mRLLT 71 2 8 - -
100. 0 2.8 11.3 - -
M 40 -5 0mft 102 6 13 4 -
100. 0 5.9 12.7 3.9 -
Lt 6 Ol B 51 - 10 1 1
100. 0 - 19. 6 2.0 2.0
otk AR K - - - - -
PRI Z DAl - - - -
A 1 4[] 25 - - - - -
i EIpS - - - - -
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100. 0 - 7 1.3 .0 13.3
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100. 0 - - - .3 7.9
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BEE AR R - - - - - -
ot Ak 59 - 3 1 7
100. 0 - .1 1.7 11.9
M 20 - 30mARUT 26 - - - 5
100. 0 - - - 19.2
M 40 - 50t 20 - 2 1 1
100. 0 - .0 5.0 5.0
M 6 Omftll I 13 - 1 - 1
100. 0 - 7 7.7
e AR A - - - -
PERIZ DAl - - -
P B I [E] 2 - - -
JuM - i (BRI IRLIAL) 103 - -
100. 0 - -
E RN 43 - -
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B 20+ 30mMROLT 16 - -
100. 0 - -
B 40 - 50t 17 - _
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B 6 0Ll B 10 - -
100. 0 - -
Bt AR IR - - -
ot 2R 60 - -
100. 0 - -
M 20 - 30mRLLT 15 - -
100. 0 - -
M 40 - 50t 35 - _
100. 0 - -
i 6 OIVLLE 10 - -
100. 0 - -
M AR A - - -
PRI Z DA, - - -
P 1) A (] 2 - - -
MEE K (Zofh= ) 7) 229 4 5 3 - 3 -
100. 0 7 .2 .3 - .3 -
I [m] 2 1 - - - - - -
100. 0 - - - - - -
7 OREEE# (2 X5))
N4 T Z— (1[EH) 118 1 3 - 2 8
100. 0 .8 .5 - - 7 6.8
VE—%— (2[@ELL]E) 344 3 2 3 - 1 12
100. 0 .9 .6 .9 - .3 0. 3.5
i EpES 21 - - - - - -
100. 0 - - - - -
A M
RTILEZAECATHRYIR 45 - 1
100. 0 - - 2.2
BLUARTILVERS 48 3 - 3
100. 0 .3 - - - 6.3
RFIL-LOIRMNVERE 43 - 1 - 1 1
100. 0 - .3 - .3 2.3
JRERBEHRRER (2KALAI 108 - - - - -
100. 0 - - - - -
BREZE (BAK) 239 2 2 - 3 15
100. 0 .8 .8 - .3 0. 6.3
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B Ak 150 20 71 30 - - - - -
100. 0 13.3 47.3 20.0 - - - - -
Tt AR 91 13 41 19 - - - - -
100. 0 14.3 45.1 20.9 - - - - -
B 20 - 30T 32 5 16 6 - - - - -
100. 0 15.6 50. 0 18.8 - - - - -
BH 40+ 50t 38 6 17 10 - - - - -
100. 0 15. 8 44.7 26. 3 - - - - -
M 6 0Ll L 21 2 8 3 - - - - -
100. 0 9.5 38.1 14.3 - - - - -
BEE AR R - - - - - - - - -
e ek 59 7 30 11 - - - - -
100. 0 11.9 50. 8 18.6 - - - - -
et 20 - 3 0mARLAT 26 2 18 1 - - - - -
100. 0 7.7 69. 2 3.8 - - - - -
L 40 - 5 0mft 20 3 5 8 - - - - -
100. 0 15.0 25.0 40. 0 - - - - -
it 6 0kfRLl L 13 2 7 2 - - - - -
100. 0 15.4 53.8 15.4 - - - - -
e AR A - - - - - - - - -
PERIZ DAl - - - - - - - - -
A 1 4[] 245 - - - - - - - - -
JUM - phiE (BRI 103 - - - - - - - -
100. 0 - - - - - - - -
B 2k 43 - - - - - - - -
100. 0 - - - - - - - -
S 20 30mIRELTF 16 - - - - - - - -
100. 0 - - - - - - - -
BH 40 - 50m%ft 17 - - - - - - - -
100. 0 - - - - - - - -
B 6 0Lk 10 - - - - - - - -
100. 0 - - - - - - - -
B A (e A - - - - - - - - -
g N 60 - - - - - - - -
100. 0 - - - - - - - -
Ltk 20 - 3 0mARBLT 15 - - - - = - - =
100. 0 - - - - - - - -
M 40 - 5 0%t 35 - - - - . - - —
100. 0 - - - - - - - -
ot 6 0Ll E 10 - - - - - - - -
100. 0 - - - - - - - -
M AR A - - - - - - - - -
PERIZ DAt - - - - - - - - -
A 1 4[] 245 - - - Z - . — —
MEE K (Zofh= ) 7) 229 - - - 1 2 4 3 25
100. 0 - - - 0.4 0.9 1.7 1.3 10.9
I (| 2 1 - - - - - - - -
100. 0 - - - - - - - -
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cNoATZ7— (1[HHAH) 118 7 16 13 1 3 1 8
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100. 0 3.2 15.7 4.7 - 0.3 0.3 0.6 4.7
] 21 2 1 1 - - - - 1
100. 0 9.5 4.8 4.8 - - - 4.8
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RTILEZAECATHRYIR 45 - 1 2 - - - - —
100. 0 - 2.2 4.4 - - - - -
BWUARTILVERS 48 - 4 2 - 1 1 - -
100. 0 - 8.3 4.2 - 2.1 2.1 - -
RFIL-LOIRMNVERE 43 - 5 2 - 1 - - -
100. 0 - 11.6 4.7 - 2.3 - - -
JRERBHLER (KALED 108 1 11 1 - - - 2
100. 0 0.9 10. 2 0.9 - - - 1.9 4.6
BREZE (BN 239 19 50 23 1 - 3 1 20
100. 0 7.9 20.9 9.6 0.4 - 1.3 0.4 8.4
i EEAS - - - - - - - - -
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BIH 2K 150 - - - - - - - - - -
100. 0 - - - - - - - - - -
B 2k 91 - - - - - - - - - -
100. 0 - - - - - - - - - -
B 20 - 30mMARELT 32 - - - - - - - - - -
100. 0 - - - - - - - - - -
B 40 - 5 05%ft 38 - - - - - - - - - -
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100. 0 41.2 52.9 5.9 - -
HitE 6 0mitLlE 10 1 4 2 3 -
100.0 10.0 40.0 20.0 30.0 -
Bt FHEDNZ - - - - - -
Tt £k 60 7 29 15 9 -
100.0 11.7 48.3 25.0 15.0 -
T 20 - 30EKUT 15 3 8 2 2 -
100.0 20.0 53.3 13.3 13.3 -
Z 40 508Kt 35 3 19 8 5 -
100.0 8.6 54.3 22.9 14.3 -
Z 6 0mHALLLE 10 1 2 5 2 -
100.0 10.0 20.0 50. 0 20.0 -
it EHERT - - - - - -
TR Z D i - - - - - -
T4 7 @& - - - - - -
E|EZE (FOHIY7T) 229 46 98 32 53 -
100.0 20. 1 42.8 14.0 23.1 -
Fid ERAS 1 - - 1 - -
100. 0 - - 1100.0 - -
M7 KERBZK (2K%)
FS475— (1EE) 118 14 75 8 21 -
100.0 11.9 63. 6 6.8 17.8 -
JE—4— (2@ELE) 344 75 134 72 63 -
100.0 21.8 39.0 20.9 18.3 -
Mm% 21 4 9 1 7 -
100. 0 19.0 42.9 4.8 33.3 -
B S
RTFILEALA AT HRYI R 45 15 11 7 12 -
100.0 33.3 24.4 15.6 26. 7 -
WILARTILERSE 48 4 32 8 4 -
100.0 8.3 66. 7 16.7 8.3 -
RTIL LR MVERE 43 13 17 6 7 -
100.0 30.2 39.5 14.0 16.3 -
JRERBEHFRER (SKFLAD 108 13 54 22 19 -
100.0 12.0 50. 0 20. 4 17.6 -
BEREZH (BRKR) 239 48 104 38 49 -
100.0 20. 1 43.5 15.9 20.5 -

mOE
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4 ERHK (RT2E)

B3 kIHEH
1 2 3
A A A
B & i HE E
= i [=] =
# & #
¥
£ & 483 187 139 156 1 483 2.5
100.0 38.7 28.8 32.3 0.2 | 100.0
ESHRR 93 33 28 32 - 93 2.9
100.0 35.5 30. 1 34.4 - 19.3
B/ LOy— 218 89 70 58 1 218 2.2
100.0 40. 8 32.1 26.6 0.5 45,1
1BE - FAGHRM 81 33 20 28 - 81 2.4
100.0 40.7 24.7 34.6 - 16.8
1~3DENTHHWLEDM 91 32 21 38 - 91 3.2
100.0 35.2 23. 1 41.8 - 18.8
i EEAS - - - - - -
M1 EE# (ERTY7)
dtiEE - B 17 1 5 11 - 17 3.1
100.0 5.9 20.4 64.7 - 3.5
5 150 41 42 67 - 150 2.9
100.0 27.3 28.0 44.7 - 31. 1
JepE - hEp 53 18 17 18 - 53 2.3
100.0 34.0 32.1 34.0 - 11.0
3] 70 18 34 18 - 70 2.3
100.0 25.7 48. 6 25.7 - 14.5
FE - M™E 22 7 9 6 - 22 3.5
100.0 31.8 40.9 27.3 - 4.6
U - iR (BEIRBELSY) 103 70 21 11 1 103 1.8
100.0 68.0 20. 4 10. 7 1.0 21.3
ERER 67 32 11 24 - 67 2.6
100.0 47.8 16. 4 35.8 - 13.9
i EIEAS 1 - - 1 - 1 4.0
100.0 - - 1100.0 - 0.2
Ju - iR (BEIRBE L)
5 i IR 47 35 7 5 - 47 1.4
100.0 74.5 14.9 10. 6 - 45. 6
HEER 9 6 2 1 - 9 1.7
100.0 66. 7 22.2 11. 1 - 8.7
RiFE 7 3 4 - - 7 1.6
100.0 42.9 57.1 - - 6.8
AR 20 15 3 1 1 20 1.6
100.0 75.0 15.0 5.0 5.0 19. 4
AR 2 2 - - - 2 1.0
100.0 | 100.0 - - - 1.9
FIFR 10 9 - 1 - 10 2.5
100.0 90.0 - 10.0 - 9.7
pesb Y1) 8 - 5 3 - 8 4.6
100.0 - 62.5 37.5 - 7.8
Fid ERAS - - - - - -
B2 4
20F/MKLUT 84 31 17 36 - 84 3.1
100.0 36.9 20. 2 42.9 - 17.4
30K 66 25 23 18 - 66 2.8
100.0 37.9 34.8 27.3 - 13.7
4 01K 100 41 30 29 - 100 2.5
100.0 41.0 30.0 29.0 - 20.7
5 0 it 106 43 32 30 1 106 2.2
100.0 40. 6 30.2 28.3 0.9 21.9
6 0K 81 25 25 31 - 81 2.4
100.0 30.9 30.9 38.3 - 16.8
7 0FmMLLE 46 22 12 12 46 2.2
100.0 47.8 26. 1 26. 1 - 9.5
Fi EEAS - - - - - -
% - FHK5
Bt =i 259 99 74 85 1 259 2.6
100.0 38.2 28.6 32.8 0.4 53.6
B 20 30EBRLUT 79 30 23 26 - 79 2.9
100.0 38.0 29. 1 32.9 - 16. 4
B 40-508K 104 36 33 34 1 104 2.5
100.0 34.6 31.7 32.7 1.0 21.5
B 60mMRLE 76 33 18 25 - 76 2.3
100.0 43. 4 23.7 32.9 - 15.7
Bt FHERE - - - - - -
ot 2 224 88 65 71 - 224 2.5
100.0 39.3 29.0 31.7 - 46. 4
M 20 - 30WmAUT 71 26 17 28 - 71 3.0
100.0 36.6 23.9 39.4 - 14.7
ZH 40 -50mft 102 48 29 25 - 102 2.2
100.0 47.1 28.4 24.5 - 21. 1
Zt 6 OmfAULE 51 14 19 18 - 51 2.4
100.0 27.5 37.3 35.3 - 10. 6
X FERERZE - - - - - -
T4 Rl 2 O i - - - - - -
4 Il 4% [E] 25 - - - - - -
i EIES - - - - - -
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4 mER% (RT2E)

FEMX BIR - M) xtE - FK

1 2 3
A A A
B & i HE E
-y i ] x5
# % #
1
A
ME 2% 150 41 42 67 - 150 2.9
100.0 27.3 28.0 44.7 - 31.1
B 2 91 25 27 39 - 91 3.0
100.0 27.5 29.7 42.9 - 18.8
BEE 20 30mALUT 32 7 11 14 - 32 3.3
100.0 21.9 34.4 43.8 - 6.6
B 40-50mit 38 13 10 15 - 38 2.8
100.0 34.2 26. 3 39.5 - 7.9
B 6 0mMALLLE 21 5 6 10 - 21 2.9
100.0 23.8 28. 6 47.6 - 4.3
BiE FHEDZE - - - - - -
Tt £k 59 16 15 28 - 59 2.9
100.0 27.1 25. 4 47.5 - 12.2
XM 20- 30EA/LUT 26 6 3 17 - 26 3.6
100.0 23.1 11.5 65. 4 - 5.4
Z 40 -50EM 20 8 7 5 - 20 2.2
100.0 40.0 35.0 25.0 - 4.1
ZM 6 0FmMLLLE 13 2 5 6 - 13 2.6
100.0 15. 4 38.5 46.2 - 2.7
i EHRERE - - - - - -
TR Z D fih - - - - - -
4 B 4 B 25 - - - - - -
g - iR (BIREELS) 103 70 21 11 1 103 1.8
100.0 68.0 20.4 10. 7 1.0 21.3
Bt 2K 43 31 7 4 1 43 1.6
100.0 72.1 16.3 9.3 2.3 8.9
B 20-305KKUT 16 12 3 1 - 16 2.0
100.0 75.0 18.8 6.3 - 3.3
B% 40 -50m 17 9 4 3 1 17 1.5
100. 0 52.9 23.5 17.6 5.9 3.5
HitE 6 0mitLlE 10 10 - - - 10 1.0
100.0 | 100.0 - - - 2.1
Bt FHEDNZ - - - - - -
Tt £k 60 39 14 7 - 60 2.0
100.0 65.0 23.3 11.7 - 12.4
T 20 - 30EKUT 15 8 4 3 - 15 3.1
100.0 53.3 26. 7 20.0 - 3.1
Z 40 508Kt 35 26 5 4 - 35 1.7
100.0 74.3 14.3 11. 4 - 7.2
Z 6 0mHALLLE 10 5 5 - - 10 1.5
100.0 50. 0 50. 0 - - 2.1
it EHERT - - - - - -
TR Z D i - - - - - -
T4 7 @& - - - - - -
E|EZE (FOHIY7T) 229 76 76 77 - 229 2.6
100.0 33.2 33.2 33.6 - 47. 4
i EIR 1 - - 1 - 1 4.0
100. 0 - - 1100.0 - 0.2
M7 KERBZK (2K%)
FS475— (1EE) 118 33 41 44 - 118 2.8
100.0 28.0 34.7 37.3 - 24. 4
JE—4— (2@ELE) 344 139 96 109 - 344 2.5
100.0 40.4 27.9 31.7 - 71.2
Mm% 21 15 2 3 1 21 1.7
100. 0 71.4 9.5 14.3 4.8 4.3
B S
RTFILEALA AT HRYI R 45 27 11 7 - 45 2.0
100.0 60. 0 24.4 15.6 - 9.3
WILARTILERSE 48 20 16 12 - 48 2.0
100.0 41.7 33.3 25.0 - 9.9
RTIL LR MVERE 43 23 11 9 - 43 2.2
100.0 53.5 25. 6 20. 9 - 8.9
JRERBEHFRER (SKFLAD 108 52 22 33 1 108 2.3
100.0 48. 1 20. 4 30. 6 0.9 22. 4
BEREZH (BRKR) 239 65 79 95 - 239 2.9
100.0 27.2 33. 1 39.7 - 49.5
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4 EA% (BEREWR)

I3 kFHEH
1 2 3
A A A
B KL 3 EH b
-y i ] =
# % #
1
A
& K 482 254 132 96 482 2.0
100.0 52.7 27.4 19.9 100.0
ECHRX 93 39 31 23 93 2.6
100.0 41.9 33.3 24. 7 19.3
B Loy— 217 134 52 31 217 1.6
100.0 61.8 24.0 14.3 45.0
R4 - AT 81 41 24 16 81 1.9
100.0 50. 6 29. 6 19.8 16.8
1~3DENTHHWLEDM 91 40 25 26 91 2.2
100.0 44.0 27.5 28. 6 18.9
IR - - - - -
1 Bt (ERIVUT)
dtiEE - B 17 5 7 5 17 2.3
100.0 29.4 41.2 29.4 3.5
5 150 67 43 40 150 2.1
100.0 44.7 28. 17 26. 7 31.1
JepE - hEp 53 29 18 6 53 1.8
100.0 54.7 34.0 11.3 11.0
3k} 70 32 22 16 70 2.1
100. 0 45.7 31.4 22.9 14.5
FE - mE 22 11 7 4 22 2.9
100.0 50.0 31.8 18.2 4.6
U - iR (BEIRBELSY) 102 75 20 7 102 1.5
100.0 73.5 19.6 6.9 21.2
ERER 67 35 15 17 67 2.0
100.0 52.2 22. 4 25. 4 13.9
EMEZ 1 - - 1 1 4.0
100.0 - - 1100.0 0.2
Ju - iR (BEIRBE L)
BE R 47 37 6 4 47 1.3
100.0 78.17 12.8 8.5 46. 1
HEER 9 6 2 1 9 1.7
100. 0 66. 7 22.2 11.1 8.8
RiFE 7 4 3 - 7 1.4
100.0 57. 1 42.9 - 6.9
AR 19 15 3 1 19 1.6
100.0 78.9 15.8 5.3 18.6
KHE 2 2 - - 2 1.0
100.0 | 100.0 - - 2.0
=y 10 10 - - 10 1.0
100.0 | 100.0 - - 9.8
pesb Y1) 8 1 6 1 8 2.9
100.0 12.5 75.0 12.5 7.8
Fid ERAS - - - _ Z
B2 &
2 0mMLLT 84 49 13 22 84 2.1
100.0 58.3 15.5 26.2 17. 4
3 0mit 66 36 20 10 66 1.9
100.0 54.5 30.3 15.2 13.7
4 01K 100 48 29 23 100 2.1
100.0 48.0 29.0 23.0 20. 7
5 0 it 105 55 33 17 105 1.9
100.0 52.4 31.4 16.2 21.8
6 0K 81 40 23 18 81 2.0
100.0 49. 4 28. 4 22.2 16.8
7 OmitLLE 46 26 14 6 46 1.7
100.0 56.5 30. 4 13.0 9.5
IR - - - - -
% - FHK5
Bt 24K 258 131 74 53 258 2.0
100.0 50. 8 28.7 20.5 53.5
B 20-305KLUT 79 44 20 15 79 1.9
100.0 55.7 25.3 19.0 16. 4
B 40-508K 103 44 36 23 103 2.2
100.0 42.7 35.0 22.3 21.4
B 60mMRLE 76 43 18 15 76 1.9
100.0 56. 6 23.7 19.7 15.8
Bt FHEODZ - - - - -
ot 2 224 123 58 43 224 1.9
100.0 54.9 25.9 19.2 46.5
ZM 20- 30EBRUT 71 41 13 17 71 2.1
100.0 57.7 18.3 23.9 14.7
ZH 40508/ 102 59 26 17 102 1.8
100.0 57.8 25.5 16. 7 21.2
Zt 6 OmfAULE 51 23 19 9 51 1.9
100.0 45. 1 37.3 17.6 10. 6
T EHRERZ - - - - -
T4 Rl 2 O i - - - - -
4 B 4% @] &5 - - - - -
i EIRa - - - - -
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4 &A% (BEREWR)

FEMX BIR - M) xtE - FK

1 2 3
A A A
B & i HE E
-y i ] x5
# % #
1
A
ME 2% 150 67 43 40 150 2.1
100.0 44.7 28.17 26. 7 31.1
B 2 91 39 30 22 91 2.0
100.0 42.9 33.0 24.2 18.9
BEE 20 30mALUT 32 15 11 6 32 1.8
100.0 46.9 34.4 18.8 6.6
B 40-50mit 38 15 13 10 38 2.2
100.0 39.5 34.2 26. 3 7.9
B 6 0mMALLLE 21 9 6 6 21 2.2
100.0 42.9 28. 6 28. 6 4.4
BiE FHEDZE - - - - - -
Tt £k 59 28 13 18 59 2.2
100.0 47.5 22.0 30.5 12.2
XM 20- 30EA/LUT 26 13 2 11 26 2.5
100.0 50. 0 7.7 42.3 5.4
Z 40 -50EM 20 11 6 3 20 1.8
100.0 55.0 30.0 15.0 4.1
ZM 6 0FmMLLLE 13 4 5 4 13 2.2
100.0 30.8 38.5 30.8 2.7
i EHRERE - - - - - -
TR Z D fih - - - - - -
4 B 4 B 25 - - - - -
g - iR (BIREELS) 102 75 20 7 102 1.5
100.0 73.5 19.6 6.9 21.2
Bt 2K 42 31 8 3 42 1.3
100.0 73.8 19.0 7.1 8.7
B 20-305KKUT 16 12 4 - 16 1.3
100.0 75.0 25.0 - 3.3
B% 40 -50m 16 9 4 3 16 1.6
100. 0 56.3 25.0 18.8 3.3
HitE 6 0mitLlE 10 10 - - 10 1.0
100.0 | 100.0 - - 2.1
Bt FHEDNZ - - - - - -
Tt £k 60 44 12 4 60 1.6
100.0 73.3 20.0 6.7 12.4
T 20 - 30EKUT 15 9 4 2 15 2.1
100.0 60. 0 26. 7 13.3 3.1
Z 40 508Kt 35 29 4 2 35 1.4
100.0 82.9 11. 4 5.7 7.3
Z 6 0mHALLLE 10 6 4 - 10 1.4
100.0 60. 0 40.0 - 2.1
it EHERT - - - - - -
TR Z D i - - - - - -
T4 7 @& - - - - -
E|EZE (FOHIY7T) 229 112 69 48 229 2.1
100.0 48.9 30. 1 21.0 47.5
i EIR 1 - - 1 1 4.0
100. 0 - - 1100.0 0.2
M7 KERBZK (2K%)
FS475— (1EE) 118 59 32 27 118 2.1
100.0 50. 0 27.1 22.9 24.5
JE—4— (2@ELE) 344 179 98 67 344 1.9
100.0 52.0 28.5 19.5 7.4
Mm% 20 16 2 2 20 1.7
100. 0 80. 0 10.0 10.0 4.1
B S
RTFILEALA AT HRYI R 45 29 10 6 45 1.8
100.0 64.4 22.2 13.3 9.3
WILARTILERSE 48 30 10 8 48 1.7
100.0 62.5 20.8 16.7 10.0
RTIL LR MVERE 43 28 9 6 43 2.0
100.0 65. 1 20. 9 14.0 8.9
JRERBEHFRER (SKFLAD 107 65 25 17 107 1.8
100.0 60. 7 23. 4 15.9 22.2
BEREZH (BRKR) 239 102 78 59 239 2.1
100.0 42.7 32.6 24.7 49. 6
IR - - - - - -
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M5 RITEH

B3 kIHEH
1 2 3 4 5
A A A A A
B KL i1 EE E
= £ [=] =
# & #
b3
A
£ & 483 152 166 57 43 64 1 482 3.2
100.0 31.5 34.4 11.8 8.9 13.3 0. 100.0
ESHRR 93 54 15 6 4 14 - 93 4.1
100.0 58. 1 16. 1 6.5 4.3 15.1 - 19.3
B/ LOy— 218 42 96 33 22 24 1 217 2.6
100.0 19.3 44.0 15. 1 10. 1 11.0 0.5 45.0
1BE - FAGHRM 81 25 31 7 9 9 - 81 2.5
100.0 30.9 38.3 8.6 11.1 11.1 - 16.8
1~3DENTHHWLEDM 91 31 24 11 8 17 - 91 4.5
100.0 34.1 26. 4 12. 1 8.8 18.7 - 18.9
i EEAS - - - - - - - -
M1 EE# (ERTY7)
dtiEE - B 17 5 6 3 1 2 - 17 4.5
100.0 29.4 35.3 17.6 5.9 11.8 - 3.5
5 150 55 57 13 16 9 - 150 2.4
100.0 36.7 38.0 8.7 10.7 6.0 - 31. 1
JepE - hEp 53 11 18 8 5 11 - 53 3.6
100.0 20.8 34.0 15. 1 9.4 20.8 - 11.0
3] 70 19 25 11 3 12 - 70 3.7
100.0 27. 1 35.7 15.7 4.3 17.1 - 14.5
FE - M™E 22 5 7 1 4 5 - 22 5.3
100.0 22.7 31.8 4.5 18.2 22.7 - 4.6
U - iR (BEIRBELSY) 103 28 30 15 9 20 1 102 3.9
100.0 27.2 29. 1 14. 6 8.7 19. 4 1.0 21.2
ERER 67 28 23 6 5 5 - 67 2.3
100.0 41.8 34.3 9.0 7.5 7.5 - 13.9
i EIEAS 1 1 - - - - - 1 1.0
100.0 | 100.0 - - - - - 0.2
Ju - iR (BEIRBE L)
5 i IR 47 15 16 5 3 8 - 47 3.6
100.0 31.9 34.0 10. 6 6.4 17.0 - 46. 1
HEER 9 2 2 2 1 2 - 9 5.4
100.0 22.2 22.2 22.2 11.1 22.2 - 8.8
RiFE 7 1 - 1 2 3 - 7 4.6
100.0 14.3 - 14.3 28.6 42.9 - 6.9
AR 20 2 6 3 2 6 1 19 5.5
100.0 10.0 30.0 15.0 10.0 30.0 5.0 18.6
AR 2 - 1 1 - - - 2 2.5
100.0 - 50.0 50.0 - - - 2.0
FIFR 10 3 4 3 - - - 10 2.0
100.0 30.0 40.0 30.0 - - - 9.8
pesb Y1) 8 5 1 - 1 1 - 8 2.0
100.0 62.5 12.5 12.5 12.5 - 7.8
Fid ERAS - - - - - - - -
B2 4
20F/MKLUT 84 26 30 9 3 16 - 84 4.5
100.0 31.0 35.7 10. 7 3.6 19.0 - 17.4
30K 66 17 23 6 12 8 - 66 3.4
100.0 25.8 34.8 9.1 18.2 12.1 - 13.7
4 01K 100 33 26 14 11 16 - 100 3.5
100.0 33.0 26.0 14.0 11.0 16.0 - 20.7
5 0 it 106 29 42 16 10 8 1 105 2.4
100.0 27.4 39.6 15. 1 9.4 7.5 0.9 21.8
6 0K 81 31 29 7 6 8 - 81 2.7
100.0 38.3 35.8 8.6 7.4 9.9 - 16.8
7 0FmMLLE 46 16 16 5 1 8 46 3.0
100.0 34.8 34.8 10. 9 2.2 17.4 - 9.5
Fi EEAS - - - - - - - -
% - FHK5
Bt =i 259 105 79 20 25 29 1 258 3.1
100.0 40.5 30.5 7.7 9.7 11.2 0.4 53.5
B 20 30EBRLUT 79 29 28 6 8 8 - 79 3.5
100.0 36.7 35. 4 7.6 10. 1 10. 1 - 16. 4
B 40-508K 104 41 26 8 14 14 1 103 3.3
100.0 39.4 25.0 7.7 13.5 13.5 1.0 21.4
B 60mMRLE 76 35 25 6 3 7 - 76 2.4
100.0 46. 1 32.9 7.9 3.9 9.2 - 15.8
Bt FHERE - - - - - - - -
ot 2 224 47 87 37 18 35 - 224 3.4
100.0 21.0 38.8 16.5 8.0 15.6 - 46.5
M 20 - 30WmAUT 71 14 25 9 7 16 - 71 4.5
100.0 19.7 35.2 12.17 9.9 22.5 - 14.7
ZH 40 -50mft 102 21 42 22 7 10 - 102 2.6
100.0 20.6 41.2 21.6 6.9 9.8 - 21.2
Zt 6 OmfAULE 51 12 20 6 4 9 - 51 3.3
100.0 23.5 39.2 11.8 7.8 17.6 - 10. 6
X FERERZE - - - - - - - -
T4 Rl 2 O i - - - - - - - -
4 Il 4% [E] 25 - - - - - - - -
i EIES - - - - - - - -




M5 RITEH

FEMX BIR - M) xtE - FK

1 2 3 4 5
A A A A A
B KL iz EE E
-y i = T
# % #
#
A
ME 2% 150 55 57 13 16 9 - 150 2.4
100.0 36.7 38.0 8.7 10.7 6.0 - 31.1
B 2 91 45 25 8 10 3 - 91 2.1
100.0 49.5 27.5 8.8 11.0 3.3 - 18.9
BEE 20 30mALUT 32 14 12 1 3 2 - 32 2.4
100.0 43.8 37.5 3.1 9.4 6.3 - 6.6
B 40-50mit 38 22 5 4 6 1 - 38 1.9
100.0 57.9 13.2 10.5 15.8 2.6 - 7.9
B 6 0mMALLLE 21 9 3 1 - - 21 1.8
100.0 42.9 38. 1 14.3 4.8 - - 4.4
BiE FHEDZE - - - - - - - -
Tt £k 59 10 32 5 6 6 - 59 2.9
100.0 16.9 54.2 8.5 10.2 10.2 - 12.2
XM 20- 30EA/LUT 26 7 12 1 4 2 - 26 3.4
100.0 26.9 46. 2 3.8 15. 4 7.7 - 5.4
Z 40 -50EM 20 1 14 3 - 2 - 20 2.4
100.0 5.0 70.0 15.0 - 10.0 - 4.1
ZM 6 0FmMLLLE 13 2 6 1 2 2 - 13 2.9
100.0 15. 4 46.2 7.7 15. 4 15. 4 - 2.7
i EHRERE - - - - - - - -
TR Z D fih - - - - - - - -
4 B 4 B 25 - - - - - - - -
g - iR (BIREELS) 103 28 30 15 9 20 1 102 3.9
100.0 27.2 29. 1 14.6 8.7 19. 4 1.0 21.2
Bt 2K 43 12 13 4 3 10 1 42 4.6
100.0 27.9 30.2 9.3 7.0 23.3 2.3 8.7
B 20-305KKUT 16 5 4 2 3 2 - 16 4.8
100.0 31.3 25.0 12.5 18.8 12.5 - 3.3
B% 40 -50m 17 4 6 1 - 5 1 16 5.1
100. 0 23.5 35.3 5.9 - 29. 4 5.9 3.3
HitE 6 0mitLlE 10 3 3 1 - 3 - 10 3.7
100.0 30.0 30.0 10.0 - 30.0 - 2.1
Bt FHEDNZ - - - - - - - -
Tt £k 60 16 17 11 6 10 - 60 3.4
100.0 26. 7 28.3 18.3 10.0 16.7 - 12.4
T 20 - 30EKUT 15 3 3 2 1 6 - 15 5.2
100.0 20.0 20.0 13.3 6.7 40.0 - 3.1
Z 40 508Kt 35 10 11 7 5 2 - 35 2.4
100.0 28. 6 31. 4 20.0 14.3 5.7 - 7.3
Z 6 0mHALLLE 10 3 3 2 - 2 - 10 3.9
100.0 30.0 30.0 20.0 20.0 - 2.1
it EHERT - - - - - - - -
HRIZ Dt - - - - - - - -
T4 7 @& - Z Z Z - = -
E|EZE (FOHIY7T) 229 68 79 29 18 35 - 229 3.5
100.0 29.7 34.5 12.7 7.9 15.3 - 47.5
i EIR 1 1 - - - - - 1 1.0
100.0 | 100.0 - - - - - 0.2
M7 KERBZK (2K%)
FS475— (1EE) 118 23 53 11 8 23 - 118 4.4
100.0 19.5 44.9 9.3 6.8 19.5 - 24.5
JE—4— (2@ELE) 344 115 111 45 32 41 - 344 3.0
100.0 33.4 32.3 13.1 9.3 1.9 - 71.4
Mm% 21 14 2 1 3 - 1 20 1.7
100. 0 66. 7 9.5 4.8 14.3 - 4.8 4.1
B S
RTFILEALA AT HRYI R 45 19 15 2 2 7 - 45 4.8
100.0 42.2 33.3 4.4 4.4 15.6 - 9.3
WILARTILERSE 48 3 21 10 7 7 - 48 3.1
100.0 6.3 43.8 20.8 14.6 14.6 - 10.0
RTIL LR MVERE 43 15 14 4 6 4 - 43 3.4
100.0 34.9 32.6 9.3 14.0 9.3 - 8.9
JRERBEHFRER (SKFLAD 108 23 33 15 14 22 1 107 4.2
100.0 21.3 30. 6 13.9 13.0 20. 4 0.9 22.2
BEREZH (BRKR) 239 92 83 26 14 24 - 239 2.5
100.0 38.5 34.7 10.9 5.9 10.0 - 49. 6
IR - - - - - - - -
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M5 RITEDERE

I3 kFHEH
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BEREZH (BRKR) 239 33 35 58 52 36 18 7
100.0 13.8 14.6 24.3 21.8 15. 1 7.5 2.9
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& K 483 33 243 45 41 30 27 20 5 32 7
100.0 6.8 50.3 9.3 8.5 6.2 5.6 4.1 1.0 6.6 1.4
ECHRX 93 13 57 12 5 - 1 - 4 - 1
100.0 14.0 61.3 12.9 5.4 - 1.1 - 4.3 - 1.1
B Loy— 218 12 121 15 21 13 11 10 - 11 4
100.0 5.5 55.5 6.9 9.6 6.0 5.0 4.6 - 5.0 1.8
R4 - AT 81 2 36 10 6 8 3 8 7 1
100.0 2.5 44. 4 12.3 7.4 9.9 3.7 9.9 - 8.6 1.2
1~3DENTHHWLEDM 91 6 29 8 9 9 12 2 1 14 1
100.0 6.6 31.9 8.8 9.9 9.9 13.2 2.2 1.1 15. 4 1.1
IR - - - - - - - - - - -
1 Bt (ERIVUT)
dtiEE - B 17 2 4 6 1 - 2 - - 2 -
100.0 11.8 23.5 35.3 5.9 - 11.8 - - 11.8 -
5 150 10 79 9 11 9 10 7 3 9 3
100.0 6.7 52.7 6.0 7.3 6.0 6.7 4.7 2.0 6.0 2.0
dehE - IR 53 4 36 3 2 5 1 2 - - -
100.0 7.5 67.9 5.7 3.8 9.4 1.9 3.8 - - -
3k} 70 4 38 4 3 6 3 3 1 6 2
100. 0 5.7 54.3 5.7 4.3 8.6 4.3 4.3 1.4 8.6 2.9
tE - mE 22 - 15 - 2 2 1 1 - 1 -
100.0 - 68. 2 - 9.1 9.1 4.5 4.5 - 4.5 -
U - iR (BEIRBELSY) 103 6 50 13 12 3 6 6 1 5 1
100.0 5.8 48.5 12.6 1.7 2.9 5.8 5.8 1.0 4.9 1.0
ERER 67 7 21 10 10 5 4 1 - 8 1
100.0 10. 4 31.3 14.9 14.9 7.5 6.0 1.5 - 11.9 1.5
EMEZ 1 - - - - - - - - 1 -
100.0 - - - - - - - - 1100.0 -
Ju - iR (BEIRBE L)
BE R 47 1 24 4 6 2 2 5 - 3 -
100.0 2.1 51. 1 8.5 12.8 4.3 4.3 10. 6 - 6.4 -
HEER 9 1 5 2 - 1 - - - - -
100. 0 11.1 55. 6 22.2 - 1.1 - - - - -
RiFE 7 1 3 - - - 2 - 1 - -
100.0 14.3 42.9 - - - 28. 6 - 14.3 - -
AR 20 3 8 4 2 - 1 - - 1 1
100.0 15.0 40.0 20.0 10.0 - 5.0 - - 5.0 5.0
KHE 2 - - 1 1 - - - - - -
100.0 - - 50.0 50.0 - - - - - -
=y 10 - 6 - 1 - 1 1 - 1 -
100.0 - 60. 0 - 10.0 - 10.0 10.0 - 10.0 -
pesb Y1) 8 - 4 2 2 - - - - - -
100.0 - 50. 0 25.0 25.0 - - - - - -
Fid ERAS - - - - - - - - - - -
B2 4
2 0mMLLT 84 1 44 8 - 4 24 2 - 1 -
100.0 1.2 52.4 9.5 - 4.8 28. 6 2.4 - 1.2 -
3 0mit 66 3 42 12 3 4 1 - - 1 -
100.0 4.5 63. 6 18.2 4.5 6. 1 1.5 - - 1.5 -
4 01K 100 4 63 8 10 5 1 4 1 4 -
100.0 4.0 63.0 8.0 10.0 5.0 1.0 4.0 1.0 4.0 -
5 0 it 106 10 55 9 13 8 1 4 1 2 3
100.0 9.4 51.9 8.5 12.3 7.5 0.9 3.8 0.9 1.9 2.8
6 0K 81 9 29 7 7 6 - 7 3 12 1
100.0 11.1 35.8 8.6 8.6 7.4 - 8.6 3.7 14.8 1.2
7 OmitLLE 46 6 10 1 8 3 3 - 12 3
100.0 13.0 21.7 2.2 17. 4 6.5 - 6.5 26. 1 6.5
IR - - - - - - - - - - -
% - FHK5
Bt 24K 259 20 141 26 25 10 11 3 3 16 4
100.0 7.7 54.4 10.0 9.7 3.9 4.2 1.2 1.2 6.2 1.5
B 20-305KLUT 79 3 46 13 3 3 11 - - - -
100.0 3.8 58.2 16.5 3.8 3.8 13.9 - - - -
B 40-508K 104 8 72 7 11 3 - - 2 - 1
100.0 7.7 69. 2 6.7 10. 6 2.9 - - 1.9 - 1.0
B 60mMRLE 76 9 23 6 11 4 - 3 1 16 3
100.0 11.8 30.3 7.9 14.5 5.3 - 3.9 1.3 21. 1 3.9
Bt FHEODZ - - - - - - - - - - -
ot 2 224 13 102 19 16 20 16 17 2 16 3
100.0 5.8 45.5 8.5 7.1 8.9 7.1 7.6 0.9 7.1 1.3
ZM 20- 30EBRUT 71 1 40 7 - 5 14 2 - 2 -
100.0 1.4 56.3 9.9 - 7.0 19.7 2.8 - 2.8 -
ZH 40508/ 102 6 46 10 12 10 2 8 - 6 2
100.0 5.9 45. 1 9.8 11.8 9.8 2.0 7.8 - 5.9 2.0
Zt 6 OmfAULE 51 6 16 2 4 5 - 7 2 8 1
100.0 11.8 31.4 3.9 7.8 9.8 - 13.7 3.9 15.7 2.0
T EHRERZ - - - - - - - - - - -
T4 Rl 2 O i - - - - - - - - - - -
4 B 4% @] &5 - - - - - - - - - - -
i EIRa - - - - - - - - - - -
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ME 2% 150 10 79 9 11 9 10 7 3 9 3
100.0 6.7 52.7 6.0 7.3 6.0 6.7 4.7 2.0 6.0 2.0
B 2 91 9 53 6 7 2 5 1 3 4 1
100.0 9.9 58.2 6.6 7.1 2.2 5.5 1.1 3.3 4.4 1.1
BEE 20 30mALUT 32 1 21 4 1 - 5 - - - -
100.0 3.1 65. 6 12.5 3.1 - 15.6 - - - -
B 40-50mit 38 5 24 2 4 1 - - 2 - -
100.0 13.2 63.2 5.3 10.5 2.6 - 5.3 - -
B 6 0mMALLLE 21 3 8 - 2 1 - 1 1 4 1
100.0 14.3 38. 1 - 9.5 4.8 - 4.8 4.8 19.0 4.8
BiE FHEDZE - - - - - - - - - - -
Tt £k 59 1 26 3 4 7 5 6 5 2
100.0 1.7 44. 1 5.1 6.8 1.9 8.5 10.2 - 8.5 3.4
XM 20- 30EA/LUT 26 - 14 2 - 2 5 1 - 2 -
100.0 - 53.8 7.7 - 7.7 19.2 3.8 - 7.7 -
Z 40 -50EM 20 1 8 1 3 2 - 1 - 2 2
100.0 5.0 40.0 5.0 15.0 10.0 - 5.0 - 10.0 10.0
ZM 6 0FmMLLLE 13 - 4 - 1 3 - 4 - 1 -
100.0 - 30.8 - 7.7 23. 1 - 30.8 - 7.7
i EHRERE - - - - - - - - - - -
TR Z D fih - - - - - - - - - - -
4 B 4 B 25 - - - - - - - - - -
g - iR (BIREELS) 103 6 50 13 12 3 6 6 1 5 1
100.0 5.8 48.5 12.6 1.7 2.9 5.8 5.8 1.0 4.9 1.0
Bt 2K 43 3 23 6 5 1 2 - - 2 1
100.0 7.0 53.5 14.0 11.6 2.3 4.7 - - 4.7 2.3
B 20-305KKUT 16 1 7 5 1 - 2 - - - -
100.0 6.3 43.8 31.3 6.3 - 12.5 - - - -
B% 40 -50m 17 2 13 - 1 - - - - - 1
100. 0 11.8 76.5 - 5.9 - - - - - 5.9
HitE 6 0mitLlE 10 - 3 1 3 1 - - - 2 -
100.0 - 30.0 10.0 30.0 10.0 - - - 20.0 -
Bt FHEDNZ - - - - - - - - - -
Tt £k 60 3 27 7 7 2 4 6 1 3 -
100.0 5.0 45.0 11.7 1.7 3.3 6.7 10.0 1.7 5.0 -
T 20 - 30EKUT 15 - 9 1 - - 4 1 - - -
100.0 - 60. 0 6.7 - - 26. 7 6.7 - - -
Z 40 508Kt 35 1 15 5 6 2 - 4 - 2 -
100.0 2.9 42.9 14.3 17.1 5.7 - 11.4 - 5.7 -
Z 6 0mHALLLE 10 2 3 1 1 - - 1 1 1 -
100.0 20.0 30.0 10.0 10.0 - 10.0 10.0 10.0 -
it EHERT - - - - - - - - - - -
HRIZ Dt - - - - - - - - - - -
T4 7 @& - - - - - - - - - - -
E|EZE (FOHIY7T) 229 17 114 23 18 18 11 7 1 17 3
100.0 7.4 49. 8 10.0 7.9 7.9 4.8 3.1 0.4 7.4 1.3
i EIR 1 - - - - - - - - 1 -
100. 0 - - - - - - - - 1100.0 -
M7 KERBZK (2K%)
FS475— (1EE) 118 1 72 8 8 7 15 4 - 2 1
100.0 0.8 61.0 6.8 6.8 5.9 12.7 3.4 - 1.7 0.8
JE—4— (2@ELE) 344 28 162 35 32 22 11 15 5 29 5
100.0 8.1 47.1 10.2 9.3 6.4 3.2 4.4 1.5 8.4 1.5
Mm% 21 4 9 2 1 1 1 1 - 1 1
100. 0 19.0 42.9 9.5 4.8 4.8 4.8 4.8 - 4.8 4.8
B S
RTINEAA AT YIR 45 2 25 3 3 3 3 - - 5 1
100.0 4.4 55. 6 6.7 6.7 6.7 6.7 - - 1.1 2.2
WILARTILERSE 48 6 19 4 5 4 8 - 1 1
100.0 12.5 39.6 8.3 10. 4 8.3 - 16.7 - 2.1 2.1
RTIL LR MVERE 43 6 26 3 1 - - 1 1 4 1
100.0 14.0 60.5 7.0 2.3 - - 2.3 2.3 9.3 2.3
JRERBEHFRER (SKFLAD 108 4 46 12 13 8 12 5 2 4 2
100.0 3.7 42.6 11.1 12.0 7.4 1.1 4.6 1.9 3.7 1.9
BEREZH (BRKR) 239 15 127 23 19 15 12 6 2 18 2
100.0 6.3 53. 1 9.6 7.9 5.0 2.5 0.8 7.5 0.8
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& {K 483 118 66 52 226 21 483 118 344 21
100.0 244 13.7 10.8 46. 8 4.3 |100.0 244 71.2 4.3
ESRX 93 14 12 11 52 4 93 14 75 4
100.0 15. 1 12.9 11.8 55.9 4.3 |100.0 15. 1 80.6 4.3
I Lvy— 218 75 34 27 73 9 218 75 134 9
100. 0 34. 4 15.6 12.4 33.5 4.1 100. 0 34.4 61.5 4.1
B4 - S0NEHRS 81 8 10 7 55 1 81 8 72 1
100. 0 9.9 12.3 8.6 67.9 1.2 | 100.0 9.9 88.9 1.2
1~3DENTEHRWEDM 01 21 10 7 46 7 91 21 63 7
100. 0 23. 1 11.0 7.7 50.5 7.7 | 100.0 23. 1 69.2 7.7
EIEES - - - - - - - - - -
M1 FEE# (BRI 7)
dbissE - Eik 17 7 5 1 4 - 17 7 10 -
100.0 4.2 29.4 5.9 23.5 - | 100.0 41.2 58.8 -
GES 150 48 18 14 66 4 150 48 98 4
100.0 32.0 12.0 9.3 44.0 2.7 | 100.0 32.0 65.3 2.7
JbkE - chEp 53 18 12 8 14 1 53 18 34 1
100. 0 34.0 22.6 15. 1 26. 4 1.9 | 100.0 34.0 64.2 1.9
o] 70 21 12 9 27 1 70 21 48 1
100. 0 30.0 17.1 12.9 38.6 1.4 | 100.0 30.0 68.6 1.4
hE - mE 22 8 6 3 5 - 22 8 14 -
100. 0 36. 4 27.3 13.6 22.7 - | 100.0 36. 4 63. 6 -
Jum iR (ERBELS) 103 16 13 16 54 4 103 16 83 4
100.0 15.5 12.6 15.5 52.4 3.9 | 100.0 15.5 80.6 3.9
ERER 67 - - 1 55 11 67 - 56 11
100. 0 - - 1.5 82. 1 16.4 | 100.0 - 83.6 16. 4
EIETES 1 - - - 1 - 1 - 1 -
100. 0 - - - 1100.0 - | 100.0 - 1100.0 -
A R (BRIREBELUN)
& fE] 12 47 6 7 8 25 1 47 6 40 1
100. 0 12.8 14.9 17.0 53.2 2.1 100. 0 12.8 85. 1 2.1
EBR 9 3 2 2 2 - 9 3 6 -
100. 0 33.3 22.2 22.2 22.2 - | 100.0 33.3 66. 7 -
RI5E 7 2 1 1 3 - 7 2 5 -
100. 0 28.6 14.3 14.3 42.9 - | 100.0 28.6 71.4 -
BEAR 20 1 2 4 10 3 20 1 16 3
100.0 5.0 10.0 20.0 50.0 15.0 | 100.0 5.0 80.0 15.0
XHE 2 - - - 2 - 2 - 2 -
100.0 - - - 1100.0 - | 100.0 - 1 100.0 -
= 10 1 - 1 8 - 10 1 9 -
100. 0 10.0 - 10.0 80.0 - | 100.0 10.0 90.0 -
hiBE 8 3 1 - 4 - 8 3 5 -
100. 0 37.5 12.5 - 50.0 - | 100.0 37.5 62.5 -
EEES - - - - - - - - - -
B2 4
20T 84 46 9 5 22 2 84 46 36 2
100. 0 54.8 10.7 6.0 26.2 2.4 | 100.0 54.8 42.9 2.4
30t 66 18 12 8 26 2 66 18 46 2
100.0 27.3 18.2 12.1 39.4 3.0 | 100.0 27.3 69. 7 3.0
4 081 100 20 8 13 57 2 100 20 78 2
100.0 20.0 8.0 13.0 57.0 2.0 | 100.0 20.0 78.0 2.0
50t 106 21 21 15 44 5 106 21 80 5
100.0 19.8 19.8 14.2 41.5 4.7 | 100.0 19.8 75.5 4.7
6 OBt 81 12 10 9 43 7 81 12 62 7
100. 0 14.8 12.3 11. 1 53. 1 8.6 | 100.0 14.8 76.5 8.6
7 0EfELIE 46 1 6 2 34 3 46 1 42 3
100. 0 2.2 13.0 4.3 73.9 6.5 | 100.0 2.2 91.3 6.5
I EES - - - - - - - - - -
% - FHK5
Bt 2K 259 55 35 28 128 13 259 55 191 13
100.0 21.2 13.5 10.8 49. 4 5.0 | 100.0 21.2 73.17 5.0
Bit 20 30mKEUT 79 28 10 10 31 - 79 28 51 -
100.0 35. 4 12.7 12.7 39.2 - | 100.0 35. 4 64.6 -
B 40-50EK 104 22 15 12 49 6 104 22 76 6
100.0 21.2 14.4 11.5 47.1 5.8 | 100.0 21.2 73.1 5.8
Bt 6 0mALLE 76 5 10 6 48 7 76 5 64 7
100. 0 6.6 13.2 7.9 63.2 9.2 | 100.0 6.6 84.2 9.2
Bt EHEEE - - - - - - - - - -
T £k 224 63 31 24 98 8 224 63 153 8
100.0 28. 1 13.8 10.7 43.8 3.6 | 100.0 28. 1 68.3 3.6
ZE 20 30mMARAUT 71 36 11 3 17 4 71 36 31 4
100. 0 50. 7 15.5 4.2 23.9 5.6 | 100.0 50. 7 43.7 5.6
¥ 4050 K 102 19 14 16 52 1 102 19 82 1
100. 0 18.6 13.7 15.7 51.0 1.0 | 100.0 18.6 80. 4 1.0
i 6 0mftLlE 51 8 6 5 29 3 51 8 40 3
100. 0 15.7 11.8 9.8 56.9 5.9 | 100.0 15.7 78. 4 5.9
T FRHEEE - - - - - - - - - -
MR Z Dt - - - - - - - - - -
EREEES - - - - - - - - - -
EIETES - - - - - - - - - -
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B £
EEEEXS 150 48 18 14 66 4 150 48 98 4
100.0 32.0 12.0 9.3 44.0 2.7 | 100.0 32.0 65. 3 2.7
2 £ 91 24 9 11 44 3 91 24 64 3
100.0 26. 4 9.9 12.1 48. 4 3.3 | 100.0 26. 4 70.3 3.3
BiE 20 30mEUT 32 13 3 2 14 - 32 13 19 -
100. 0 40. 6 9.4 6.3 43.8 - | 100.0 40. 6 59. 4 -
B 4050/ 38 7 5 6 18 2 38 7 29 2
100. 0 18.4 13.2 15.8 47.4 5.3 | 100.0 18.4 76.3 5.3
BiE 6 0mALL 21 4 1 3 12 1 21 4 16 1
100.0 19.0 4.8 14.3 57.1 4.8 | 100.0 19.0 76.2 4.8
Bt FEHERNE - - - - - - - - - -
T £k 59 24 9 3 22 1 59 24 34 1
100.0 40.7 15.3 5.1 37.3 1.7 | 100.0 40.7 57.6 1.7
Z 20 30mARUT 26 13 5 1 7 - 26 13 13 -
100. 0 50. 0 19.2 3.8 26.9 - | 100.0 50.0 50.0 -
& 40-50HK 20 8 3 1 8 20 8 12
100.0 40.0 15.0 5.0 40.0 - | 100.0 40.0 60.0 -
Tt 6 0O LLE 13 3 1 1 7 1 13 3 9 1
100.0 23.1 7.7 7.7 53.8 7.7 | 100.0 23.1 69. 2 7.7
T FHENE - - - - - - - - - -
TR Z Dt - - - - - - - - - -
4 7| 4% [B] &5 - - - - - - - -
Fu - hAE (BEIR BB L) 103 16 13 16 54 4 103 16 83 4
100.0 15.5 12.6 15.5 52. 4 3.9 | 100.0 15.5 80. 6 3.9
2t £ 43 6 6 6 23 2 43 6 35 2
100.0 14.0 14.0 14.0 53.5 4.7 | 100.0 14.0 81.4 4.7
E 20 - 30mALUT 16 4 2 4 6 - 16 4 12 -
100.0 25.0 12.5 25.0 37.5 - | 100.0 25.0 75.0 -
B 40 -50mK 17 2 2 2 10 1 17 2 14 1
100. 0 11.8 11.8 11.8 58.8 5.9 | 100.0 11.8 82. 4 5.9
Bt 6 0mHRLUL 10 - 2 - 7 1 10 - 9 1
100. 0 - 20.0 - 70.0 10.0 | 100.0 - 90.0 10.0
i EHEEE - - - - - - - - - -
Tt 2 60 10 7 10 31 2 60 10 48 2
100.0 16.7 1.7 16.7 51.7 3.3 | 100.0 16.7 80.0 3.3
Xt 20 30mALUT 15 8 2 2 2 1 15 8 6 1
100. 0 53.3 13.3 13.3 13.3 6.7 | 100.0 53.3 40.0 6.7
Zt 40-50EK 35 1 4 7 22 1 35 1 33 1
100. 0 2.9 1.4 20.0 62.9 2.9 | 100.0 2.9 94.3 2.9
Tt 6 0B LLE 10 1 1 1 7 - 10 1 9 -
100.0 10.0 10.0 10.0 70.0 - | 100.0 10.0 90.0 -
Tt FEHREE - - - - - - - - - -
BB Z DOt - - - - - - - - - -
ESTEEES - - - - - - - - - -
EEZE (ZOITYT) 229 54 35 22 105 13 229 54 162 13
100. 0 23.6 15.3 9.6 45.9 5.7 | 100.0 23.6 70. 7 5.7
EAEES 1 - - - 1 - 1 - 1
100.0 - - - 1100.0 - | 1000 - 1100.0 -
B7 RERH (2K%)
FSA47>5— (1EEB) 118 118 - - - - 118 118 - -
100.0 | 100.0 - - - - | 100.0 | 100.0 - -
JE—4— (2@EE) 344 - 66 52 226 - 344 - 344 -
100.0 - 19.2 15. 1 65. 7 - | 100.0 - 1100.0 -
EAEES 21 - - - - 21 21 - - 21
100.0 - - - - 1100.0 | 100.0 - - |1 100.0
SRS
RTLEA AT R YT R 45 7 3 2 26 7 45 7 31 7
100.0 15.6 6.7 4.4 57.8 15.6 | 100.0 15.6 68.9 15.6
HILRTFILVERS 48 13 4 9 22 - 48 13 35 -
100.0 27.1 8.3 18.8 45.8 - | 100.0 27.1 72.9 -
RTFIL-LYVRNVERE 43 7 4 4 25 3 43 7 33 3
100. 0 16.3 9.3 9.3 58. 1 7.0 | 100.0 16.3 76.7 7.0
JRERBEHRER (LA 108 23 22 14 45 4 108 23 81 4
100. 0 21.3 20. 4 13.0 41.7 3.7 | 100.0 21.3 75.0 3.7
EREZEE (BRK) 239 68 33 23 108 7 239 68 164 7
100.0 28.5 13.8 9.6 45.2 2.9 | 100.0 28.5 68.6 2.9
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& {K 483 104 55 351 58 49 26 72 79 31
100.0 21.5 11.4 72.17 12.0 10. 1 5.4 14.9 16. 4 6.4
ESRX 93 16 7 76 8 7 2 12 2 9
100.0 17.2 7.5 81.7 8.6 7.5 2.2 12.9 2.2 9.7
I Lvy— 218 55 39 157 33 31 11 33 40 6
100. 0 25.2 17.9 72.0 15. 1 14.2 5.0 15. 1 18.3 2.8
B4 - S0NEHRS 81 19 7 56 10 4 3 14 19 7
100. 0 23.5 8.6 69. 1 12.3 4.9 3.7 17.3 23.5 8.6
1~3DENTIHHEVEFDI 91 14 2 62 7 7 10 13 18 9
100. 0 15.4 2.2 68. 1 7.7 7.7 11.0 14.3 19.8 9.9
EIEES - - - - - - - - - -
M1 EE#t (BRI UT)
dbimE - J/ik 17 5 4 9 1 1 1 2 2 2
100.0 29.4 23.5 52.9 5.9 5.9 5.9 11.8 11.8 11.8
GES 150 36 14 106 21 18 3 17 24 13
100.0 24.0 9.3 70.7 14.0 12.0 2.0 11.3 16.0 8.7
JbkE - chEp 53 18 7 43 6 4 1 12 14 1
100. 0 34.0 13.2 81. 1 11.3 7.5 1.9 22.6 26. 4 1.9
(ki 70 22 9 55 14 4 - 9 12 3
100. 0 31. 4 12.9 78.6 20.0 5.7 - 12.9 17.1 4.3
hE - mE 22 10 1 15 - 3 1 6 2 1
100. 0 45.5 4.5 68. 2 - 13.6 4.5 27.3 9.1 4.5
Ju - hiE (RIRBELSY) 103 10 17 77 12 8 6 22 16 6
100.0 9.7 16.5 74.8 1.7 7.8 5.8 21. 4 15.5 5.8
ERER 67 3 3 45 4 11 14 4 9 5
100. 0 4.5 4.5 67.2 6.0 16.4 20.9 6.0 13.4 7.5
EIETES 1 - - 1 - - - - - -
100. 0 - - 1100.0 - - - - -
A R (BRIREBELUN)
EfE R 47 4 8 37 7 4 4 13 5 3
100. 0 8.5 17.0 78.7 14.9 8.5 8.5 27.17 10. 6 6.4
EBR 9 1 1 9 - 1 - 3 2 -
100. 0 11. 1 11. 1 100. 0 - 11.1 - 33.3 22.2 -
RIFE 7 - 2 5 1 - - - - -
100. 0 - 28.6 71.4 14.3 - - - - -
PN 20 3 5 12 4 - 1 4 1 2
100.0 15.0 25.0 60.0 20.0 - 5.0 20.0 5.0 10.0
XHE 2 - - 2 - 1 - - 1 -
100.0 - - 1100.0 - 50.0 - - 50.0 -
EIHE 10 1 - 7 - 2 - 2 4 1
100. 0 10.0 - 70.0 - 20.0 - 20.0 40.0 10.0
FhEBIE 8 1 1 5 - - 1 - 3 -
100. 0 12.5 12.5 62.5 - 12.5 37.5 -
mOE - - - - - - - - - -
B2 i
20T 84 21 11 62 6 11 5 16 13 4
100. 0 25.0 13.1 73.8 7.1 13.1 6.0 19.0 15.5 4.8
30E Mt 66 20 9 41 7 11 3 8 8 3
100.0 30.3 13.6 62. 1 10. 6 16.7 4.5 12. 1 12. 1 4.5
4 0Bt 100 19 9 78 19 12 5 11 18 4
100.0 19.0 9.0 78.0 19.0 12.0 5.0 11.0 18.0 4.0
50t 106 20 10 85 8 9 3 14 20 8
100.0 18.9 9.4 80. 2 7.5 8.5 2.8 13.2 18.9 7.5
6 Ot 81 14 11 53 14 4 5 15 13 9
100. 0 17.3 13.6 65. 4 17.3 4.9 6.2 18.5 16.0 11.1
7 0EfELIE 46 10 5 32 4 2 5 8 7 3
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100.0 25. 4 14.7 69.6 12.5 11.2 8.9 20. 1 16.5 5.4
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100. 0 36.6 19.7 59.2 14. 1 18.3 11.3 21.1 15.5 4.2
¥ 4050 K 102 21 13 83 12 11 8 18 21 3
100. 0 20.6 12.7 81.4 11.8 10.8 7.8 17.6 20.6 2.9
M 6 0mMUL 51 10 6 31 6 1 4 12 5 6
100. 0 19.6 11.8 60.8 11.8 2.0 7.8 23.5 9.8 11.8
X FHERS - - - - - - - - - -
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B FHERT - - - - - - - - - -
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100. 0 38.5 19.2 57.7 15.4 19.2 7.7 15.4 11.5 3.8
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100.0 30.0 10.0 95.0 10.0 15.0 - 20.0 10.0 5.0
T 6 0mARLUL 13 3 - 7 - - - 2 2 4
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TR Z Dt - - - - - - - - - -
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100.0 9.7 16.5 74.8 1.7 7.8 5.8 21. 4 15.5 5.8
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100.0 7.0 7.0 72.1 7.0 4.7 20.9 18.6 9.3
B 20-305KKUT 16 2 - 13 - - - 4 2 1
100. 0 12.5 - 81.3 - - - 25.0 12.5 6.3
B 40 -508RK 17 1 2 10 1 1 - 2 3 3
100. 0 5.9 11.8 58. 8 5.9 5.9 - 11.8 17.6 17.6
Bt 6 0mftUL 10 - 1 8 2 1 - 3 3 -
100. 0 - 10.0 80.0 20.0 10.0 - 30.0 30.0 -
Bt EHEEE - - - - - - - - - -
i £k 60 7 14 46 9 6 6 13 8 2
100.0 11.7 23.3 76.7 15.0 10.0 10.0 21.7 13.3 3.3
T 20 - 30EKUT 15 4 7 10 3 2 2 3 1 1
100. 0 26.7 46.7 66. 7 20.0 13.3 13.3 20.0 6.7 6.7
% 40 - 508K 35 2 5 28 4 4 3 7 7 1
100. 0 5.7 14.3 80.0 11.4 11.4 8.6 20.0 20.0 2.9
T 6 0mARUL 10 1 2 8 2 - 1 3 - -
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HRIZ Dt - - - - - - - - - -
ERIEIEES - - - - - - - - - -
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i EIR 1 - - 1 - - - - - -
100. 0 - - 1100.0 - - - - - -
M7 KERBZK (2K%)
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100. 0 33.9 16.9 69.5 10.2 13.6 3.4 17.8 18.6 4.2
JE—4— (2@LE) 344 62 35 257 44 32 19 50 51 22
100.0 18.0 10.2 74.7 12.8 9.3 5.5 14.5 14.8 6.4
I EES 21 2 - 12 2 1 3 1 6 4
100. 0 9.5 - 57.1 9.5 4.8 14.3 4.8 28.6 19.0
HE A
RFILEALA LA TRV IR 45 6 2 37 1 9 1 9 4 3
100.0 13.3 4.4 82.2 2.2 20.0 2.2 20.0 8.9 6.7
WILRTILERS 48 17 12 34 16 6 2 5 6 3
100.0 35. 4 25.0 70.8 33.3 12.5 4.2 10. 4 12.5 6.3
RTFIL-LYRNVERE 43 3 2 32 4 8 4 17 5 1
100. 0 7.0 4.7 74. 4 9.3 18.6 9.3 39.5 11.6 2.3
JREREHRRER (SK4LA0 108 26 16 83 11 7 5 22 17 5
100. 0 241 14.8 76.9 10.2 6.5 4.6 20. 4 15.7 4.6
BEREZH (BRKR) 239 52 23 165 26 19 14 19 47 19
100.0 21.8 9.6 69.0 10.9 7.9 5.9 7.9 19.7 7.9
EIEES - - - - - - - - - -
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ESRX 93 17 10 5 6 6 1 2 1 39 5 40 1
100.0 18.3 10.8 5.4 6.5 6.5 1.1 2.2 1.1 41.9 5.4 43.0 1.1
I Lvy— 218 71 42 36 33 38 5 12 5 126 22 30 5
100. 0 32.6 19.3 16.5 15. 1 17.4 2.3 5.5 2.3 57.8 10. 1 13.8 2.3
B4 - S0NEHRS 81 12 7 8 7 13 1 2 - 27 9 30 -
100. 0 14.8 8.6 9.9 8.6 16.0 1.2 2.5 - 33.3 11.1 37.0 -
1~3DENTIHHEVEFDI 91 10 3 6 5 7 1 2 3 28 10 42 1
100. 0 11.0 3.3 6.6 5.5 7.7 1.1 2.2 3.3 30.8 11.0 46. 2 1.1
EIEES - - - - - - - - - - - - -
M1 EE#t (BRI UT)
dbimE - J/ik 17 5 - 7 2 3 - 2 1 8 1 6 -
100.0 29.4 - 4.2 11.8 17.6 - 11.8 5.9 471 5.9 35.3 -
GES 150 33 14 17 17 16 5 5 3 69 6 45 2
100.0 22.0 9.3 11.3 11.3 10.7 3.3 3.3 2.0 46.0 4.0 30.0 1.3
JbkE - chEp 53 21 9 12 11 4 - 5 3 22 7 13 2
100. 0 39.6 17.0 22.6 20.8 7.5 - 9.4 5.7 41.5 13.2 24.5 3.8
(ki 70 22 16 11 9 7 1 3 - 39 8 17 -
100. 0 31. 4 22.9 15.7 12.9 10.0 1.4 4.3 - 55.7 11.4 24.3 -
hE - mE 22 10 6 3 2 3 - 1 1 10 - 5 -
100. 0 45.5 27.3 13.6 9.1 13.6 - 4.5 4.5 45.5 - 22.7 -
Ju - hiE (RIRBELSY) 103 16 16 4 9 25 2 2 1 48 9 26 3
100.0 15.5 15.5 3.9 8.7 24.3 1.9 1.9 1.0 46. 6 8.7 25.2 2.9
ERER 67 3 1 1 1 6 - - - 24 15 29 -
100. 0 4.5 1.5 1.5 1.5 9.0 - - 35.8 22.4 43.3
EIETES 1 - - - - - - - - 1
100. 0 - - - - - - - - - | 100.0 -
A R (BRIREBELUN)
EfE R 47 7 6 1 5 9 2 1 - 20 6 15 -
100. 0 14.9 12.8 2.1 10. 6 19. 1 4.3 2.1 - 42.6 12.8 31.9 -
EBR 9 2 1 - - - - - 1 4 - 2 -
100. 0 22.2 11. 1 - - - - - 11. 1 44. 4 - 22.2 -
RIFE 7 1 - - - 4 - - - 5 1 1 -
100. 0 14.3 - - - 57. 1 - - - 71.4 14.3 14.3 -
PN 20 3 4 2 2 7 - 1 - 8 - 5 2
100.0 15.0 20.0 10.0 10.0 35.0 - 5.0 - 40.0 - 25.0 10.0
XHE 2 1 2 - - - - - - 2 - - -
100.0 50.0 | 100.0 - - - - - - | 100.0 - - -
EIHE 10 1 2 1 1 4 - - - 6 1 1 -
100. 0 10.0 20.0 10.0 10.0 40.0 - - - 60.0 10.0 10.0 -
FhEBIE 8 1 1 - 1 1 - - - 3 1 2 1
100. 0 12.5 12.5 - 12.5 12.5 - - - 37.5 12.5 25.0 12.5
I EES - - - - - - - - - - - - -
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100. 0 22.6 3.6 11.9 10.7 21.4 - 2.4 2.4 57.1 7.1 20.2 2.4
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100.0 14.0 11.0 10.0 11.0 14.0 1.0 3.0 2.0 51.0 15.0 20.0 1.0
50t 106 32 21 12 12 12 1 6 1 42 7 37 2
100.0 30.2 19.8 11.3 11.3 11.3 0.9 5.7 0.9 39.6 6.6 34.9 1.9
6 Ot 81 19 13 10 15 4 2 3 1 28 12 27 1
100. 0 23.5 16.0 12.3 18.5 4.9 2.5 3.7 1.2 34.6 14.8 33.3 1.2
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I EES - - - - - - - - - - - - -
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B 20 30EmKUT 79 17 6 10 4 12 2 2 2 4 3 22 1
100.0 21.5 7.6 12.7 5.1 15.2 2.5 2.5 2.5 51.9 3.8 27.8 1.3
B 40-50EK 104 17 19 12 12 8 1 7 2 50 6 36 3
100.0 16.3 18.3 11.5 11.5 7.7 1.0 6.7 1.9 48.1 5.8 34.6 2.9
B 60mARLUE 76 13 13 9 8 5 3 3 3 24 10 30 -
100. 0 17.1 17.1 11.8 10.5 6.6 3.9 3.9 3.9 31.6 13.2 39.5 -
BiE EHENE - - - - - - - - - - - -
Tt &k 224 63 24 24 27 39 2 6 2 105 27 54 3
100.0 28. 1 10.7 10.7 12.1 17.4 0.9 2.7 0.9 46.9 12.1 24.1 1.3
ZE 20 30mMARAUT 71 22 5 7 7 18 - 1 1 45 8 13 1
100. 0 31.0 7.0 9.9 9.9 25. 4 - 1.4 1.4 63. 4 11.3 18.3 1.4
¥ 4050 K 102 29 13 10 11 18 1 2 1 43 16 21 -
100. 0 28. 4 12.7 9.8 10.8 17.6 1.0 2.0 1.0 42.2 15.7 20.6 -
M 6 0mMUL 51 12 6 7 9 3 1 3 - 17 3 20 2
100. 0 23.5 11.8 13.7 17.6 5.9 2.0 5.9 - 33.3 5.9 39.2 3.9
X FHERS - - - - - - - - - - - - -
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I RS - - - - - - - - - - - - -
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100.0 22.0 9.3 11.3 11.3 10.7 3.3 3.3 2.0 46.0 4.0 30.0 1.3
B £ 91 15 10 8 9 6 4 4 2 37 3 33 1
100.0 16.5 11.0 8.8 9.9 6.6 4.4 4.4 2.2 40.7 3.3 36.3 1.1
B 20-30=FRLUT 32 8 1 3 1 4 2 2 1 16 - 9 -
100. 0 25.0 3.1 9.4 3.1 12.5 6.3 6.3 3.1 50.0 - 28. 1 -
B 40 508K 38 2 6 3 4 1 - 2 1 16 1 16 1
100. 0 5.3 15.8 7.9 10.5 2.6 - 5.3 2.6 42.1 2.6 42.1 2.6
B 6 0mARULE 21 5 3 2 4 1 2 - - 5 2 8 -
100. 0 23.8 14.3 9.5 19.0 4.8 9.5 - - 23.8 9.5 38.1 -
B FHERT - - - - - - - - - - - - -
T &k 59 18 4 9 8 10 1 1 1 32 3 12 1
100. 0 30.5 6.8 15.3 13.6 16.9 1.7 1.7 1.7 54.2 5.1 20.3 1.7
ZE 20 - 30mARAUT 26 8 1 2 2 7 - - - 16 2 5 1
100. 0 30.8 3.8 7.7 7.7 26.9 - - - 61.5 7.7 19.2 3.8
ZE 40-50EK 20 6 2 5 4 3 - 1 10 1 2 -
100.0 30.0 10.0 25.0 20.0 15.0 - - 5.0 50.0 5.0 10.0 -
T 6 0mARLUL 13 4 1 2 2 - 1 1 - 6 - 5 -
100.0 30.8 7.7 15.4 15.4 7.7 7.7 - 46.2 - 38.5 -
tt FHERZ - - - - - - - - - - - - -
TR Z D fih - - - - - - - - - - - - -
EVEIRES - - - - - - - - - - - -
Jui - hiE (EIRBELSY) 103 16 16 4 9 25 2 2 1 48 9 26 3
100.0 15.5 15.5 3.9 8.7 24.3 1.9 1.9 1.0 46. 6 8.7 25.2 2.9
B 2K 43 4 7 1 3 7 1 1 1 20 3 12 2
100.0 9.3 16.3 2.3 7.0 16.3 2.3 2.3 2.3 46.5 7.0 27.9 4.7
B 20 30FKEUT 16 1 - - - 3 - - 1 8 1 4 1
100. 0 6.3 - - - 18.8 - - 6.3 50.0 6.3 25.0 6.3
B 40 -508RK 17 3 4 1 3 2 - 1 - 7 2 4 1
100. 0 17.6 23.5 5.9 17.6 11.8 - 5.9 - 41.2 11.8 23.5 5.9
Bt 6 0mftUL 10 - 3 - - 2 1 - 5 - 4 -
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Bt EHEEE - - - - - - - - - - - -
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ZHE 20 30mAUT 15 2 3 1 3 8 - - - 12 1 2 -
100. 0 13.3 20.0 6.7 20.0 53.3 - - - 80.0 6.7 13.3 -
% 40 - 508K 35 9 5 1 2 9 1 1 - 13 4 9 -
100. 0 25.7 14.3 2.9 5.7 25.7 2.9 2.9 - 37.1 11.4 25.7 -
T 6 0mARUL 10 1 1 1 1 1 - - - 3 1 3 1
100.0 10.0 10.0 10.0 10.0 10.0 - - - 30.0 10.0 30.0 10.0
Tt EHERZ - - - - - - - - - - - - -
MR Z Dt - - - - - - - - - - - - -
EVIEARES - - - - - - - - - - - - -
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100. 0 - - - - - - - - - - | 100.0 -
B7 RERH (2K%)
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JE—4— (2@LE) 344 63 47 35 28 46 6 13 6 151 32 112 3
100.0 18.3 13.7 10.2 8.1 13.4 1.7 3.8 1.7 43.9 9.3 32.6 0.9
I EES 21 - 1 - 1 - - - - 5 5 10 1
100. 0 - 4.8 - 4.8 - - - - 23.8 23.8 47.6 4.8
HE A
RFILEALA LA TRV IR 45 1 1 1 3 - 1 3 19 5 20 -
100.0 2.2 1.1 2.2 2.2 6.7 - 2.2 6.7 42.2 11.1 44. 4
WILRTILERS 48 25 13 8 9 15 3 3 2 27 3 5 -
100.0 52.1 27.1 16.7 18.8 31.3 6.3 6.3 4.2 56.3 6.3 10. 4 -
RTFIL-LYRNVERE 43 8 2 2 1 3 - 3 1 18 8 11 1
100. 0 18.6 4.7 4.7 2.3 7.0 - 7.0 2.3 41.9 18.6 25.6 2.3
JREREHRRER (SK4LA0 108 33 19 12 13 20 1 5 3 53 4 24 3
100. 0 30. 6 17.6 11. 1 12.0 18.5 0.9 4.6 2.8 49.1 3.7 22.2 2.8
EREZHE (BN 239 43 23 32 27 23 4 6 - 103 26 82 3
100.0 18.0 9.6 13.4 11.3 9.6 1.7 2.5 43.1 10.9 34.3 1.3
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ECHX 93 14 10 4 8 1 - 5 58 1
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B LSv— 218 70 54 4 12 10 5 10 84 5
100.0 32.1 24.8 1.8 5.5 4.6 2.3 4.6 38.5 2.3
fed - A 81 20 10 3 2 4 3 5 43 1
100.0 24.7 12.3 3.7 2.5 4.9 3.7 6.2 53. 1 1.2
1~3DENTEHRVEDH 91 12 7 4 2 5 1 2 58 2
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ES 150 43 31 3 10 12 3 9 58 3
100.0 28.7 20. 7 2.0 6.7 8.0 2.0 6.0 38.7 2.0
JERE - hER 53 21 12 4 5 1 3 2 14 2
100.0 39.6 22.6 7.5 9.4 1.9 5.7 3.8 26. 4 3.8
5 70 20 18 - 2 4 - 3 31 1
100.0 28.6 25.7 - 2.9 5.7 - 4.3 44.3 1.4
HhE - mE 22 7 1 2 - 1 1 1 9 1
100. 0 31.8 4.5 9.1 - 4.5 4.5 4.5 40.9 4.5
UM - iR (ERBELS) 103 17 7 3 3 1 1 1 71 2
100.0 16.5 6.8 2.9 2.9 1.0 1.0 1.0 68.9 1.9
EREER 67 3 6 2 3 - 1 4 54 -
100.0 4.5 9.0 3.0 4.5 - 1.5 6.0 80. 6
PSS 1 - - - - - - - 1
100.0 - - - - - - - 1100.0 -
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EEE 9 1 2 - 1 - - - 5 1
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100.0 22.8 17.7 2.5 6.3 6.3 5.1 3.8 51.9 -
Bt 40-50EMK 104 26 21 3 7 2 1 5 52 2
100.0 25.0 20.2 2.9 6.7 1.9 1.0 4.8 50. 0 1.9
Bt 6 0EmMKLLE 76 16 12 2 3 3 - 2 45 2
100.0 21.1 15.8 2.6 3.9 3.9 - 2.6 59. 2 2.6
Bt ERBEDE - - - - - - - - - -
M 2K 224 56 34 8 9 10 4 12 105 5
100.0 25.0 15.2 3.6 4.0 4.5 1.8 5.4 46.9 2.2
Z%H 20 30mAUT 71 20 13 3 5 7 3 2 28 3
100.0 28.2 18.3 4.2 7.0 9.9 4.2 2.8 39.4 4.2
ZH 40 508K 102 22 17 4 3 2 1 5 50 2
100.0 21.6 16.7 3.9 2.9 2.0 1.0 4.9 49.0 2.0
ZH 6 OmftLlE 51 14 4 1 1 1 - 5 27 -
100.0 27.5 7.8 2.0 2.0 2.0 - 9.8 52.9 -
Tt EEHEEE - - - - - - - - - -
MBI Z Dty - - - - - - - - - -
PRI E & - - - - - - - - - -
RS - - - - - - - - - -
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B 21K 150 43 31 3 10 12 3 9 58 3
100.0 28.7 20.7 2.0 6.7 8.0 2.0 6.0 38.7 2.0
Bt 24K 91 26 19 2 9 7 2 6 37 1
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Z 40 -50EM 20 18 1 - - 1 5 10 2 1 -
100.0 90.0 5.0 - - 5.0 25.0 50.0 10.0 5.0 -
T 6 0mARLUL 13 13 - - 1 - 7 2 2 2 -
100.0 | 100.0 - 7.7 - 53.8 15. 4 15. 4 15. 4 -
tt FHERZ - - - - - - - - - - -
TR Z Dt - - - - - - - - - - -
4 B 4 B 25 - - - - - - - - - - -
g - iR (BIREELS) 103 10 58 10 - 2 11 2 23 1 -
100.0 9.7 56.3 9.7 - 1.9 10.7 1.9 22.3 1.0 -
Bt 2K 43 4 27 2 - - 3 2 9 1 -
100.0 9.3 62.8 4.7 - 7.0 4.7 20.9 2.3 -
B 20-305KKUT 16 1 12 1 - - 1 - 1 1 -
100. 0 6.3 75.0 6.3 - - 6.3 - 6.3 6.3 -
B 40 -508RK 17 3 9 - - - 2 2 4 - -
100. 0 17.6 52.9 - - - 11.8 11.8 23.5 - -
Bt 6 0mftUL 10 - 6 1 - - - - 4 -
100. 0 - 60.0 10.0 - - - - 40.0 - -
Bt EHEEE - - - - - - - - - -
i £k 60 6 31 8 - 2 8 - 14 - -
100.0 10.0 51.7 13.3 - 3.3 13.3 - 23.3 - -
ZHE 20 30mAUT 15 - 9 1 - 1 2 - 4 - -
100. 0 - 60.0 6.7 - 6.7 13.3 - 26.7 - -
% 40 - 508K 35 4 17 6 - 1 4 - 8 - -
100. 0 11.4 48. 6 17.1 - 2.9 11.4 - 22.9 - -
T 6 0mARUL 10 2 5 1 - - 2 - 2 - -
100.0 20.0 50.0 10.0 - - 20.0 - 20.0 - -
it EREEE - - - - - - - - - - -
EFIEIOY - - - - - - - - - - -
EEIEES - - - - - - - - - - -
ERE (FOMHITY7) 229 154 45 8 6 1 87 55 30 11 1
100. 0 67.2 19.7 3.5 2.6 0.4 38.0 24.0 13.1 4. 0.4
i EIR 1 1 - - - - - - - - -
100.0 | 100.0 - - - - - - - - -
M7 KERBZK (2K%)
FS475— (1[EB) 118 91 27 5 3 1 45 35 5 -
100. 0 77.1 22.9 4.2 2.5 0.8 38. 1 29.7 5.1 4.2 -
JE—4— (2@LE) 344 207 81 17 6 3 126 67 50 11 -
100.0 60.2 23.5 4.9 1.7 0.9 36.6 19.5 14.5 3.2 -
I EES 21 7 4 1 - - 4 2 1 1
100. 0 33.3 19.0 4.8 - - 19.0 9.5 38. 1 4.8 4.8
HE A
RFILEALA LA TRV IR 45 10 17 3 2 1 7 1 14 2 1
100.0 22.2 37.8 6.7 4.4 2.2 15.6 2.2 31.1 4.4 2.2
WILRTILERS 48 26 10 - - - 15 7 13 - -
100.0 54.2 20.8 - - - 31.3 14.6 27.1 - -
RTFIL-LYRNVERE 43 16 9 2 1 - 6 7 13 4 -
100. 0 37.2 20.9 4.7 2.3 - 14.0 16.3 30.2 9.3 -
JREREHRRER (SK4LA0 108 21 67 14 - 2 13 9 8 1 -
100. 0 19. 4 62.0 13.0 - 1.9 12.0 8.3 7.4 0.9 -
BEREZH (BRKR) 239 232 9 4 6 1 134 80 16 10 -
100.0 97. 1 1.7 2.5 0.4 56. 1 33.5 6.7 4.2 -
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M13@ ZRXE
I3 kFHEH
J 23 23 g £ L E B [ % o3
R [i1] R ] S5 v 4 £ =] ) L
HE B N N N 3 2 =2 2 th ~ i
= C Z Z Z h I B T & =]
# [ 1 + &
I g
£ K 483 16 106 87 7 5 136 97 93 71 7 32 2
100.0 3.3 21.9 18.0 1.4 1.0 28.2 20.1 19. 3 14.7 1.4 6.6 0.4
ESRR 93 4 21 14 2 - 23 20 16 1 2 8 -
100.0 4.3 22.6 15.1 2.2 - 24.7 21.5 17.2 11. 8 2.2 8.6 -
I Lvy— 218 4 61 47 3 4 73 39 39 43 2 6 1
100.0 1.8 28.0 21.6 1.4 1.8 33.5 17.9 17.9 19.7 0.9 2.8 0.5
J&4E - MOAGART 81 3 7 7 1 1 22 14 27 10 1 6 1
100.0 3.7 8.6 8.6 1.2 1.2 27.2 17.3 33.3 12.3 1.2 1.4 1.2
1~3DENTIHHEWLZEDM 91 5 17 19 1 - 18 24 11 7 2 12 -
100.0 5.5 18.7 20.9 1.1 - 19.8 26. 4 12.1 7.7 2.2 13.2 -
IR - - - - - - - - - - - - -
M1 FEE# (BRI 7)
dtiEE - A 17 2 4 3 - - 4 7 2 2 - 2 -
100.0 11.8 23.5 17.6 - - 23.5 41.2 11.8 11.8 - 11.8 -
ESESS 150 3 30 37 - 1 55 26 20 25 2 10 1
100.0 2.0 20.0 24.7 - 0.7 36.7 17.3 13.3 16.7 1.3 6.7 0.7
dehE - IR 53 2 13 10 1 1 23 7 3 15 1 3 -
100.0 3.8 24.5 18.9 1.9 1.9 43. 4 13.2 5.7 28.3 1.9 5.7 -
E:kii] 70 3 13 10 1 1 26 17 8 17 1 3 -
100.0 4.3 18.6 14.3 1.4 1.4 37.1 24.3 11. 4 24.3 1.4 4.3 -
FE - @E 22 2 6 2 - 2 6 6 2 4 1 - -
100.0 9.1 27.3 9.1 - 9.1 27.3 27.3 9.1 18.2 4.5 - -
R - e (BRBEUMN) 103 3 28 15 5 - 15 21 34 8 2 2 1
100.0 2.9 27.2 14.6 4.9 - 14.6 20. 4 33.0 7.8 1.9 1.9 1.0
ERBE 67 i 12 10 - - 7 12 24 - - 12 -
100.0 1.5 | 17.9 | 14.9 - - | 104 | 17.9 | 3538 - | 179 -
EIETES 1 - - - - - 1 - - -
100.0 - - - - - - | 100.0 - - - - -
A R (BRIREBELUN)
& o] R 47 2 14 7 1 - 9 10 13 3 - - -
100.0 4.3 29.8 14.9 2.1 - 19.1 21.3 27.7 6.4 - - -
EBE 9 - 4 1 - - 1 - 3 - 1 1 -
100.0 - 44.4 11.1 - - 11.1 - 33.3 - 1.1 1.1 -
RIFE i - 3 1 - - 2 - 2 - - - -
100.0 - 42.9 14.3 - - 28.6 - 28.6 - - - -
EERIR 20 - 2 2 3 - 2 7 8 2 - - 1
100.0 - 10.0 10.0 15.0 - 10.0 35.0 40.0 10.0 - - 5.0
KHE 2 - - - - - - - 2 1 - - -
100.0 - - - - - - - | 100.0 | 50.0 - - -
=R 10 - 2 1 i - - 1 5 i i i -
100.0 - | 200 | 100 | 10.0 - - | 100 | 500 | 10.0 | 10.0 | 10.0 -
SRR 8 1 3 3 - - 1 3 1 1 - - -
100.0 | 125 | 37.5 | 37.5 - - | 125 | 3715 | 125 | 12,5 - - -
IR - - - - - - - - - - - - -
B2 i
20FMKUT 84 3 25 19 1 - 24 9 12 14 2 4 1
100.0 3.6 29.8 22.6 1.2 - 28.6 10.7 14.3 16.7 2.4 4.8 1.2
S0ENR 66 5 20 9 2 - 18 10 11 14 - 4 -
100.0 7.6 30.3 13.6 3.0 - 27.3 15.2 16.7 21.2 - 6.1 -
4 0mEft 100 2 14 15 1 - 38 15 21 8 1 9 -
100.0 2.0 14.0 15.0 1.0 - 38.0 15.0 21.0 8.0 1.0 9.0 -
5 0% 106 2 26 22 1 4 32 25 19 19 1 3 1
100.0 1.9 24.5 20.8 0.9 3.8 30.2 23.6 17.9 17.9 0.9 2.8 0.9
6 Ot 81 3 18 17 2 - 16 25 17 12 2 5 -
100.0 3.7 22.2 21.0 2.5 - 19. 8 30.9 21.0 14.8 2.5 6.2 -
70K LULE 46 1 3 5 - 1 8 13 13 4 1 7
100.0 2.2 6.5 10.9 - 2.2 17.4 28.3 28.3 8.7 2.2 15.2 -
IR - - - - - - - - - - - - -
% - FHK5
B 24 259 8 59 44 - 1 81 52 40 32 3 20 2
100.0 3.1 22.8 17.0 - 0.4 31.3 20. 1 15. 4 12. 4 1.2 7.7 0.8
B 20- 30FLLT 79 2 22 12 - - 23 12 9 13 1 6 1
100.0 2.5 27.8 15.2 - - 29. 1 15.2 11.4 16.5 1.3 7.6 1.3
Bt 4050t 104 3 25 20 - 1 40 21 15 1 - 6 1
100.0 2.9 24.0 19.2 - 1.0 38.5 20.2 14. 4 10. 6 - 5.8 1.0
Bt 6 0mrLULE 76 3 12 12 - - 18 19 16 8 2 8 -
100.0 3.9 15.8 15.8 - - 23.7 25.0 21.1 10.5 2.6 10.5 -
Bt FHEODZ - - - - - - - - - - - - -
i 2k 224 8 47 43 7 4 55 45 53 39 4 12 -
100.0 3.6 21.0 19.2 3.1 1.8 24. 6 20. 1 23.17 17.4 1.8 5.4 -
ZHE 20 - 3O0OBMELUT 1Al 6 23 16 3 - 19 7 14 15 1 2 -
100.0 8.5 32.4 22.5 4.2 - 26.8 9.9 19.7 21.1 1.4 2.8 -
ZHE 40 - 50mk 102 1 15 17 2 3 30 19 25 16 2 6 -
100.0 1.0 14.7 16.7 2.0 2.9 29. 4 18.6 24.5 15.7 2.0 5.9 -
Tt 6 OmitLLE 51 1 9 10 2 1 6 19 14 8 1 4 -
100.0 2.0 17.6 19.6 3.9 2.0 11.8 37.3 21.5 15.7 2.0 7.8 -
T EHRERZ - - - - - - - - - - - - -
HBIZ Dy - - - - - - - - - - - - -
PRI E & - - - - - - - - - - - - -
EIEES - - - - - - - - - - - - -




M130 ZXRXAE

FEMX BIR - M) xtE - FK

J 23 23 g £ L E B [ % o3
R [i1] R ] S5 v 4 £ =] ) L
HE B N N N 3 2 =2 2 th ~ i
= C Z Z Z h I B T & =]
# [ 1 + &
I g
B 21K 150 3 30 37 - 1 55 26 20 25 2 10 1
100.0 2.0 20.0 24.7 - 0.7 36.7 17.3 13.3 16.7 1.3 6.7 0.7
Bt 24K 91 1 17 20 - - 36 15 10 1 2 7 1
100.0 1.1 18.7 22.0 - - 39.6 16.5 11.0 12.1 2.2 1.1 1.1
BEE 20 30mALUT 32 - 9 7 - - 10 3 4 7 - 1 1
100.0 - 28. 1 21.9 - - 31.3 9.4 12.5 21.9 - 3.1 3.1
BiE 40 -50FM 38 - 5 7 - - 20 6 4 1 - 4 -
100.0 - 13.2 18.4 - - 52.6 15.8 10.5 2.6 - 10.5 -
B 6 0mMtLlLE 21 1 3 6 - - 6 6 2 3 2 2 -
100.0 4.8 14.3 28. 6 - - 28. 6 28. 6 9.5 14.3 9.5 9.5 -
BiE FHEDZE - - - - - - - - - - - - -
o £k 59 2 13 17 - 1 19 11 10 14 3 -
100.0 3.4 22.0 28.8 - 1.7 32.2 18.6 16.9 23.7 - 5.1 -
XM 20- 30EA/LUT 26 2 8 9 - - 6 4 4 8 - 2 -
100.0 1.7 30.8 34.6 - - 23.1 15.4 15.4 30.8 - 1.1 -
T 40 - 50K 20 - 2 5 - 1 10 3 2 3 - - -
100.0 - 10.0 25.0 - 5.0 50.0 15.0 10.0 15.0 - - -
T 6 0L 13 - 3 3 - - 3 4 4 3 - 1 -
100.0 23.1 23.1 - - 23.1 30.8 30.8 23. 1 - 1.1 -
i EHRERE - - - - - - - - - - - - -
TR Z D fih - - - - - - - - - - - - -
4 B 4 B 25 - - - - - - - - - - -
A - iR (BEREERUN) 103 3 28 15 5 - 15 21 34 8 2 2 1
100.0 2.9 27.2 14.6 4.9 - 14.6 20. 4 33.0 7.8 1.9 1.9 1.0
Bt 24K 43 2 12 5 - - 7 9 14 2 i 1 1
100. 0 4.7 | 21.9 | 11.6 - - | 16.3 | 20.9 | 32.6 4.1 2.3 2.3 2.3
Bt 20 - 30mAUT 16 i 6 2 - - 2 3 2 i i i -
100. 0 6.3 | 37.5 | 12.5 - - | 125 | 18.8 | 12.5 6.3 6.3 6.3 -
B 40 -508RK 17 1 3 3 - - 3 4 6 1 - - 1
100.0 59 | 17.6 | 17.6 - - | 17.6 | 23.5 | 353 5.9 - - 5.9
Bt 6 0mftUE 10 - 3 - - - 2 2 6 - - - -
100.0 - | 300 - - - | 200 | 20.0 | 60.0 - - - -
Bt FHEDNZ - - - - - - - - - - - - -
i &K 60 i 16 10 5 - 8 12 20 6 1 1 -
100. 0 1.7 | 26.7 | 16.7 8.3 - | 13.3 | 20.0 | 333 | 10.0 1.7 1.7 -
& 20 - 30MRMUT 15 - 7 3 2 - 2 - 2 - i - -
100. 0 - | 46.7 | 200 | 13.3 - | 133 - | 133 - 6.7 - -
& 40 -50mit 35 1 7 5 i - 6 6 15 5 - 1 -
100.0 29 | 20.0 | 14.3 2.9 - | 171 17.1 | 429 | 143 - 2.9 -
i 6 0OmMAML 10 - 2 2 2 - - 6 3 i - - -
100.0 - 20.0 20.0 20.0 - - 60. 0 30.0 10.0 - - -
it EHERT - - - - - - - - - - - - -
BB Ot - - - - - - - - - - - - -
EVEEES - - - - - - - - - - - - -
|mOZ%E (Z0MHTU7T) 229 10 48 35 2 4 66 49 39 38 3 20 -
100.0 4.4 | 21.0 | 15.3 0.9 1.7 | 28.8 | 21.4 | 17.0 | 16.6 1.3 8.7 -
i EIR 1 - - - - - - 1 - - - - -
100. 0 - - - - - - 1100.0 - - - - -
B7 RERH (2K%)
cSA4TF7Z— (1[EEB) 118 5 30 25 1 2 46 26 11 29 4 2 -
100.0 4.2 25. 4 21.2 0.8 1.7 39.0 22.0 9.3 24.6 3.4 1.7 -
JE—42— (2[ELE) 344 11 74 58 6 3 86 69 73 42 3 27 1
100.0 3.2 21.5 16.9 1.7 0.9 25.0 20. 1 21.2 12.2 0.9 7.8 0.3
2 [o] & 21 - 2 4 - - 4 2 9 - - 3 1
100.0 - 9.5 19.0 - - 19.0 9.5 42.9 - - 14. 3 4.8
B S
RTINEAA AT YIR 45 2 10 10 1 - 4 7 16 - 1 4 -
100.0 4.4 22.2 22.2 2.2 - 8.9 15.6 35.6 - 2.2 8.9
WILARTILVERSE 48 - 3 10 2 1 12 13 16 12 - - -
100.0 - 6.3 20.8 4.2 2.1 25.0 27.1 33.3 25.0 - - -
RTFIL-LYRNVERE 43 1 9 5 - - 9 6 17 5 - 3 -
100.0 2.3 20.9 11.6 - - 20.9 14.0 39.5 11.6 - 7.0 -
JRERBEHRRER (2KALAI 108 5 38 21 4 2 23 26 20 18 - 2 1
100.0 4.6 35.2 19.4 3.1 1.9 21.3 24.1 18.5 16. 7 - 1.9 0.9
BEREZE (ERH) 239 8 46 41 - 2 88 45 24 36 6 23 1
100.0 3.3 19.2 17.2 - 0.8 36.8 18.8 10.0 15.1 2.5 9.6 0.4
IR - - - - - - - - - - - - -




Bl14 EEEBLHEEM (1AN1EHRY)

3 E:HBEH
—h | —m | —m | —m | —m | —m | —f | —m
AR | AR | MR | AR | BB | AR | AR | AKX
WO | T | Te | Te | Ta | Ta | T | Ta
¥ | 2| & 3| =&l x| &l 7| =
& A E B 5 E& » it
2 K 379 2,600/ 10,200 3,900 6, 400 300 0 100| 23,500
ESHRR 69 2,400 8, 000 1, 600 6, 200 100 0 0] 18,300
BLt-Lovy— 178 3,000{ 11,800 5,000 7,000 500 0 200 27,500
& - AR 54 2,200/ 10,900 3,700 7, 300 300 0 0| 24,400
1~3DENTEHEWNWFDIL 18 2,100 8,100 3, 600 4, 600 100 0 200| 18, 700
2 [o] & - - - - - - - - -
M1 FEE# (BERTY7)
tiEE - Fit 1 2,100 9,800 6, 600 8, 600 300 0 0| 27,400
5 124 3, 600 9,900 4,000 6, 300 200 0 100| 24,100
ez - chER 45 2,700 11,900 5,500 7,300 400 0 0| 27,800
E3Lic] 50 2,500/ 10, 800 3, 800 6, 200 200 0 0| 23,500
hE - mE 15 1,900 9,600 3,900 6, 000 400 0 0| 21,800
R - iR (BEREELUSY) 71 2,000 12,300 4, 300 7,000 600 0] 400| 26, 600
EREE 62 1, 600 7, 200 1, 800 5,100 100 0 0] 15,800
‘MO 1 3, 300 7,500 2,500 1, 800 0 0 0| 15,100
A - iR (BEIREEUSY)
& ] IR 29 1,600 13,800 4,700 8, 300 500 0 0] 28,900
EEE 6 900, 10, 600 3, 400 7,500 0 0 0| 22,400
RIGE 5 5,100 9,600 2,300 3, 400 600 0 0| 21,000
EEARE 15 2,500 12,900 4,700 7, 600 900 200 0| 28,800
RO 2 2,600/ 18,300/ 11,500 8, 500 0 0 0| 40,900
EIFE 8 1,400 9,200 1, 800 4, 300 1, 300 0 3,800| 21,800
iR 6 1,200 9,600 4,400 5,100 600 0 0| 20,900
| - - - - - - - - -
B2 &
2 0BRLLT 12 2,100 8, 800 2,700 5,600 300 0 0] 19,500
3 0t 54 3,100/ 10, 300 3, 300 6, 500 300 0 0] 23,500
4 0 84 2,900 9,900 3,100 6, 300 300 0 0] 22,500
50X 79 3,000/ 11,000 4,900 7, 200 400 0 500{ 27,000
6 OBt 53 2,100 11,700 5,700 6, 700 200 100 0| 26,500
7 O LLE 37 1, 700 9,700 4,400 5,800 300 0 0| 21,900
2 [o] &5 - - - - - - - - -
T - FEXRI
BiE £ 204 2,500/ 10,000 3,100 6, 600 300 0 0] 22,500
B 20- 30FLLT 66 2,600 9,200 2,400 6, 700 300 0 0] 21,200
Bt 4050t 86 2,600/ 10,000 2,400 7,000 300 0 0] 22,300
B 60mARLL 52 2,100 11,100 5,000 5,900 200 0 0| 24,300
B EREDE - - - - - - - = =
T 2K 175 2,700| 10, 400 4,900 6,100 300 0 200| 24,600
T 20+ 30EARAUT 60 2,600 9,600 3, 600 5,200 300 0 0] 21,300
T 40+ 50t 17 3,400/ 11,000 5,700 6, 400 400 0 500| 27,400
THE 6 0mitllLE 38 1,700/ 10, 700 5,400 7,000 300 100 0| 25,200
T FHERZE - - - - - - - - -
TR F Dt - - - - - - - - -
4 R #E[m & - - - - - - - - -
‘MO - - - - - - - - -
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Bl14 EEEBLHEEM (1AN1EHRY)
FTEMX BEHE - M) xtE - ER

—h | —m | —m | —m | —m | —m | —f | —m
AR | AR | MR | AR | BB | AR | AR | AKX
WO | T | Te | Te | Ta | Ta | T | Ta
¥ | 2| & 3| =&l x| &l 7| =
& A E B 5 E& » it
) ) ft g &) &) fta -
BEE 2K 124 3, 600 9,900 4,000 6, 300 200 0 100| 24,100
Bt £K 17 2,900 9,600 3,700 7,000 200 0 0] 23,400
B 20 30mMEUT 30 2,800 8, 300 2,600 6, 700 200 0 0| 20,600
B 40 -50FK 32 3,300/ 10,100 2,000 7,700 200 0 0| 23,300
BHE 6 0m{tLlLE 15 2,400/ 10,900 9,800 5,900 300 0 100| 29, 400
Bt FHERE - - - - - - - - -
ZE 2K 47 4, 700| 10, 300 4,500 5,300 300 0 200| 25, 300
ZTHE 20 - 30BmEUT 23 3,500{ 10, 800 2,400 4,000 400 0 0| 21,100
T 40 - 50K 14 8,300/ 10, 600 8, 000 7,400 200 0 700| 35, 200
T 6 OmitlL 10 2,500 8, 900 4, 200 5,400 100 100 0] 21,200
T EHERE - - - - - - - - -
TR Z Dt - - - - - - - - -
4 B £ [B] & - - - - - - - - -
A - iR (BREERLS) 11 2,000| 12,300 4, 300 7,000 600 0 400| 26, 600
B £K 28 1,800( 11,400 3, 300 6, 400 500 0 0] 23,400
B 20 - 30T 10 2,100| 13,200 2,700 5,000 500 0 0] 23,500
B 40 -50mK 13 1,700 8, 700 2,600 6, 900 500 0 0| 20,400
Bt 6 0mitLLE 5 1,300 14,800 6, 600 8, 200 500 0 0| 31,400
B SFHERE - - - - - - - - -
ZE 2K 43 2,100 12,800 4,900 7, 400 700 100 700| 28, 700
T 20+ 30EMLUT 1 1, 500 9,700 3, 600 5,600 800 0 0| 21,200
ZTHE 40 -50mit 25 2,300| 14,000 5,100 7, 300 700 0 1,200( 30,600
T 6 OmitlL 7 2,100| 13,700 5,800/ 10,500 500 500 0] 33,100
T EHERE - - - - - - - - -
TR Z Dt - - - - - - - - -
4 R #E B & - - - - - - - - -
‘AL (FOTYT) 183 2,200 9,700 3,700 6, 200 200 0 0| 22,000
Ei:JEIRAS 1 3, 300 7,500 2,500 1, 800 0 0 0| 15,100
Bl7 EERZE (2K%)
k5475 — (1[EAB) 96 3,000] 11,200 4, 800 6, 200 300 0 0| 25,500
JE—42— (2@ELL) 266 2,500/ 10,000 3, 400 6, 600 300 0 200{ 23,000
E RS 17 2,300 8, 300 7, 400 4,700 100 100 0] 22,900
SEE Hh 5
RTILVEAAECATHAYI R 35 1, 400 6, 700 2,200 5,000 100 0 0] 15,400
WWLUARTILVERS 39 2,100| 18,700 6, 600 9, 400 600 0 0] 37,400
RTIL-LOPRANVERE 34 2,600 7,600 3, 000 7,600 300 100 0| 21,200
JREREDSRER (KALED) 76 2,400/ 10, 600 4,900 6, 300 500 0 400| 25,100
EREZE (AR 195 3, 000 9,500 3, 400 5,800 200 0 100| 22,000
2 [o] & - - - - - - - - -
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15 XREDROF (BHRIR
13 XkEHBH

T [u] 48 & g i B T ] L Hi ~R EiB Z
L a N A [E3] Er Ta ~®D ~R A Y17 A & BRE D
5 e = 2s o H . J ik e it | # E- a% Mz fth L
= . i B~ 7 A il ) 7o vk # IR il (]
# > 1 g2 m ~ 1 1 8 AV 1 ) A n %
% ~ 5T g N b/ 1T = A . -
* LA 7 1 () = it N &
£ k4 = 2 n * A =
) 2 = T4 17 A 0] ()
Y ) k P) v 3) B
A 2 ) * 7 ® %
S = & v 2
£ 483 11 2 24 4 5 3 13 - 7 53 36 317 8
100.0 2.3 0.4 5.0 0.8 1.0 0.6 2.7 - 1.4 11.0 1.5 65. 6 1.7
ECHRZ 93 - - 1 - - - 4 - - 1 - 87 -
100.0 - - 1.1 - - - 4.3 - - 1.1 - | 93.5 -
Bt Lov— 218 9 2 8 4 5 3 7 - 7 37 27 95 4
100.0 4.1 0.9 8.3 1.8 2.3 1.4 3.2 - 3.2 17.0 12.4 | 43.6 1.8
RE - MAHE 81 2 - 4 - - - 1 - - 13 7 50 4
100.0 2.5 - 4.9 - 1.2 - - 16.0 8.6 61.7 4.9
1~3DENTHLHEVNZOH 91 - - 1 - - - 1 - - 2 2 85 -
100.0 - - 1.1 - - - 1.1 - - 2.2 2.2 93.4 -
BEZE - - - - - - - - - - - - - -
M1 EfEHh (ERTVT)
ILHE - ®mat 17 - - - - - - - - - 2 = 15 =
100.0 - - - - - - - - - 11.8 - | 88.2 -
ESES 150 4 1 5 1 3 - 2 - 1 18 14 99 2
100.0 2.7 0.7 3.3 0.7 2.0 - 1.3 - 0.7 12.0 9.3 66.0 1.3
JLkE - HEm 53 - i 7 i i - i - i 7 - 34 -
100.0 - 1.9 13.2 1.9 1.9 - 1.9 - 1.9 13.2 - | 64.2 -
BAFE 70 1 - 4 - - 2 2 - 1 6 2 49 3
100.0 1.4 - 5.7 - - 2.9 2.9 - 1.4 8.6 2.9 70.0 4.3
fE - EE 22 1 - - - - - 1 - 2 1 2 15 -
100.0 4.5 - - - - - 4.5 - 9.1 4.5 9.1 68. 2 -
A - iR (BRBRUSN) 103 2 - 8 2 - 1 7 - 2 16 9 53 3
100.0 1.9 - 7.8 1.9 - 1.0 6.8 - 1.9 15.5 8.7 51.5 2.9
ERSE 67 3 - - - 1 - - - - 3 9 51 -
100.0 4.5 - - 1.5 - - - - 4.5 13.4 | 76.1
®EE 1 - - - - - - - - 1
100.0 - - - - - - - - - 100.0 -
Sl - ke (BRERLS)
S 47 - - 3 1 - - 3 - 1 8 5 26 -
100.0 - - 6.4 2.1 - - 6.4 - 2.1 17.0 10.6 55.3 -
hEER 9 - - i i - - - - - i - 6 -
100.0 - - 11.1 11.1 - - - - - 11.1 - | 66.7 -
RIFE 7 - - 2 - - - 1 - - - i 3 -
100.0 - - 28.6 - - - 14.3 - - - 14.3 | 42.9 -
AR 20 1 - 1 - - - 3 - 1 5 1 6 2
100.0 5.0 - 5.0 - - - 15.0 - 5.0 25.0 50 | 30.0 10.0
P 2 - - - - - - - - - 1 - - 1
100.0 - - - - - - - - - | 50.0 - - | 50.0
=0 10 1 - 1 - - 1 - - - i i 5 -
100.0 10.0 - 10.0 - - 10.0 - - - 10.0 10.0 | 50.0 -
SRR 8 - - - - - - - - - - 1 7 -
100.0 - - - - - - - - - - 12.5 87.5 -
mEE - - - - - - - - - - - - - -
2 kb
2 0HRUT 84 1 1 7 2 1 1 3 - - 12 2 54 -
100.0 1.2 1.2 8.3 2.4 1.2 1.2 3.6 - - 14.3 2.4 | 64.3 -
3 0mK 66 1 - 5 - 2 - 3 - 2 8 5 40 -
100.0 1.5 - 7.6 - 3.0 - 4.5 - 3.0 12.1 7.6 60. 6 -
40t 100 3 - 4 1 - 2 5 - - 10 12 62 1
100.0 3.0 - 4.0 1.0 - 2.0 5.0 - - 10.0 120 | 62.0 1.0
5 0 it 106 2 - 7 1 2 - 1 - 4 14 7 64 4
100.0 1.9 - 6.6 0.9 1.9 - 0.9 - 3.8 13.2 6.6 60. 4 3.8
6 0 it 81 3 i i - - - i - i 5 5 62 2
100.0 3.7 1.2 1.2 - - - 1.2 - 1.2 6.2 6.2 76.5 2.5
7 OmHRUE 46 1 - - - - - - 4 5 35 1
100.0 2.2 - - - - - - - - 8.7 10.9 76. 1 2.2
BEZE - - - - - - - - - - - - -
% - FRE
Bt 2K 259 5 - 9 2 5 - 6 - 4 21 21 184 2
100.0 1.9 - 3.5 0.8 1.9 - 2.3 - 1.5 8.1 8.1 71.0 0.8
Bt 20 30BRUT 79 2 - 4 1 3 - 3 - 2 8 5 51 -
100.0 2.5 - 5.1 1.3 3.8 - 3.8 - 2.5 10. 1 6.3 64.6 -
Bt 4050t 104 2 - 4 1 2 - 3 - 2 9 8 72 1
100.0 1.9 - 3.8 1.0 1.9 - 2.9 - 1.9 8.7 7.7 69. 2 1.0
Bt 6 0mRLL 76 i - i - - - - - - 4 8 61 i
100.0 1.3 - 1.3 - - - - - - 5.3 10.5 80.3 1.3
5 FHERZ - - - - - - - - - - - - - -
L 2K 224 6 2 5 2 - 3 7 - 3 32 15 133 6
100.0 2.7 0.9 6.7 0.9 - 1.3 3.1 - 1.3 14.3 6.7 59. 4 2.7
T 20 - 30EKUT 71 - 1 8 1 - 1 3 - - 12 2 43 -
100.0 - 1.4 11.3 1.4 - 1.4 4.2 - - 16.9 2.8 60. 6 -
L 40 - 50K 102 3 - 7 1 - 2 3 - 2 15 11 54 4
100.0 2.9 - 6.9 1.0 - 2.0 2.9 - 2.0 14.7 10.8 52.9 3.9
T 6 0mHUL 51 3 i - - - - i - i 5 2 36 2
100.0 5.9 2.0 - - - - 2.0 - 2.0 9.8 3.9 70.6 3.9
T FERERE - - - - - - - - - - - - - -
HBIZ Dy - - - - - - - - - - - - - -
PRI E & - - - - - - - - - - - - - -
mEE - - - - - - - - - - - - - -




115 REDROF (BHRIR
FEMX BIR - M) xtE - FK

T O 1S & g M A= WwZ Vi L fi® ~R Eaa e
L 3 >N A [ET] B TR ~® REp JAT (mly;:3 BE 0]
5 e = 2s o H . J ik e it | # E- a% Mz fth L
= . va B~ 7 A Vil 872kl 70 Vit 1 =K 5 &h ]
# 2 14 52 g ~ 14 1 8 Ay 1% )] A n %
D ~ 2T g F kot 14T = 7 . -
* LA 7 % () % I pall &
EX k4 = 4 i *° A =3
7 9 %F T4 17 AN ) )
v ) k ) > # =]
A 2 ) * 7 ® %
*° = & v 2
R 24 150 4 1 5 1 3 - 2 - 1 18 14 99 2
100.0 2.7 0.7 3.3 0.7 2.0 1.3 - 0.7 12.0 9.3 66.0 1.3
B 2K 91 2 - 3 1 3 - 1 - - 8 12 61 -
100.0 2.2 - 3.3 1.1 3.3 - 1.1 - 8.8 13.2 67.0 -
Bt 20 - 30WMALT 32 1 - 1 i 2 - - - - 5 3 19 -
100.0 3.1 - 3.1 3.1 6.3 - - - - 15.6 9.4 59. 4 -
BE% 40-50mit 38 - - 2 - 1 - 1 - - 3 5 26 -
100.0 - - 5.3 - 2.6 - 2.6 - - 7.9 13.2 68. 4 -
Bt 6 0mitLE 21 1 - - - - - - - - - 4 16 -
100.0 4.8 - - - - - - - - - 19.0 76.2 -
it FRHREEDE - - - - - - - - - - - - - -
zE 2K 59 2 1 2 - - - 1 - 1 10 2 38 2
100.0 3.4 1.7 3.4 - - - 1.7 - 1.7 16.9 3.4 64.4 3.4
X 20 - 30WMALUT 26 - 1 1 - - - i - - 5 - 18 -
100.0 - 3.8 3.8 - - - 3.8 - - 19.2 - 69. 2 -
Lt 40-50%K 20 1 - 1 - - - - - 1 3 2 11 1
100.0 5.0 - 5.0 - - - - - 5.0 15.0 10.0 55.0 5.0
i 6 OmLE 13 1 - - - - - - - - 2 - 9 1
100.0 1.7 - - - - - - - 15.4 69. 2 1.7
Tt FEHREE - - - - - - - - - - - - - -
151 Z Dt - - - - - - - - - - - - - -
EITEEES - - - - - - - - - - = = =
A - R (BRBRUN) 103 2 - 8 2 - 1 7 - 2 16 9 53 3
100.0 1.9 - 7.8 1.9 - 1.0 6.8 - 1.9 15.5 8.7 51.5 2.9
B2t 2K 43 - - 2 1 - - 5 - 1 4 2 26 2
100.0 - - 4.7 2.3 - - 11.6 - 2.3 9.3 4.7 60.5 4.7
B 20 - 30mMAUT 16 - - 2 - - - 3 - 1 - 1 9 -
100.0 - - 12.5 - - - 18.8 - 6.3 - 6.3 56.3 -
BE% 40-50mR 17 - - - i - - 2 - - 2 1 10 1
100.0 - - - 5.9 - - 11.8 - - 11.8 5.9 58.8 5.9
BE 6 0mHLL 10 - - - - - - - - 2 - 7 1
100.0 - - - - - - - - - 20.0 - 70.0 10.0
Bt FHREE - - - - - - - - - - - - - -
Tt 2K 60 2 - 6 1 - 1 2 - 1 12 7 27 1
100.0 3.3 - 10.0 1.7 - 1.7 3.3 - 1.7 20.0 11.7 45.0 1.7
ZtE 20 - 30mMARUT 15 - - 4 1 - - 1 - - 2 - 7 -
100.0 - - 26.7 6.7 - - 6.7 - - 13.3 - 46.7 -
X 40 - 50\t 35 1 - 2 - - 1 1 - - 9 6 15 -
100.0 2.9 - 5.7 - - 2.9 2.9 - - 25.7 17.1 42.9 -
i 6 0OmLLE 10 1 - - - - - - - 1 1 1 5 1
100.0 10.0 - - - - - - - 10.0 10.0 10.0 50.0 10.0
Tt FEHREE - - - - - - - - - - - - - -
HAZ DOty - - - - - - - - - - - - - -
PRI REE - - - - - - - - - - - - - -
|OE (ZOtT)T) 229 5 1 11 1 2 2 4 - 4 19 13 164 3
100.0 2.2 0.4 4.8 0.4 0.9 0.9 1.7 - 1.7 8.3 5.7 71.6 1.3
‘EEE 1 - - - - - - - - - - 1 -
100.0 - - - - - - - - - - - | 100.0 -
7 XkER%K (2K5H)
FSA475— (1EE) 118 4 1 10 3 2 1 3 - 4 15 74 1
100.0 3.4 0.8 8.5 2.5 1.7 0.8 2.5 - 3.4 12.7 - 62.7 0.8
JE—4— (2@LL) 344 7 1 14 1 3 2 10 - 3 38 34 225 6
100.0 2.0 0.3 4.1 0.3 0.9 0.6 2.9 - 0.9 11.0 9.9 65. 4 1.7
|OE 21 - - - - - - - - - - 2 18 1
100.0 - - - - - - - - - 9.5 85.7 4.8
HEH S
RTILEARATHRYI R 45 2 - - - - - - - - 1 6 36 -
100.0 4.4 - - - - - - - - 2.2 13.3 80.0 -
WILRTILERS 48 2 2 7 2 3 1 1 - - 13 6 9 2
100.0 4.2 4.2 14.6 4.2 6.3 2.1 2.1 - - 27.1 12.5 18.8 4.2
RFIL - LYIRANVERE 43 3 - - - - - - - 1 1 5 33 -
100.0 7.0 - - - - - - - 2.3 2.3 11.6 76.7 -
JRERSHRER (HKALAD 108 1 - 9 1 1 2 10 - 4 14 8 56 2
100.0 0.9 - 8.3 0.9 0.9 1.9 9.3 - 3.7 13.0 7.4 51.9 1.9
EREZ®E (BN 239 3 - 8 1 1 - 2 - 2 24 11 183 4
100.0 1.3 - 3.3 0.4 0.4 - 0.8 - 0.8 10.0 4.6 76.6 1.7
|OE - - - - - - - - - - - - - -




16 OERREESMERIIHT IFHME (BRLRE)

I3 kFAM
PN 1 F3 1 PN %
%= 0 bt ae i =
EE b b 4 + LAY iz EE E
= o B i i L E] =
# % #
]
=
& {K 483 261 101 29 1 - 87 4 479 3.8
100.0 54.0 20.9 6.0 0.2 - 18.0 0.8 | 100.0
ESRX 93 39 17 5 - - 32 - 93 3.0
100.0 4.9 18.3 5.4 - - 34.4 - 19.4
I Lvy— 218 136 46 7 1 - 25 3 215 4.1
100. 0 62. 4 21. 1 3.2 0.5 - 11.5 1.4 44.9
B4 - S0NEHRS 81 42 21 6 - - 12 - 81 3.9
100. 0 51.9 25.9 7.4 - - 14.8 - 16.9
1~3DENTIHHEVEFDI 91 44 17 11 - - 18 1 90 3.6
100. 0 48. 4 18.7 12.1 - - 19.8 1.1 18.8
EIEES - - - - - - - - - -
M1 EE#t (BRI UT)
dbimE - J/ik 17 11 3 - - - 3 - 17 3.9
100.0 64.7 17.6 - - - 17.6 - 3.5
GES 150 87 29 12 - - 22 - 150 3.9
100.0 58.0 19.3 8.0 - - 14.7 - 31.3
JbkE - chEp 53 39 5 4 - - 5 - 53 4.3
100. 0 73.6 9.4 7.5 - - 9.4 - 11. 1
(ki 70 37 20 1 1 - 10 1 69 3.9
100. 0 52.9 28.6 1.4 1.4 - 14.3 1.4 14. 4
hE - mE 22 12 6 - - - 4 - 22 3.8
100. 0 54.5 27.3 - - - 18.2 - 4.6
Ju - hiE (RIRBELSY) 103 45 21 6 - - 29 2 101 3.2
100.0 43.7 20. 4 5.8 - - 28.2 1.9 21.1
ERER 67 30 16 6 - - 14 1 66 3.5
100. 0 44.8 23.9 9.0 - - 20.9 1.5 13.8
EIETES 1 - 1 - - - - - 1 4.0
100. 0 - 1100.0 - - - - 0.2
A R (BRIREBELUN)
EfE R 47 18 12 2 - - 14 1 46 3.1
100. 0 38.3 25.5 4.3 - - 29.8 2.1 45.5
EBR 9 4 1 - - - 4 - 9 2.7
100. 0 44. 4 11. 1 - - - 44. 4 - 8.9
RIFE 7 1 2 1 - - 3 - 7 2.3
100. 0 14.3 28.6 14.3 - - 42.9 - 6.9
PN 20 13 3 1 - - 2 1 19 4.2
100.0 65.0 15.0 5.0 - - 10.0 5.0 18.8
XHE 2 1 - 1 - - - - 2 4.0
100.0 50.0 - 50.0 - - - - 2.0
EIHE 10 4 3 - - - 3 - 10 3.2
100. 0 40.0 30.0 - - - 30.0 - 9.9
FhEBIE 8 4 - 1 - - 3 - 8 2.9
100. 0 50. 0 12.5 - - 37.5 - 7.9
mOE - - - - - - - - - -
B2 i
20T 84 48 14 1 - - 20 1 83 3.6
100. 0 57. 1 16.7 1.2 - - 23.8 1.2 17.3
30E Mt 66 35 12 5 - - 13 1 65 3.7
100.0 53.0 18.2 7.6 - - 19.7 1.5 13.6
4 0Bt 100 55 28 4 - - 13 - 100 4.0
100.0 55.0 28.0 4.0 - - 13.0 - 20.9
50t 106 64 22 3 1 - 15 1 105 4.0
100.0 60. 4 20.8 2.8 0.9 - 14.2 0.9 21.9
6 Ot 81 40 15 7 - - 19 - 81 3.5
100. 0 49. 4 18.5 8.6 - - 23.5 - 16.9
7 0EfELIE 46 19 10 9 - 7 1 45 3.6
100. 0 4.3 21.7 19.6 - - 15.2 2.2 9.4
I EES - - - - - - - - - -
% - FHK5
Bt 2K 259 129 57 17 1 - 52 3 256 3.6
100.0 49. 8 22.0 6.6 0.4 - 20. 1 1.2 53. 4
B 20 30EmKUT 79 43 13 4 - - 18 1 78 3.6
100.0 54. 4 16.5 5.1 - - 22.8 1.3 16.3
B 40-50EK 104 55 28 4 1 - 15 1 103 3.9
100.0 52.9 26.9 3.8 1.0 - 14.4 1.0 21.5
B 60mARLUE 76 31 16 9 - - 19 1 75 3.3
100. 0 40. 8 21. 1 11.8 - - 25.0 1.3 15.7
BiE EHENE - - - - - - - - - -
Tt &k 224 132 44 12 - - 35 1 223 3.9
100.0 58.9 19.6 5.4 - - 15.6 0.4 46. 6
ZE 20 30mMARAUT 71 40 13 2 - - 15 1 70 3.7
100. 0 56.3 18.3 2.8 - - 21.1 1.4 14.6
¥ 4050 K 102 64 22 3 - - 13 - 102 4.1
100. 0 62.7 21.6 2.9 - - 12.7 - 21.3
M 6 0mMUL 51 28 9 7 - - 7 - 51 3.9
100. 0 54.9 17.6 13.7 - - 13.7 - 10. 6
X FHERS - - - - - - - - - -
TR Z Ot - - - - - - - - - -
EFIEIEES - - - - - - - - - -
EIETES - - - - - - - - - -




16 OERRESMENRICHT IFHME (BRLRE)
EEMX BIE - AM) x1% - FK

x ) £ ® x 2
% ® & » % =
E # # = S 1 = o o
S 2 2 # b L &) =
8 % #
1y
BEE 2K 150 87 29 12 - - 22 - 150 3.9
100.0 58.0 19.3 8.0 - - 14.7 - 31.3
Bt £K 91 50 19 9 - - 13 - 91 3.9
100.0 54.9 20.9 9.9 - - 14.3 - 19.0
B 20 30mMEUT 32 22 5 2 - - 3 - 32 4.3
100.0 68. 8 15.6 6.3 - - 9.4 - 6.7
B 40 -50FK 38 19 9 3 - - 7 - 38 3.7
100.0 50.0 23.7 7.9 - - 18.4 - 7.9
BHE 6 0m{tLlLE 21 9 5 4 - - 3 - 21 3.7
100.0 42.9 23.8 19.0 - - 14. 3 - 4.4
B FRHEEE - - - - - - - - - -
ZE 2K 59 37 10 3 - - 9 - 59 4.0
100.0 62.7 16.9 5.1 - - 15.3 - 12.3
ZTHE 20 - 30BmEUT 26 16 4 - - - 6 - 26 3.7
100.0 61.5 15.4 - - - 23.1 - 5.4
T 40 - 50K 20 12 5 2 - - 1 - 20 4.3
100.0 60.0 25.0 10.0 - - 5.0 - 4.2
T 6 OmitlL 13 9 1 1 - - 2 - 13 4.0
100.0 69. 2 1.7 1.7 - - 15.4 - 2.7
T EREEE - - - - - - - - - -
TERIZ D fth - - - - - - - - - -
eSS - - - - - - - - - -
A - iR (BREERLS) 103 45 21 6 - - 29 2 101 3.2
100.0 43.7 20.4 5.8 - - 28.2 1.9 21.1
B £K 43 15 10 3 - - 14 1 42 3.0
100.0 34.9 23.3 7.0 - - 32.6 2.3 8.8
B 20 - 30T 16 6 2 1 - - 7 - 16 2.6
100.0 37.5 12.5 6.3 - - 43.8 - 3.3
B 40 -50mK 17 7 5 - - - 4 1 16 3.4
100.0 41.2 29.4 - - - 23.5 59 3.3
Bt 6 0mitLLE 10 2 3 2 - - 3 - 10 2.8
100.0 | 20.0 | 30.0 | 20.0 - - | 30.0 - 2.1
BHif SEREDE - - - - - - - - - -
ZE 2K 60 30 11 3 - - 15 1 59 3.4
100.0 50.0 18.3 5.0 - - 25.0 1.7 12.3
T 20+ 30EMLUT 15 6 3 - - - 5 1 14 3.0
100.0 40.0 20.0 - - - 33.3 6.7 2.9
&t 40 - 508K 35 19 7 1 - - 8 - 35 3.6
100.0 | 54.3 | 20.0 2.9 - - | 229 - 7.3
i 6 0mMAME 10 5 i 2 - - 2 - 10 3.5
100.0 | 50.0 10.0 | 20.0 - - | 200 - 2.1
T EREEE - - - - - - - - - -
PRI Z D fth - - - - - - - - - -
EHEIEES - - - - - - - - - -
‘AL (FOTYT) 229 129 50 11 1 - 36 2 227 3.9
100.0 56. 3 21.8 4.8 0.4 - 15.7 0.9 47. 4
Ei:JEIRAS 1 - 1 - - - - - 1 4.0
100.0 - 100.0 - - - - - 0.2
Bl7 EERZE (2K%)
k5475 — (1[EAB) 118 79 17 7 1 - 14 - 118 4.1
100.0 66.9 14.4 5.9 0.8 - 11.9 - 24. 6
JE—42— (2@ELL) 344 172 81 22 - - 66 3 341 3.7
100.0 50.0 23.5 6.4 - - 19.2 0.9 71.2
E RS 21 10 3 - - - 7 1 20 3.1
100.0 47.6 14.3 - - - 33.3 4.8 4.2
HEH A
RTILVEAAECATHAYI R 45 18 4 1 - - 22 - 45 2.4
100.0 40.0 8.9 2.2 - - 48.9 9.4
WWLUARTILVERS 48 36 8 4 - - - - 48 4.7
100.0 75.0 16.7 8.3 - - - - 10.0
RTIL-LOPRANVERE 43 17 10 1 - - 15 - 43 3.0
100.0 39.5 23.3 2.3 - - 34.9 - 9.0
JREREDSRER (KALED) 108 52 26 5 - - 23 2 106 3.6
100.0 48.1 241 4.6 - - 21.3 1.9 22.1
EREZE (AR 239 138 53 18 1 - 27 2 237 4.0
100.0 57.7 22.2 1.5 0.4 - 11.3 0.8 49.5
mEE - - - - - - - - - -
%-1-74




16 QERBWMENIIHT HEEE (AFT - IBEH
I3 kFAM
PN 1 F3 1 PN %
%= 0 bt ae i =
EE b b 4 + LAY iz EE E
= o B i i L E] =
# % #
]
=
& {K 483 134 87 38 - 217 7 476 2.4
100.0 27.17 18.0 7.9 - 44.9 1.4 | 100.0
ESRX 93 15 11 9 - 57 1 92 1.6
100.0 16. 1 11.8 9.7 - 61.3 1.1 19.3
I Lvy— 218 73 44 16 - 81 4 214 2.8
100. 0 33.5 20.2 7.3 - 37.2 1.8 45.0
B4 - S0NEHRS 81 26 13 7 - 33 2 79 2.6
100. 0 32.1 16.0 8.6 - 40.7 2.5 16. 6
1~3DENTIHHEVEFDI 91 20 19 6 - 46 - 91 2.1
100. 0 22.0 20.9 6.6 - 50.5 - 19. 1
EIEES - - - - - - - - -
M1 EE#t (BRI UT)
dbimE - J/ik 17 7 1 1 - 7 1 16 2.6
100.0 4.2 5.9 5.9 - 41.2 5.9 3.4
GES 150 42 28 13 - 66 1 149 2.4
100.0 28.0 18.7 8.7 - 44.0 0.7 31.3
JbkE - chEp 53 21 3 - 20 1 52 2.8
100. 0 39.6 15. 1 5.7 - 37.7 1.9 10.9
(ki 70 20 11 7 - 31 1 69 2.4
100. 0 28.6 15.7 10.0 - 44.3 1.4 14.5
hE - mE 22 4 4 - - 14 - 22 1.6
100. 0 18.2 18.2 - - 63.6 - 4.6
Ju - hiE (RIRBELSY) 103 26 16 10 - 48 3 100 2.2
100.0 25.2 15.5 9.7 - 46. 6 2.9 21.0
ERER 67 14 19 4 - 30 - 67 2.4
100. 0 20.9 28.4 6.0 - 44.8 14. 1
EIETES 1 - - - - 1 1 0.0
100. 0 - - - - 1100.0 - 0.2
A R (BRIREBELUN)
EfE R 47 11 9 3 - 23 46 2.2
100. 0 23.4 19. 1 6.4 - 48.9 2. 46.0
EBR 9 3 1 - - 5 9 2.1
100. 0 33.3 11. 1 - - 55.6 - 9.0
RIFE 7 - - 2 - 4 1 6 1.0
100. 0 - - 28.6 - 57. 1 14.3 6.0
PN 20 6 3 2 - 8 1 19 2.5
100.0 30.0 15.0 10.0 - 40.0 5.0 19.0
XHE 2 1 - 1 - - - 2 4.0
100.0 50.0 - 50.0 - - - 2.0
EIHE 10 4 2 - - 4 - 10 2.8
100. 0 40.0 20.0 - - 40.0 - 10.0
FhEBIE 8 1 1 2 - 4 - 8 1.9
100. 0 12.5 12.5 25.0 - 50.0 - 8.0
mOE - - - - - - - - -
B2 i
20T 84 28 8 8 - 38 2 82 2.4
100. 0 33.3 9.5 9.5 - 45. 2 2.4 17.2
30E Mt 66 19 12 3 - 31 1 65 2.3
100.0 28.8 18.2 4.5 - 47.0 1.5 13.7
4 0Bt 100 27 21 10 - 42 - 100 2.5
100.0 27.0 21.0 10.0 - 42.0 - 21.0
50t 106 27 23 6 - 48 2 104 2.4
100.0 25.5 21.7 5.7 - 45.3 1.9 21.8
6 Ot 81 22 15 8 - 34 2 79 2.5
100. 0 27.2 18.5 9.9 - 42.0 2.5 16. 6
7 0EfELIE 46 11 8 3 - 24 - 46 2.1
100. 0 23.9 17.4 6.5 - 52.2 9.7
I EES - - - - - - - -
% - FHK5
Bt 2K 259 66 41 20 - 128 4 255 2.2
100.0 25.5 15.8 7.7 - 49. 4 1.5 53.6
B 20 30EmKUT 79 26 10 5 - 37 1 78 2.4
100.0 32.9 12.7 6.3 - 46. 8 1.3 16. 4
B 40-50EK 104 24 21 9 - 48 2 102 2.3
100.0 23. 1 20.2 8.7 - 46.2 1.9 21. 4
B 60mARLUE 76 16 10 6 - 43 1 75 1.8
100. 0 21. 1 13.2 7.9 - 56. 6 1.3 15.8
BiE EHENE - - - - - - - - -
Tt &k 224 68 46 18 - 89 3 221 2.6
100.0 30. 4 20.5 8.0 - 39.7 1.3 46. 4
ZE 20 30mMARAUT 71 21 10 6 - 32 2 69 2.4
100. 0 29.6 14. 1 8.5 - 45. 1 2.8 14.5
¥ 4050 K 102 30 23 7 - 42 - 102 2.6
100. 0 29. 4 22.5 6.9 - 4.2 - 21. 4
M 6 0mMUL 51 17 13 5 - 15 1 50 3.0
100. 0 33.3 25.5 9.8 - 29. 4 2.0 10.5
X FHERS - - - - - - - - -
TR Z Ot - - - - - - - - -
EFIEIEES - - - - - - - - -
EIETES - - - - - - - - -




16 QERBHENICHTIITME (&F - IRH)
TEMR (BIE - M) X - ER
x ) £ ® x 2
% ® & » % =
E # # = S 1 = o o
S 2 2 # b L &) =
8 % #
15
&
BEE 2K 150 42 28 13 - 66 1 149 2.4
100.0 28.0 18.7 8.7 - 44.0 0.7 31.3
Bt £K 91 25 12 10 - 43 1 90 2.3
100.0 21.5 13.2 11.0 - 47.3 1.1 18.9
B 20 30mMEUT 32 13 4 1 - 14 - 32 2.6
100.0 40.6 12.5 3.1 - 43.8 - 6.7
B 40 -50FK 38 7 5 7 - 19 - 38 2.0
100.0 18.4 13.2 18.4 - 50.0 - 8.0
BHE 6 0m{tLlLE 21 5 3 2 - 10 1 20 2.2
100.0 23.8 14. 3 9.5 - 47.6 4.8 4.2
B FRHEEE - - - - - - - - -
ZE 2K 59 17 16 3 - 23 59 2.7
100.0 28.8 27.1 5.1 - 39.0 - 12.4
ZTHE 20 - 30BmEUT 26 9 3 2 - 12 - 26 2.4
100.0 34.6 11.5 1.7 - 46. 2 - 5.5
T 40 - 50K 20 6 5 1 - 8 - 20 2.7
100.0 30.0 25.0 5.0 - 40.0 - 4.2
T 6 OmitlL 13 2 8 - - 3 - 13 3.2
100.0 15.4 61.5 - - 23.1 - 2.7
T EREEE - - - - - - - - -
TERIZ D fth - - - - - - - - -
eSS - - - - - - - -
A - iR (BREERLS) 103 26 16 10 - 48 3 100 2.2
100.0 25.2 15.5 9.7 - 46. 6 2.9 21.0
B £K 43 7 8 4 - 23 1 42 1.9
100.0 16.3 18.6 9.3 - 53.5 2.3 8.8
B 20 - 30T 16 2 2 2 - 10 - 16 1.5
100.0 12.5 12.5 12.5 - 62.5 - 3.4
B 40 -50mK 17 4 4 1 - 7 1 16 2.4
100.0 23.5 23.5 5.9 - 41.2 59 3.4
Bt 6 0mitLLE 10 1 2 1 - 6 - 10 1.6
100.0 10.0 20.0 10.0 - 60.0 - 2.1
BHif SEREDE - - - - - - - -
SIS 60 19 8 6 - 25 2 58 2.5
100.0 | 31.7 | 13.3 | 10.0 - | 417 3.3 | 12.2
T 20+ 30EMLUT 15 4 1 1 - 8 1 14 1.9
100.0 26.7 6.7 6.7 - 53.3 6.7 2.9
ZTHE 40 -50mit 35 11 6 3 - 15 - 35 2.5
100.0 31. 4 17.1 8.6 - 42.9 - 1.4
T 6 OmitlL 10 4 1 2 - 2 1 9 3.3
100.0 40.0 10.0 20.0 - 20.0 10.0 1.9
T EREEE - - - - - - - - -
PRI Z D fth - - - - - - - - -
EHEIEES - - - - - - - -
‘AL (FOTYT) 229 66 43 15 - 102 3 226 2.4
100.0 28.8 18.8 6.6 - 44 5 1.3 47.5
Ei:JEIRAS 1 - - - - 1 - 1 0.0
100.0 - - - - 100.0 - 0.2
Bl7 EERZE (2K%)
k5475 — (1[EAB) 118 43 15 12 - 46 2 116 2.7
100.0 36. 4 12.7 10.2 - 39.0 1.7 24. 4
JE—42— (2@ELL) 344 89 70 26 - 155 4 340 2.4
100.0 25.9 20.3 7.6 - 451 1.2 71.4
E RS 21 2 2 - - 16 1 20 0.9
100.0 9.5 9.5 - - 76.2 4.8 4.2
HEH A
RTILVEAAECATHAYI R 45 7 2 - - 36 - 45 1.0
100.0 15.6 4.4 - - 80.0 - 9.5
WWLUARTILVERS 48 24 10 5 - 8 1 47 3.7
100.0 50.0 20. 8 10.4 - 16.7 2.1 9.9
RTIL-LOPRANVERE 43 6 16 4 - 16 1 42 2.5
100.0 14.0 37.2 9.3 - 37.2 2.3 8.8
JREREDSRER (KALED) 108 33 17 6 - 50 2 106 2.4
100.0 30.6 15.7 5.6 - 46. 3 1.9 22.3
EREZE (AR 239 64 42 23 - 107 3 236 2.4
100.0 26.8 17.6 9.6 - 44 .8 1.3 49.6
mEE - - - - - - - - -
%-1-76
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I3 kFAM
PN 1 F3 1 PN %
%= 0 bt ae i =
EE b b 4 + LAY iz EE E
= o B i i L E] =
# % #
1y
=
& {K 483 349 79 21 1 - 31 2 481 4.4
100.0 72.3 16. 4 4.3 0.2 - 6.4 0.4 | 100.0
ESRX 93 66 17 4 - - 6 - 93 4.4
100.0 71.0 18.3 4.3 - - 6.5 - 19.3
I Lvy— 218 162 35 9 - - 10 2 216 4.5
100. 0 74.3 16. 1 4.1 - - 4.6 0.9 44.9
B4 - S0NEHRS 81 58 13 4 - - 6 - 81 4.4
100. 0 71.6 16.0 4.9 - - 7.4 16.8
1~3DENTIHHEVEFDI 91 63 14 4 1 - 9 - 91 4.2
100. 0 69.2 15.4 4.4 1.1 - 9.9 - 18.9
EIEES - - - - - - - - - -
M1 EE#t (BRI UT)
dbimE - J/ik 17 14 2 1 - - - - 17 4.8
100.0 82. 4 11.8 5.9 - - - - 3.5
GES 150 104 32 5 - - 9 - 150 4.4
100.0 69.3 21.3 3.3 - - 6.0 - 31.2
JbkE - chEp 53 49 2 - - - 2 - 53 4.8
100. 0 92.5 3.8 - - - 3.8 - 11.0
(ki 70 49 13 4 - - 3 1 69 4.5
100. 0 70.0 18.6 5.7 - - 4.3 1.4 14.3
hE - mE 22 16 2 1 - - 3 - 22 4.1
100. 0 72.17 9.1 4.5 - - 13.6 - 4.6
Ju - hiE (RIRBELSY) 103 75 15 3 - - 9 1 102 4.4
100.0 72.8 14.6 2.9 - - 8.7 1.0 21.2
ERER 67 42 12 7 1 - 5 - 67 4.2
100. 0 62.7 17.9 10. 4 1.5 - 7.5 - 13.9
EIETES 1 - 1 - - - - - 1 4.0
100. 0 - 1100.0 - - - - - 0.2
A - 588 (BERERLN)
EfE R 47 34 7 1 - - 5 - 47 4.3
100. 0 72.3 14.9 2.1 - - 10. 6 - 46. 1
EBR 9 7 - - - - 2 - 9 3.9
100. 0 77.8 - - - - 22.2 - 8.8
RIFE 7 7 - - - - - - 7 5.0
100.0 | 100.0 - - - - - - 6.9
PN 20 13 4 1 - - 1 1 19 4.4
100.0 65.0 20.0 5.0 - - 5.0 5.0 18.6
XHE 2 2 - - - - - - 2 5.0
100.0 | 100.0 - - - - - - 2.0
EIHE 10 9 1 - - - - - 10 4.9
100. 0 90.0 10.0 - - - - - 9.8
FhEBIE 8 3 3 1 - - 1 - 8 3.8
100. 0 37.5 37.5 12.5 - - 12.5 - 7.8
mOE - - - - - - - - -
B2 i
20T 84 66 6 1 - - 11 - 84 4.3
100. 0 78.6 7.1 1.2 - - 13.1 - 17.5
30E Mt 66 47 9 4 - - 5 1 65 4.4
100.0 71.2 13.6 6.1 - - 7.6 1.5 13.5
4 0Bt 100 71 20 5 - - 4 - 100 4.5
100.0 71.0 20.0 5.0 - - 4.0 - 20.8
50t 106 78 20 3 - - 4 1 105 4.6
100.0 73.6 18.9 2.8 - - 3.8 0.9 21.8
6 Ot 81 59 13 4 1 - 4 - 81 4.5
100. 0 72.8 16.0 4.9 1.2 - 4.9 - 16.8
7 0EfELIE 46 28 11 4 - - 3 46 4.3
100. 0 60. 9 23.9 8.7 - - 6.5 - 9.6
I EES - - - - - - - - - -
% - FHK5
Bt 2K 259 186 44 14 - - 13 2 257 4.5
100.0 71.8 17.0 5.4 - - 5.0 0.8 53. 4
B 20 30EmKUT 79 59 8 4 - - 7 1 78 4.3
100.0 74.7 10. 1 5.1 - - 8.9 1.3 16.2
B 40-50EK 104 74 22 5 - - 2 1 103 4.6
100.0 71.2 21.2 4.8 - - 1.9 1.0 21. 4
B 60mARLUE 76 53 14 5 - - 4 - 76 4.4
100. 0 69. 7 18.4 6.6 - - 5.3 - 15.8
BiE EHENE - - - - - - - - - -
Tt &k 224 163 35 7 1 - 18 - 224 4.4
100.0 72.8 15.6 3.1 0.4 - 8.0 - 46. 6
ZE 20 30mMARAUT 71 54 7 1 - - 9 - 71 4.2
100. 0 76. 1 9.9 1.4 - - 12.7 - 14.8
¥ 4050 K 102 75 18 3 - - 6 - 102 4.5
100. 0 73.5 17.6 2.9 - - 5.9 - 21.2
M 6 0mMUL 51 34 10 3 1 - 3 - 51 4.3
100. 0 66. 7 19.6 5.9 2.0 - 5.9 - 10. 6
X FHERS - - - - - - - - - -
TR Z Ot - - - - - - - - - -
EFIEIEES - - - - - - - - - -
EIETES - - - - - - - - - -
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FEMX BIR - M) xtE - FK

PN 1 = 1 PN %
B 0 bt ae i =
EE it it & + Ay iz EE E
-y o B i i L = T
# % #
1y
=1
ME 2K 150 104 32 5 - - 9 - 150 4.4
100.0 69. 3 21.3 3.3 - - 6.0 - 31.2
B 2 91 62 22 3 - - 4 - 91 4.5
100.0 68. 1 24.2 3.3 - - 4.4 - 18.9
B 20-30=FRLUT 32 24 5 - - - 3 - 32 4.4
100. 0 75.0 15.6 - - - 9.4 - 6.7
B 40 508K 38 24 11 2 - - 1 - 38 4.5
100. 0 63.2 28.9 5.3 - - 2.6 - 7.9
B 6 0mARULE 21 14 6 1 - - - - 21 4.6
100. 0 66. 7 28.6 4.8 - - - - 4.4
B FHERT - - - - - - - - - -
T &k 59 42 10 2 - - 5 - 59 4.3
100. 0 71.2 16.9 3.4 - - 8.5 - 12.3
ZE 20 - 30mARAUT 26 18 4 - - - 4 - 26 4.1
100. 0 69. 2 15. 4 - - - 15.4 - 5.4
Z 40 -50EM 20 15 3 1 - - 1 - 20 4.5
100.0 75.0 15.0 5.0 - - 5.0 - 4.2
T 6 0mARLUL 13 9 3 1 - - - - 13 4.6
100.0 69.2 23. 1 7.7 - - - - 2.7
tt FHERZ - - - - - - - - - -
TR Z Dt - - - - - - - - - -
4 B 4 B 25 - - - - - - - - -
g - iR (BIREELS) 103 75 15 3 - - 9 1 102 4.4
100.0 72.8 14.6 2.9 - - 8.7 1.0 21.2
Bt 2K 43 28 8 2 - - 4 1 42 4.2
100.0 65. 1 18.6 4.7 - - 9.3 2.3 8.7
B 20-305KKUT 16 11 1 1 - - 3 - 16 3.9
100. 0 68.8 6.3 6.3 - - 18.8 - 3.3
B 40 -508RK 17 8 6 1 - - 1 1 16 4.2
100. 0 47.1 35.3 5.9 - - 5.9 5.9 3.3
Bt 6 0mftUL 10 9 1 - - - - - 10 4.9
100. 0 90.0 10.0 - - - - - 2.1
Bt EHEEE - - - - - - - - - -
i £k 60 47 7 1 - - 5 - 60 4.4
100.0 78.3 11.7 1.7 - - 8.3 - 12.5
ZHE 20 30mAUT 15 11 1 - - - 3 - 15 3.9
100. 0 73.3 6.7 - - - 20.0 - 3.1
% 40 - 508K 35 27 5 1 - - 2 - 35 4.5
100. 0 77.1 14.3 2.9 - - 5.7 - 7.3
T 6 0mARUL 10 9 1 - - - - - 10 4.9
100.0 90.0 10.0 - - - - - 2.1
it EREEE - - - - - - - - - -
HRIZ Dt - - - - - - - - - -
ERIEIEES - - - - - - - - - -
ERE (FOMHITY7) 229 170 31 13 1 - 13 1 228 4.5
100. 0 74.2 13.5 5.7 0.4 - 5.7 0.4 47.4
i EIR 1 - 1 - - - - - 1 4.0
100. 0 - 1100.0 - - - - - 0.2
M7 KERBZK (2K%)
FS475— (1[EB) 118 91 14 6 - - 7 - 118 4.5
100. 0 77.1 11.9 5.1 - - 5.9 - 24.5
JE—4— (2@LE) 344 247 60 15 1 - 20 1 343 4.4
100.0 71.8 17.4 4.4 0.3 - 5.8 0.3 71.3
I EES 21 11 5 - - - 4 1 20 3.8
100. 0 52. 4 23.8 - - - 19.0 4.8 4.2
HE A
RFILEALA LA TRV IR 45 32 5 - - - 8 - 45 4.0
100.0 71.1 1.1 - - - 17.8 9.4
WILRTILERS 48 37 7 3 - - 1 - 48 4.6
100.0 77.1 14.6 6.3 - - 2.1 - 10.0
RTFIL-LYRNVERE 43 28 13 2 - - - - 43 4.6
100. 0 65. 1 30.2 4.7 - - - - 8.9
JREREHRRER (SK4LA0 108 80 12 6 - - 9 1 107 4.4
100. 0 74.1 11. 1 5.6 - - 8.3 0.9 22.2
BEREZH (BRKR) 239 172 42 10 1 - 13 1 238 4.5
100.0 72.0 17.6 4.2 0.4 - 5.4 0.4 49.5
EIEES - - - - - - - - - -




16 @ERSTHLISHT LM (LEY - HES)

3 E:HBEH
X » = » X %
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A ot ot S + A i3 HE E
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J=1
£ K 483 193 106 45 2 - 130 7 476 3.2
100.0 40.0 21.9 9.3 0.4 - 26.9 1.4 100.0
ETRR 93 30 18 9 - - 34 2 91 2.7
100.0 32.3 19.4 9.7 - - 36.6 2.2 19.1
Hyt-Lorv— 218 96 46 21 1 - 50 4 214 3.4
100.0 44.0 21. 1 9.6 0.5 - 22.9 1.8 45.0
&4 - 0 AEHRE 81 34 21 8 1 - 17 - 81 3.5
100.0 42.0 25.9 9.9 1.2 - 21.0 - 17.0
1~3DENTEHEWNWFDIL 91 33 21 7 - - 29 1 90 3.0
100.0 36.3 23. 1 1.7 - - 31.9 1.1 18.9
E RS - - - - - - - - - -
M1 BiE (BRI 7)
tiEE - Fit 17 7 4 2 - - 4 - 17 3.4
100.0 41.2 23.5 11.8 - - 23.5 - 3.6
B ER 150 57 31 14 1 - 47 - 150 3.0
100.0 38.0 20.7 9.3 0.7 - 31.3 - 31.5
JbhE - dhER 53 26 9 4 - - 14 - 53 3.4
100.0 491 17.0 1.5 - - 26.4 - 11.1
E3]if) 70 26 19 9 1 - 14 1 69 3.4
100.0 37. 1 27.1 12.9 1.4 - 20.0 1.4 14.5
tE - mE 22 11 4 2 - - 5 - 22 3.5
100.0 50.0 18. 2 9.1 - - 22.7 - 4.6
R - iR (BEREELUSY) 103 45 23 8 - - 21 6 97 3.5
100.0 43.7 22.3 7.8 - - 20.4 5.8 20.4
ERES 67 21 15 6 - - 25 - 67 2.7
100.0 31.3 22. 4 9.0 - - 37.3 14.1
i EI A 1 - 1 - - - - 1 4.0
100.0 - 100.0 - - - - 0.2
M - iR (BREBR L)
282 47 24 10 2 - - 10 1 46 3.6
100.0 51.1 21.3 4.3 - - 21.3 2.1 47.4
EEE 9 5 2 - - - 1 1 8 4.1
100.0 55.6 22.2 - - - 11.1 11.1 8.2
RIGE 7 2 2 1 - - 1 1 6 3.5
100.0 28.6 28.6 14. 3 - - 14. 3 14. 3 6.2
L E N 20 8 4 4 - - 2 2 18 3.8
100.0 | 40.0 20.0 20.0 - - 10.0 10.0 18.6
P )] 2 1 1 - - - - - 2 | 45
100.0 | 50.0 | 50.0 - - - - - 2.1
=IFE 10 3 i i - - 5 - 10 2.2
100.0 | 30.0 | 10.0 | 10.0 - - | 50.0 - | 103
kT 8 2 3 = - - 2 i 7 3.1
100.0 | 25.0 | 37.5 - - - | 250 | 12.5 7.2
mEE - - - - - - - - - -
B2 Fi
20®mARLT 84 39 11 7 1 - 25 1 83 3.2
100.0 46. 4 13.1 8.3 1.2 - 29.8 1.2 17.4
30mit 66 22 16 5 - - 21 2 64 3.0
100.0 33.3 24.2 7.6 - - 31.8 3.0 13.4
4 0 100 44 22 13 - - 21 - 100 3.5
100.0 44.0 22.0 13.0 - - 21.0 - 21.0
50X 106 40 26 8 - - 30 2 104 3.2
100.0 37.7 24.5 1.5 - - 28.3 1.9 21.8
6 Omit 81 32 23 6 - - 18 2 79 3.4
100.0 39.5 28.4 1.4 - - 22.2 2.5 16. 6
70mRLLE 46 16 8 6 1 - 15 - 46 2.9
100.0 34.8 17.4 13.0 2.2 - 32.6 9.7
E RS - - - - - - - - -
- FERF
B £ 259 86 61 25 1 - 82 4 255 2.9
100.0 33.2 23.6 9.7 0.4 - 31.7 1.5 53.6
B 20- 30FLLT 79 27 15 9 1 - 25 2 17 2.9
100.0 34.2 19.0 11.4 1.3 - 31.6 2.5 16. 2
Bt 4050t 104 35 25 10 - - 32 2 102 3.0
100.0 33.7 24.0 9.6 - - 30.8 1.9 21.4
B 60mARLL 76 24 21 6 - - 25 - 76 2.9
100.0 31.6 27.6 7.9 - - 32.9 - 16.0
B FHEEE - - - - - - - - - -
T 2K 224 107 45 20 1 - 48 3 221 3.5
100.0 47.8 20. 1 8.9 0.4 - 21.4 1.3 46. 4
T 20 - 30mELUT 71 34 12 3 - - 21 1 70 3.2
100.0 47.9 16.9 4.2 - - 29.6 1.4 14.7
T 40+ 50t 102 49 23 11 - - 19 - 102 3.6
100.0 48.0 22.5 10. 8 - - 18.6 - 21.4
THE 6 0mitllLE 51 24 10 6 1 - 8 2 49 3.7
100.0 47.1 19.6 11.8 2.0 - 15.7 3.9 10. 3
T EHREE - - - - - - - - - -
MR Z Dt - - - - - - - - - -
EFIEIEES - - - - - - - - - -
mEE - - - - - - - - - -
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FEMX BIR - M) xtE - FK

PN 1 = 1 PN %
B 0 bt ae i =
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=1
ME 2K 150 57 31 14 1 - 47 - 150 3.0
100.0 38.0 20.7 9.3 0.7 - 31.3 - 31.5
B 2 91 30 21 11 - - 29 - 91 2.9
100.0 33.0 23. 1 12.1 - - 31.9 - 19. 1
B 20-30=FRLUT 32 12 6 3 - - 11 - 32 2.9
100. 0 37.5 18.8 9.4 - - 34.4 - 6.7
B 40 508K 38 9 9 7 - - 13 - 38 2.7
100. 0 23.7 23.7 18.4 - - 34.2 - 8.0
B 6 0mARULE 21 9 6 1 - - 5 - 21 3.4
100. 0 42.9 28.6 4.8 - - 23.8 - 4.4
B FHERT - - - - - - - - - -
T &k 59 27 10 3 1 - 18 - 59 3.2
100. 0 45.8 16.9 5.1 1.7 - 30.5 - 12.4
ZE 20 - 30mARAUT 26 9 3 1 - - 13 - 26 2.3
100. 0 34.6 11.5 3.8 - - 50.0 - 5.5
Z 40 -50EM 20 14 2 2 - 2 - 20 4.2
100.0 70.0 10.0 10.0 - - 10.0 - 4.2
T 6 0mARLUL 13 4 5 - 1 - 3 - 13 3.2
100.0 30.8 38.5 - 7.7 - 23. 1 - 2.7
tt FHERZ - - - - - - - - - -
TR Z Dt - - - - - - - - - -
4 B 4 B 25 - - - - - - - - - -
g - iR (BIREELS) 103 45 23 8 - - 21 6 97 3.5
100.0 43.7 22.3 7.8 - - 20. 4 5.8 20. 4
Bt 2K 43 16 10 3 - - 11 3 40 3.2
100.0 37.2 23.3 7.0 - - 25.6 7.0 8.4
B 20-305KKUT 16 7 1 2 - - 5 1 15 3.0
100. 0 43.8 6.3 12.5 - - 31.3 6.3 3.2
B 40 -508RK 17 4 5 1 - - 5 2 15 2.9
100. 0 23.5 29. 4 5.9 - - 29. 4 11.8 3.2
Bt 6 0mftUL 10 5 4 - - - 1 - 10 4.1
100. 0 50.0 40.0 - - - 10.0 - 2.1
Bt EHEEE - - - - - - - - - -
i £k 60 29 13 5 - - 10 3 57 3.7
100.0 48.3 21.7 8.3 - - 16.7 5.0 12.0
T 20 - 30EKUT 15 8 4 - - - 2 1 14 4.0
100. 0 53.3 26.7 - - - 13.3 6.7 2.9
% 40 - 508K 35 16 8 3 - - 8 - 35 3.5
100. 0 45.7 22.9 8.6 - - 22.9 - 7.4
T 6 0mARUL 10 5 1 2 - - - 2 8 4.4
100.0 50.0 10.0 20.0 - - - 20.0 1.7
it EREEE - - - - - - - - - -
HRIZ Dt - - - - - - - - - -
ERIEIEES - - - - - - - - -
ERE (FOMHITY7) 229 91 51 23 1 - 62 1 228 3.2
100. 0 39.7 22.3 10.0 0.4 - 27.1 0.4 47.9
i EIR 1 - 1 - - - - - 1 4.0
100. 0 - 1100.0 - - - - - 0.2
M7 KERBZK (2K%)
FS475— (1[EB) 118 52 25 12 1 - 27 1 117 3.4
100. 0 44.1 21.2 10.2 0.8 - 22.9 0.8 24. 6
JE—4— (2@LE) 344 136 78 32 1 - 92 5 339 3.2
100.0 39.5 22.7 9.3 0.3 - 26.7 1.5 71.2
I EES 21 5 3 1 - - 11 1 20 2.0
100. 0 23.8 14.3 4.8 - - 524 4.8 4.2
HE A
RFILEALA LA TRV IR 45 20 6 - - - 18 1 44 2.8
100.0 44. 4 13.3 - - - 40.0 2.2 9.2
WILRTILERS 48 16 20 9 - - 3 - 48 3.9
100.0 33.3 M.7 18.8 - - 6.3 - 10. 1
RTFIL-LYRNVERE 43 12 9 4 - - 17 1 42 2.6
100. 0 27.9 20.9 9.3 - - 39.5 2.3 8.8
JREREHRRER (SK4LA0 108 54 23 9 - - 19 3 105 3.7
100. 0 50. 0 21.3 8.3 - - 17.6 2.8 22.1
BEREZH (BRKR) 239 91 48 23 2 - 73 2 237 3.0
100.0 38. 1 20. 1 9.6 0.8 - 30.5 0.8 49. 8
EIEES - - - - - - - - - -
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I3 kFAM
PN 1 F3 1 PN %
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& {K 483 192 131 106 27 4 19 4 479 3.9
100.0 39.8 27.1 21.9 5.6 0.8 3.9 0.8 | 100.0
ESRX 93 35 25 21 4 - 6 2 91 3.8
100.0 37.6 26.9 22.6 4.3 - 6.5 2.2 19.0
I Lvy— 218 85 60 48 13 2 8 2 216 3.9
100. 0 39.0 27.5 22.0 6.0 0.9 3.7 0.9 45. 1
B4 - S0NEHRS 81 29 26 18 4 1 3 - 81 3.9
100. 0 35.8 32.1 22.2 4.9 1.2 3.7 16.9
1~3DENTIHHEVEFDI 91 43 20 19 6 1 2 - 91 4.0
100. 0 47.3 22.0 20.9 6.6 1.1 2.2 - 19.0
EIEES - - - - - - - - - -
M1 EE#t (BRI UT)
dbimE - J/ik 17 4 10 2 1 - - - 17 4.0
100.0 23.5 58.8 11.8 5.9 - - - 3.5
GES 150 58 36 41 7 1 6 1 149 3.8
100.0 38.7 24.0 27.3 4.7 0.7 4.0 0.7 31.1
JbkE - chEp 53 24 10 13 4 1 1 - 53 3.9
100. 0 45.3 18.9 24.5 7.5 1.9 1.9 - 11. 1
(ki 70 31 16 17 3 1 1 1 69 4.0
100. 0 44.3 22.9 24.3 4.3 1.4 1.4 1.4 14. 4
hE - mE 22 10 7 3 1 - 1 - 22 4.0
100. 0 45.5 31.8 13.6 4.5 - 4.5 - 4.6
Ju - hiE (RIRBELSY) 103 35 37 19 2 - 8 2 101 3.8
100.0 34.0 35.9 18.4 1.9 - 7.8 1.9 21.1
ERER 67 30 14 11 9 1 2 - 67 3.9
100. 0 44.8 20.9 16. 4 13.4 1.5 3.0 14.0
EIETES 1 - 1 - - - - 1 4.0
100. 0 - 1100.0 - - - - 0.2
A R (BRIREBELUN)
EfE R 47 18 16 9 - - 4 - 47 3.9
100. 0 38.3 34.0 19. 1 - - 8.5 - 46.5
EBR 9 3 2 2 - - 2 - 9 3.2
100. 0 33.3 22.2 22.2 - - 22.2 - 8.9
RIFE 7 2 1 1 2 - - 1 6 3.5
100. 0 28.6 14.3 14.3 28.6 - - 14.3 5.9
PN 20 7 5 6 - - 1 1 19 3.8
100.0 35.0 25.0 30.0 - 5.0 5.0 18.8
XHE 2 - 2 - - - - - 2 4.0
100.0 - 1100.0 - - - - - 2.0
EIHE 10 5 4 1 - - - - 10 4.4
100. 0 50.0 40.0 10.0 - - - - 9.9
FhEBIE 8 - 7 - - - 1 - 8 3.5
100. 0 87.5 - - - 12.5 - 7.9
mOE - - - - - - - - - -
B2 i
20T 84 41 17 16 4 - 6 - 84 3.9
100. 0 48.8 20.2 19.0 4.8 - 7.1 - 17.5
30E Mt 66 25 16 15 3 1 4 2 64 3.8
100.0 37.9 24.2 22.7 4.5 1.5 6.1 3.0 13.4
4 0Bt 100 46 27 18 7 1 1 - 100 4.1
100.0 46.0 27.0 18.0 7.0 1.0 1.0 - 20.9
50t 106 31 36 30 3 - 5 1 105 3.8
100.0 29.2 34.0 28.3 2.8 - 4.7 0.9 21.9
6 Ot 81 32 24 14 8 1 1 1 80 3.9
100. 0 39.5 29.6 17.3 9.9 1.2 1.2 1.2 16.7
7 0EfELIE 46 17 11 13 2 1 2 - 46 3.8
100. 0 37.0 23.9 28.3 4.3 2.2 4.3 - 9.6
I EES - - - - - - - - - -
% - FHK5
Bt 2K 259 97 70 63 14 2 10 3 256 3.8
100.0 37.5 27.0 24.3 5.4 0.8 3.9 1.2 53. 4
B 20 30EmKUT 79 30 19 18 4 1 5 2 77 3.8
100.0 38.0 241 22.8 5.1 1.3 6.3 2.5 16. 1
B 40-50EK 104 34 30 29 7 - 3 1 103 3.8
100.0 32.7 28.8 27.9 6.7 - 2.9 1.0 21.5
B 60mARLUE 76 33 21 16 3 1 2 - 76 4.0
100. 0 43. 4 27.6 21. 1 3.9 1.3 2.6 - 15.9
BiE EHENE - - - - - - - - - -
Tt &k 224 95 61 43 13 2 9 1 223 3.9
100.0 42. 4 27.2 19.2 5.8 0.9 4.0 0.4 46. 6
ZE 20 30mMARAUT 71 36 14 13 3 - 5 - 71 4.0
100. 0 50. 7 19.7 18.3 4.2 - 7.0 - 14.8
¥ 4050 K 102 43 33 19 3 1 3 - 102 4.0
100. 0 42.2 32.4 18.6 2.9 1.0 2.9 - 21.3
M 6 0mMUL 51 16 14 11 7 1 1 1 50 3.7
100. 0 31.4 27.5 21.6 13.7 2.0 2.0 2.0 10.4
X FHERS - - - - - - - - - -
TR Z Ot - - - - - - - - - -
EFIEIEES - - - - - - - - - -
EIETES - - - - - - - - - -




fl16 GOERRESMEXICHT IFHE (THRDBBD LT )
FEMX BIR - M) xtE - FK

PN 1 = 1 PN %
B 0 bt ae i =
EE it it & + Ay iz EE E
-y o B i i L = T
# % #
1y
=1
ME 2K 150 58 36 41 7 1 6 1 149 3.8
100.0 38.7 24.0 27.3 4.7 0.7 4.0 0.7 31.1
B 2 91 33 25 24 5 - 3 1 90 3.9
100.0 36.3 27.5 26. 4 5.5 - 3.3 1.1 18.8
B 20-30=FRLUT 32 14 5 8 2 - 2 1 31 3.8
100. 0 43.8 15.6 25.0 6.3 - 6.3 3.1 6.5
B 40 508K 38 12 12 10 3 - 1 - 38 3.8
100. 0 31.6 31.6 26.3 7.9 - 2.6 - 7.9
B 6 0mARULE 21 7 8 6 - - - - 21 4.0
100. 0 33.3 38. 1 28.6 - - - - 4.4
B FHERT - - - - - - - - - -
T &k 59 25 11 17 2 1 3 - 59 3.8
100. 0 42.4 18.6 28.8 3.4 1.7 5.1 - 12.3
ZE 20 - 30mARAUT 26 13 5 6 - - 2 - 26 4.0
100. 0 50.0 19.2 23. 1 - - 7.7 - 5.4
Z 40 -50EM 20 9 4 7 - - - 20 4.1
100.0 45.0 20.0 35.0 - - - - 4.2
T 6 0mARLUL 13 3 2 4 2 1 1 - 13 3.1
100.0 23. 1 15.4 30.8 15.4 7.7 7.7 - 2.7
tt FHERZ - - - - - - - - - -
TR Z Dt - - - - - - - - - -
4 B 4 B 25 - - - - - - - - - -
g - iR (BIREELS) 103 35 37 19 2 - 8 2 101 3.8
100.0 34.0 35.9 18.4 1.9 - 7.8 1.9 21.1
Bt 2K 43 14 16 8 - - 4 1 42 3.8
100.0 32.6 37.2 18.6 - 9.3 2.3 8.8
B 20-305KKUT 16 5 7 2 - - 2 - 16 3.7
100. 0 31.3 43.8 12.5 - - 12.5 - 3.3
B 40 -508RK 17 3 8 3 - - 2 1 16 3.5
100. 0 17.6 47.1 17.6 - - 11.8 5.9 3.3
Bt 6 0mftUL 10 6 1 3 - - - - 10 4.3
100. 0 60.0 10.0 30.0 - - - - 2.1
Bt EHEEE - - - - - - - - - -
i £k 60 21 21 11 2 - 4 1 59 3.8
100.0 35.0 35.0 18.3 3.3 - 6.7 1.7 12.3
T 20 - 30EKUT 15 5 2 4 1 - 3 - 15 3.1
100. 0 33.3 13.3 26.7 6.7 - 20.0 - 3.1
% 40 - 508K 35 12 17 5 - - 1 - 35 4.1
100. 0 34.3 48. 6 14.3 - - 2.9 - 7.3
T 6 0mARUL 10 4 2 2 1 - - 1 9 4.0
100.0 40.0 20.0 20.0 10.0 - - 10.0 1.9
it EREEE - - - - - - - - - -
HRIZ Dt - - - - - - - - - -
ERIEIEES - - - - - - - - -
ERE (FOMHITY7) 229 99 57 46 18 3 5 1 228 3.9
100. 0 43.2 24.9 20. 1 7.9 1.3 2.2 0.4 47.6
i EIR 1 - 1 - - - - - 1 4.0
100. 0 - 1100.0 - - - - - 0.2
M7 KERBZK (2K%)
FS475— (1[EB) 118 44 27 32 7 - 7 1 117 3.7
100. 0 37.3 22.9 27.1 5.9 - 5.9 0.8 244
JE—4— (2@LE) 344 137 101 70 20 4 10 2 342 3.9
100.0 39.8 29.4 20.3 5.8 1.2 2.9 0.6 71.4
I EES 21 11 3 4 - 2 1 20 4.0
100. 0 52. 4 14.3 19.0 - - 9.5 4.8 4.2
HE A
RFILEALA LA TRV IR 45 31 6 4 - - 4 - 45 4.2
100.0 68.9 13.3 8.9 - - 8.9 9.4
WILRTILERS 48 18 15 12 1 1 1 - 48 3.9
100.0 37.5 31.3 25.0 2.1 2.1 2.1 - 10.0
RTFIL-LYRNVERE 43 12 20 4 3 - 3 1 42 3.8
100. 0 27.9 46.5 9.3 7.0 - 7.0 2.3 8.8
JREREHRRER (SK4LA0 108 46 29 22 5 - 5 1 107 3.9
100. 0 42.6 26.9 20. 4 4.6 - 4.6 0.9 22.3
BEREZH (BRKR) 239 85 61 64 18 3 6 2 237 3.8
100.0 35.6 25.5 26.8 7.5 1.3 2.5 0.8 49.5
EIEES - - - - - - - - - -

%—1-82




16 OEESHERICHT IFME EAFROAFLOTE)

I3 kFAM
PN 1 F3 1 PN %
%= 0 bt ae i =
EE b b 4 + LAY iz EE E
= o B i i L E] =
# % #
]
=
& {K 483 183 129 95 8 3 62 3 480 3.6
100.0 37.9 26.7 19.7 1.7 0.6 12.8 0.6 | 100.0
ESRX 93 33 21 18 - - 20 1 92 3.3
100.0 35.5 22.6 19.4 - - 21.5 1.1 19.2
I Lvy— 218 85 67 46 2 1 15 2 216 3.9
100. 0 39.0 30.7 21. 1 0.9 0.5 6.9 0.9 45.0
B4 - S0NEHRS 81 28 20 17 1 1 14 - 81 3.4
100. 0 34.6 24.7 21.0 1.2 1.2 17.3 16.9
1~3DENTIHHEVEFDI 91 37 21 14 5 1 13 - 91 3.5
100. 0 40.7 23.1 15.4 5.5 1.1 14.3 - 19.0
EIEES - - - - - - - - - -
M1 EE#t (BRI UT)
dbimE - J/ik 17 4 5 5 - - 3 - 17 3.2
100.0 23.5 29.4 29.4 - - 17.6 - 3.5
GES 150 55 30 38 3 1 23 - 150 3.4
100.0 36.7 20.0 25.3 2.0 0.7 15.3 - 31.3
JbkE - chEp 53 25 15 1 1 3 - 53 4.0
100. 0 47.2 28.3 15. 1 1.9 1.9 5.7 - 11.0
(ki 70 27 18 15 3 - 6 1 69 3.7
100. 0 38.6 25.7 21.4 4.3 - 8.6 1.4 14. 4
hE - mE 22 8 7 2 - - 5 - 22 3.4
100. 0 36. 4 31.8 9.1 - - 22.7 - 4.6
Ju - hiE (RIRBELSY) 103 37 33 15 - - 16 2 101 3.6
100.0 35.9 32.0 14.6 - - 15.5 1.9 21.0
ERER 67 27 20 12 1 1 6 - 67 3.8
100. 0 40.3 29.9 17.9 1.5 1.5 9.0 14.0
EIETES 1 - 1 - - - - 1 4.0
100. 0 - 1100.0 - - - - - 0.2
A R (BRIREBELUN)
EfE R 47 20 14 5 - - 8 - 47 3.6
100. 0 42.6 29.8 10.6 - - 17.0 - 46.5
EBR 9 5 - 1 - - 3 - 9 3.1
100. 0 55. 6 - 11. 1 - - 33.3 - 8.9
RIFE 7 1 3 2 - - - 1 6 3.8
100. 0 14.3 42.9 28.6 - - - 14.3 5.9
PN 20 6 6 3 - - 4 1 19 3.3
100.0 30.0 30.0 15.0 - - 20.0 5.0 18.8
XHE 2 1 - 1 - - - - 2 4.0
100.0 50.0 - 50.0 - - - - 2.0
EIHE 10 4 5 1 - - - - 10 4.3
100. 0 40.0 50. 0 10.0 - - - - 9.9
FhEBIE 8 - 5 2 - - 1 - 8 3.3
100. 0 - 62.5 25.0 - - 12.5 - 7.9
mOE - - - - - - - - - -
B2 i
20T 84 36 18 13 1 - 16 - 84 3.5
100. 0 42.9 21.4 15.5 1.2 - 19.0 - 17.5
30E Mt 66 24 16 13 2 1 9 1 65 3.5
100.0 36. 4 24.2 19.7 3.0 1.5 13.6 1.5 13.5
4 0Bt 100 43 28 23 1 - 5 - 100 4.0
100.0 43.0 28.0 23.0 1.0 - 5.0 - 20.8
50t 106 33 37 19 1 - 15 1 105 3.5
100.0 31.1 34.9 17.9 0.9 - 14.2 0.9 21.9
6 Ot 81 33 22 14 2 - 9 1 80 3.7
100. 0 40.7 27.2 17.3 2.5 - 11.1 1.2 16.7
7 0EfELIE 46 14 8 13 1 2 8 - 46 3.2
100. 0 30. 4 17.4 28.3 2.2 4.3 17.4 - 9.6
I EES - - - - - - - - - -
% - FHK5
Bt 2K 259 92 66 57 5 2 35 2 257 3.5
100.0 35.5 25.5 22.0 1.9 0.8 13.5 0.8 53.5
B 20 30EmKUT 79 30 17 14 2 1 14 1 78 3.4
100.0 38.0 21.5 17.7 2.5 1.3 17.7 1.3 16.3
B 40-50EK 104 32 34 26 1 - 10 1 103 3.7
100.0 30.8 32.7 25.0 1.0 - 9.6 1.0 21.5
B 60mARLUE 76 30 15 17 2 1 11 - 76 3.5
100. 0 39.5 19.7 22.4 2.6 1.3 14.5 - 15.8
BiE EHENE - - - - - - - - - -
Tt &k 224 91 63 38 3 1 27 1 223 3.7
100.0 40. 6 28. 1 17.0 1.3 0.4 12.1 0.4 46.5
ZE 20 30mMARAUT 71 30 17 12 1 - 11 - 71 3.6
100. 0 42.3 23.9 16.9 1.4 - 15.5 - 14.8
¥ 4050 K 102 44 31 16 1 - 10 - 102 3.9
100. 0 43.1 30. 4 15.7 1.0 - 9.8 - 21.3
M 6 0mMUL 51 17 15 10 1 1 6 1 50 3.6
100. 0 33.3 29. 4 19.6 2.0 2.0 11.8 2.0 10.4
X FHERS - - - - - - - - - -
TR Z Ot - - - - - - - - - -
EFIEIEES - - - - - - - - - -
EIETES - - - - - - - - - -




fl16 OERESHERICHT IFHME BEAFROAFLOTE)
EEMX BIE - AM) x1% - FK

PN 1 = 1 PN %
B 0 bt ae i =
EE it it & + Ay iz EE E
-y o B i i L = T
# % #
1y
=1
ME 2K 150 55 30 38 3 1 23 - 150 3.4
100.0 36.7 20.0 25.3 2.0 0.7 15.3 - 31.3
B 2 91 29 17 29 3 - 13 - 91 3.4
100.0 31.9 18.7 31.9 3.3 - 14.3 - 19.0
B 20-30=FRLUT 32 12 4 7 2 - 7 - 32 3.2
100. 0 37.5 12.5 21.9 6.3 - 21.9 - 6.7
B 40 508K 38 9 11 13 1 - 4 - 38 3.4
100. 0 23.7 28.9 34.2 2.6 - 10.5 - 7.9
B 6 0mARULE 21 8 2 9 - - 2 - 21 3.6
100. 0 38. 1 9.5 42.9 - - 9.5 - 4.4
B FHERT - - - - - - - - - -
T &k 59 26 13 9 - 1 10 - 59 3.6
100. 0 44.1 22.0 15.3 - 1.7 16.9 - 12.3
ZE 20 - 30mARAUT 26 13 4 4 - - 5 - 26 3.6
100. 0 50.0 15. 4 15. 4 - - 19.2 - 5.4
Z 40 -50EM 20 9 5 4 - 2 - 20 3.9
100.0 45.0 25.0 20.0 - - 10.0 - 4.2
T 6 0mARLUL 13 4 4 1 - 1 3 - 13 3.1
100.0 30.8 30.8 7.7 - 7.7 23. 1 - 2.7
tt FHERZ - - - - - - - - - -
TR Z Dt - - - - - - - - - -
4 B 4 B 25 - - - - - - - - - -
g - iR (BIREELS) 103 37 33 15 - - 16 2 101 3.6
100.0 35.9 32.0 14.6 - - 15.5 1.9 21.0
Bt 2K 43 15 13 7 - - 7 1 42 3.5
100.0 34.9 30.2 16.3 - - 16.3 2.3 8.8
B 20-305KKUT 16 6 5 2 - - 3 - 16 3.5
100. 0 37.5 31.3 12.5 - - 18.8 - 3.3
B 40 -508RK 17 5 6 3 - - 2 1 16 3.6
100. 0 29. 4 35.3 17.6 - - 11.8 5.9 3.3
Bt 6 0mftUL 10 4 2 2 - - 2 - 10 3.4
100. 0 40.0 20.0 20.0 - - 20.0 - 2.1
Bt EHEEE - - - - - - - - - -
i £k 60 22 20 8 - - 9 1 59 3.6
100.0 36.7 33.3 13.3 - - 15.0 1.7 12.3
T 20 - 30EKUT 15 4 6 1 - - 4 - 15 3.1
100. 0 26.7 40.0 6.7 - - 26.7 - 3.1
% 40 - 508K 35 15 11 5 - - 4 - 35 3.8
100. 0 42.9 31. 4 14.3 - - 11.4 - 7.3
T 6 0mARUL 10 3 3 2 - - 1 1 9 3.7
100.0 30.0 30.0 20.0 - - 10.0 10.0 1.9
it EREEE - - - - - - - - - -
HRIZ Dt - - - - - - - - - -
ERIEIEES - - - - - - - - -
ERE (FOMHITY7) 229 91 65 42 5 2 23 1 228 3.7
100. 0 39.7 28. 4 18.3 2.2 0.9 10.0 0.4 47.5
i EIR 1 - 1 - - - - - 1 4.0
100. 0 - 1100.0 - - - - - 0.2
M7 KERBZK (2K%)
FS475— (1[EB) 118 45 32 28 3 - 10 - 118 3.8
100. 0 38. 1 27.1 23.7 2.5 - 8.5 - 24. 6
JE—4— (2@LE) 344 130 94 63 4 3 48 2 342 3.6
100.0 37.8 27.3 18.3 1.2 0.9 14.0 0.6 71.3
I EES 21 8 3 4 1 - 4 1 20 3.3
100. 0 38. 1 14.3 19.0 4.8 - 19.0 4.8 4.2
HE A
RFILEALA LA TRV IR 45 32 6 2 - - 5 - 45 4.2
100.0 71.1 13.3 4.4 - - 1.1 9.4
WILRTILERS 48 18 18 10 1 - 1 - 48 4.0
100.0 37.5 37.5 20.8 2.1 - 2.1 - 10.0
RTFIL-LYRNVERE 43 10 18 5 - - 9 1 42 3.3
100. 0 23.3 4.9 11.6 - 20.9 2.3 8.8
JREREHRRER (SK4LA0 108 41 33 19 - - 14 1 107 3.7
100. 0 38.0 30. 6 17.6 - - 13.0 0.9 22.3
BEREZH (BRKR) 239 82 54 59 7 3 33 1 238 3.4
100.0 34.3 22.6 24.7 2.9 1.3 13.8 0.4 49. 6
EIEES - - - - - - - - - -

%-1-84




16 QOERSMEHXICHTHFME (W—EX-HHTHL)

I3 kFAM
PN 1 F3 1 PN %
%= 0 bt ae i =
EE b b 4 + LAY iz EE E
= o B i i L E] =
# % #
1y
=
& {K 483 276 126 56 3 - 17 5 478 4.3
100.0 57.1 26. 1 11.6 0.6 - 3.5 1.0 | 100.0
ESRX 93 50 25 11 - - 6 1 92 4.2
100.0 53.8 26.9 11.8 - - 6.5 1.1 19.2
I Lvy— 218 122 65 20 2 - 6 3 215 4.3
100. 0 56.0 29.8 9.2 0.9 - 2.8 1.4 45.0
B4 - S0NEHRS 81 49 15 14 - - 3 - 81 4.3
100. 0 60.5 18.5 17.3 - - 3.7 - 16.9
1~3DENTIHHEVEFDI 91 55 21 11 1 - 2 1 90 4.4
100. 0 60. 4 23.1 12.1 1.1 - 2.2 1.1 18.8
EIEES - - - - - - - - - -
M1 EE#t (BRI UT)
dbimE - J/ik 17 8 8 1 - - - - 17 4.4
100.0 47.1 47.1 5.9 - - - - 3.6
GES 150 83 32 29 1 - 4 1 149 4.2
100.0 55.3 21.3 19.3 0.7 - 2.7 0.7 31.2
JbkE - chEp 53 35 12 6 - - - - 53 4.5
100. 0 66.0 22.6 11.3 - - - - 11. 1
(ki 70 39 22 8 - - 1 69 4.4
100. 0 55.7 31.4 11.4 - - - 1.4 14. 4
hE - mE 22 11 9 1 - - 1 - 22 4.3
100. 0 50.0 40.9 4.5 - - 4.5 - 4.6
Ju - hiE (RIRBELSY) 103 61 21 6 2 - 10 3 100 4.1
100.0 59.2 20. 4 5.8 1.9 - 9.7 2.9 20.9
ERER 67 39 21 5 - - 2 - 67 4.4
100. 0 58.2 31.3 7.5 - 3.0 14.0
EIETES 1 - 1 - - - 1 4.0
100. 0 - 1100.0 - - - - - 0.2
A R (BRIREBELUN)
EfE R 47 29 8 3 - - 6 46 4.0
100. 0 61.7 17.0 6.4 - - 12.8 2. 46.0
EBR 9 5 - 2 - - 2 9 3.4
100. 0 55. 6 - 22.2 - - 22.2 - 9.0
RIFE 7 5 1 - - - - 1 6 4.8
100. 0 71.4 14.3 - - - - 14.3 6.0
PN 20 12 4 1 1 - 1 1 19 4.3
100.0 60.0 20.0 5.0 5.0 - 5.0 5.0 19.0
XHE 2 1 1 - - - - - 2 4.5
100.0 50.0 50.0 - - - - - 2.0
EIHE 10 6 4 - - - - - 10 4.6
100. 0 60.0 40.0 - - - - - 10.0
FhEBIE 8 3 3 - 1 - 1 - 8 3.6
100. 0 37.5 37.5 - 12.5 - 12.5 - 8.0
mOE - - - - - - - - - -
B2 i
20T 84 55 14 8 - - 6 1 83 4.3
100. 0 65.5 16.7 9.5 - - 7.1 1.2 17.4
30E Mt 66 37 16 10 - - 2 1 65 4.3
100.0 56. 1 24.2 15.2 - - 3.0 1.5 13.6
4 0Bt 100 62 26 10 - - 2 - 100 4.4
100.0 62.0 26.0 10.0 - - 2.0 - 20.9
50t 106 54 37 9 2 - 3 1 105 4.3
100.0 50.9 34.9 8.5 1.9 - 2.8 0.9 22.0
6 Ot 81 44 22 9 1 - 3 2 79 4.3
100. 0 54.3 27.2 11. 1 1.2 - 3.7 2.5 16.5
7 0EfELIE 46 24 11 10 - - 1 - 46 4.2
100. 0 52.2 23.9 21.7 - - 2.2 9.6
I EES - - - - - - - - - -
% - FHK5
Bt 2K 259 129 79 37 2 - 9 3 256 4.2
100.0 49. 8 30.5 14.3 0.8 - 3.5 1.2 53.6
B 20 30EmKUT 79 41 21 12 - - 4 1 78 4.2
100.0 51.9 26.6 15.2 - - 5.1 1.3 16.3
B 40-50EK 104 50 37 12 2 - 2 1 103 4.3
100.0 48. 1 35.6 11.5 1.9 - 1.9 1.0 21.5
B 60mARLUE 76 38 21 13 - - 3 1 75 4.2
100. 0 50.0 27.6 17.1 - - 3.9 1.3 15.7
BiE EHENE - - - - - - - - - -
Tt &k 224 147 47 19 1 - 8 2 222 4.4
100.0 65.6 21.0 8.5 0.4 - 3.6 0.9 46. 4
ZE 20 30mMARAUT 71 51 9 6 - - 4 1 70 4.4
100. 0 71.8 12.7 8.5 - - 5.6 1.4 14.6
¥ 4050 K 102 66 26 7 - - 3 - 102 4.5
100. 0 64.7 25.5 6.9 - - 2.9 - 21.3
M 6 0mMUL 51 30 12 6 1 - 1 1 50 4.4
100. 0 58. 8 23.5 11.8 2.0 - 2.0 2.0 10.5
X FHERS - - - - - - - - - -
TR Z Ot - - - - - - - - - -
EFIEIEES - - - - - - - - - -
EIETES - - - - - - - - - -




16 QERBHEBNRIIHTZEME (F—EX-HHTHL)
FTEMX (BJE - ) x - FL
PN 1 = 1 PN %
B 0 bt ae i =
EE it it & + Ay iz EE E
-y o B i i L = T
# % #
1y
=1
ME 2K 150 83 32 29 1 - 4 1 149 4.2
100.0 55.3 21.3 19.3 0.7 - 2.7 0.7 31.2
B 2 91 43 22 22 1 - 2 1 90 4.1
100.0 47.3 24.2 24.2 1.1 - 2.2 1.1 18.8
B 20-30=FRLUT 32 17 5 8 - - 2 - 32 4.0
100. 0 53. 1 15.6 25.0 - - 6.3 - 6.7
B 40 508K 38 16 14 7 1 - - - 38 4.2
100. 0 42.1 36.8 18.4 2.6 - - - 7.9
B 6 0mARULE 21 10 3 7 - - - 1 20 4.2
100. 0 47.6 14.3 33.3 - - - 4.8 4.2
B FHERT - - - - - - - - - -
T &k 59 40 10 7 - - 2 59 4.4
100. 0 67.8 16.9 11.9 - - 3.4 - 12.3
ZE 20 - 30mARAUT 26 22 1 2 - - 1 - 26 4.6
100. 0 84.6 3.8 7.7 - - 3.8 - 5.4
Z 40 -50EM 20 12 6 2 - - - - 20 4.5
100.0 60.0 30.0 10.0 - - - - 4.2
T 6 0mARLUL 13 6 3 3 - - 1 - 13 3.9
100.0 46.2 23. 1 23. 1 - - 7.7 - 2.7
tt FHERZ - - - - - - - - - -
TR Z Dt - - - - - - - - - -
4 B 4 B 25 - - - - - - - - - -
g - iR (BIREELS) 103 61 21 6 2 - 10 3 100 4.1
100.0 59.2 20. 4 5.8 1.9 - 9.7 2.9 20.9
Bt 2K 43 23 10 3 1 - 5 1 42 4.0
100.0 53.5 23.3 7.0 2.3 - 11.6 2.3 8.8
B 20-305KKUT 16 9 3 2 - - 2 - 16 3.9
100. 0 56.3 18.8 12.5 - - 12.5 - 3.3
B 40 -508RK 17 8 5 - 1 - 2 1 16 3.9
100. 0 47.1 29. 4 - 5.9 - 11.8 5.9 3.3
Bt 6 0mftUL 10 6 2 1 - - 1 - 10 4.1
100. 0 60.0 20.0 10.0 - - 10.0 - 2.1
Bt EHEEE - - - - - - - - - -
i £k 60 38 11 3 1 - 5 2 58 4.2
100.0 63.3 18.3 5.0 1.7 - 8.3 3.3 12.1
T 20 - 30EKUT 15 9 1 1 - - 3 1 14 3.7
100. 0 60.0 6.7 6.7 - - 20.0 6.7 2.9
% 40 - 508K 35 24 8 1 - - 2 - 35 4.4
100. 0 68.6 22.9 2.9 - - 5.7 - 7.3
T 6 0mARUL 10 5 2 1 1 - - 1 9 4.2
100.0 50.0 20.0 10.0 10.0 - - 10.0 1.9
it EREEE - - - - - - - - - -
HRIZ Dt - - - - - - - - - -
ERIEIEES - - - - - - - - - -
ERE (FOMHITY7) 229 132 72 21 - - 3 1 228 4.4
100. 0 57.6 31.4 9.2 - - 1.3 0.4 47.7
i EIR 1 - 1 - - - - - 1 4.0
100. 0 - 1100.0 - - - - - 0.2
M7 KERBZK (2K%)
FS475— (1[EB) 118 72 25 16 1 - 4 - 118 4.3
100. 0 61.0 21.2 13.6 0.8 - 3.4 - 24.7
JE—4— (2@LE) 344 191 95 40 2 - 12 4 340 4.3
100.0 55.5 27.6 11.6 0.6 - 3.5 1.2 71.1
I EES 21 13 6 - - - 1 1 20 4.5
100. 0 61.9 28.6 - - - 4.8 4.8 4.2
HE A
RFILEALA LA TRV IR 45 34 7 1 - - 3 - 45 4.5
100.0 75.6 15.6 2.2 - - 6.7 9.4
WILRTILERS 48 36 11 1 - - - - 48 4.7
100.0 75.0 22.9 2.1 - - - - 10.0
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100. 0 55. 6 22.2 22.2 - - 100. 0 55. 6 44. 4 -
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100. 0 100. 0 - - - - 100. 0 100. 0 - -
ZOMOE 2R 8 8 - - - - 8 8 - -
100. 0 100. 0 - - - - 100. 0 100. 0 - -
ZOMoE 20 - 3 0N 4 4 - - - - 4 4 - -
DI 100. 0 100. 0 - - - - 100. 0 100. 0 - -
FOMDE 40 ¢ 505 3 3 - - - - 3 3 - -
100. 0 100. 0 - - - - 100. 0 100.0 - -
ZDMoOE 6 0Ll E - - - - - - - - - -
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100. 0 100. 0 - - - - 100.0 100. 0 - -
] - - - - - - - - - -
B17  SkEH - SkEIRI
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100. 0 100. 0 - - - - 100. 0 100. 0 - -
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100. 0 100. 0 - - - - 100. 0 100. 0 - -
KR B—H — 78 - 49 14 15 - 78 - 78 -
100. 0 - 62. 8 17.9 19.2 - 100. 0 - 100. 0 -
I [|] 25 12 10 - - - 12 10 - 2
100. 0 83.3 - - - 16.7 100. 0 83. 3 - 16.7
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100. 0 89.2 8.2 1.9 - 0.6 100. 0 89. 2 10. 1 0.6
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ZDMoOE 6 0Ll E - - - - - - - - - -
FOMDE AR 1 1 1 1 - 1 - - - -
100. 0 100. 0 100. 0 100. 0 - 100. 0 - - - -
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TR
RTNEAXAT X0 7 A - - - - - - - - - -
WA T VR 6 5 2 5 - 2 - - - -
100. 0 83.3 33.3 83.3 - 33.3 - - -
AT L7 AR UERE 1 1 - 1 - 1 1 1 -
100. 0 100. 0 - 100. 0 - 100. 0 100. 0 100. 0 -
J REEVE B+ ol (S ALl 158 143 72 84 31 57 44 17 5 3
100. 0 90.5 45,6 53.2 19.6 36. 1 27.8 10. 8 3.2 1.9
BEIREZee: (FEEEHR) 275 223 93 162 89 73 58 49 17 2
100. 0 81.1 33.8 58.9 32. 4 26.5 21.1 17.8 6.2 0.7

fEm]

o




19 BRSO MEDEH
fI1 et (- i)

2 Ik [ il M [ HE {4 15 R x % W
= 1] 4 fiz ) R Fen Fl ~ s b’y D 72t
El]| Ji 5 L [£3] BN = fi i U il
# 2z % ES M %) A ] e ]
% = 1 7K | = W R X Z28
i3 i L S RKAHE L
i fiF i B A s
. D HE S5 e
[E3] i 5 £S)
| i 17
2 K& 2
Hh D <
ESREIN 440 369 229 68 258 136 6 18 3 289 16 15 2
100. 0 83.9 52.0 15.5 58. 6 30.9 1.4 4.1 5.2 65. 7 3.6 3.4 0.5
B 107 87 44 22 63 27 4 7 7 51 4 2 1
100. 0 81.3 41.1 20. 6 58.9 25. 2 3.7 6.5 6.5 47.7 3.7 1.9 0.9
HHk 111 99 54 13 71 41 1 3 5 83 6 2 -
100. 0 89. 2 48.6 11.7 64. 0 36.9 0.9 2.7 4.5 74.8 5.4 1.8 -
o [E 108 85 65 14 55 35 - 3 5 65 3 8 1
100. 0 78.7 60. 2 13.0 50. 9 32. 4 - 2.8 4.6 60. 2 2.8 7.4 0.9
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B AR 1 1 - - - - - - - - - -
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100. 0 93.9 48.5 15.2 69. 7 36. 4 3.0 6.1 9.1 69. 7 9.1 3.0 -
Fik 6 OmfULE 16 14 8 2 10 7 - - 1 11 2 1 -
100. 0 87.5 50. 0 12.5 62.5 43.8 - - 6.3 68. 8 12.5 6.3 -
FE AR R 2 2 1 - 1 1 - - - 2 - -
100. 0 100. 0 50. 0 - 50. 0 50. 0 - - - 100. 0 -
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100. 0 78.7 60. 2 13.0 50. 9 32. 4 - 2.8 4.6 60. 2 2.8 7.4 0.9
HE 20 30mARUT 56 45 38 6 27 22 - - 3 35 1 5 -
100. 0 80. 4 67.9 10.7 48.2 39.3 - - 5.4 62.5 1.8 8.9 -
FE 40 -5 0%t 40 29 20 6 22 9 - 2 2 23 2 2 1
100. 0 72.5 50. 0 15.0 55. 0 22.5 - 5.0 5.0 57.5 5.0 5.0 2.5
FE 6 0Bl E 10 9 6 1 5 3 - 1 - 5 - 1 -
100. 0 90. 0 60. 0 10.0 50. 0 30.0 - 10.0 50. 0 - 10.0 -
HRE A ] 2 2 2 1 1 1 1 - - - 2 - -
100. 0 100. 0 50. 0 50. 0 50. 0 50. 0 - - - 100. 0 - - -
HE 2k 106 93 63 19 66 30 1 4 6 85 3 3 -
100. 0 87.7 59. 4 17.9 62.3 28.3 0.9 3.8 5.7 80. 2 2.8 2.8 -
BE 20 - 30T 67 59 42 7 43 18 - 2 2 57 1 2 -
100. 0 88. 1 62.7 10. 4 64. 2 26.9 - 3.0 3.0 85. 1 1.5 3.0 -
HiE 40 - 5 0%ft 29 27 16 9 17 9 1 2 3 21 2 1 -
100. 0 93.1 55. 2 31.0 58. 6 31.0 3.4 6.9 10.3 72. 4 6.9 3.4 -
#E 6 0Omfll b 9 6 5 2 5 2 - - 1 6 - - -
100. 0 66. 7 55. 6 22.2 55. 6 22.2 - - 11.1 66. 7 - - -
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100. 0 100. 0 - 100. 0 100. 0 100. 0 - - - 100. 0 - - -
FOMODE AR 8 5 3 - 3 3 - 1 - 5 - - -
100. 0 62.5 37.5 - 37.5 37.5 - 12.5 - 62.5 - - -
ZFOMDE 20 - 30N 4 3 2 - - 2 - - - 1 - - -
LLF 100. 0 75.0 50. 0 - 50. 0 - - 25.0 - - -
FOMDOE 40 - 50t 3 1 1 - 2 1 - 1 - 3 - - -
100. 0 33.3 33.3 - 66. 7 33.3 - 33.3 - 100. 0 - - -
ZoMmoE 6 0Ll L - - - - - - - - - - - - -
FOMDE AR 1 1 - - 1 - - - - 1 - - -
100. 0 100. 0 - - 100. 0 - - - - 100. 0 - - -
] - - - - - - - - - - - - -
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B! 21 14 9 2 7 10 - - 1 14 2 -
100. 0 66. 7 42.9 9.5 33.3 47.6 - - 4.8 66. 7 - 9.5 -
kB Y E—&—THIkEE 329 285 179 48 204 98 3 11 4 217 11 8 1
100. 0 86. 6 54. 4 14.6 62.0 29. 8 0.9 3.3 4,3 66. 0 3.3 2.4 0.3
KR B—H — 78 60 36 16 38 27 3 5 6 52 4 5 1
100. 0 76.9 46. 2 20.5 48.7 34. 6 3.8 6.4 7.7 66. 7 5.1 6.4 1.3
I [|] 25 12 10 5 2 9 1 - 2 2 6 1 - -
100. 0 83. 3 41.7 16.7 75.0 8.3 - 16.7 16.7 50. 0 8.3 -
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HEE AR IR 1 - - - - Z - . 1
100. 0 - - - - - - - 100. 0
ZOMOE 2R 8 2 2 4 - 1 - 5 1
100. 0 25.0 25.0 50. 0 - 12.5 - 62.5 12.5
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SER Y B— & —THIkE 329 110 59 97 26 25 21 18 141
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100. 0 - 100. 0 - - - - 0.2
] - - - - - - - -
B17  SkEH - SkEIRI
w3k | 21 10 4 1 - 5 1 20 3.5
100. 0 47.6 19.0 4.8 - 23.8 4.8 4.7
SER Y B— & —THIkE 329 152 80 28 - 60 9 320 3.6
100. 0 46. 2 24.3 8.5 - 18.2 2.7 75.3
KR B—H — 78 35 20 1 - 17 5 73 3.5
100. 0 44.9 25.6 1.3 - 21.8 6.4 17.2
I [|] 25 12 2 6 - - 4 - 12 2.8
100. 0 16. 7 50. 0 - - 33.3 - 2.8
TR
RTNEAXAT X0 7 A - - - - - - - -
Wil AT VIR E 6 5 - - - 1 - 6 4.2
100. 0 83.3 - - - 16.7 - 1.4
AT L7 AR UERE 1 1 - - - - - 1 5.0
100.0 | 100.0 - - - - 0.2
J REEVE B+ ol (S ALl 158 74 37 7 - 35 5 153 3.5
100. 0 46. 8 23. 4 4.4 - 22.2 3.2 36.0
BEIREZee: (FEEEHR) 275 119 73 23 - 50 10 265 3.6
100. 0 43.3 26.5 8.4 - 18.2 3.6 62. 4
i EpA - - - - - - - -
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B 107 65 33 6 - - 3 - 107 4.4
100. 0 60. 7 30. 8 5.6 - - 2.8 - 24.7
ik 111 57 42 5 1 - 3 3 108 4.4
100. 0 51.4 37.8 4.5 0.9 - 2.7 2.7 24.9
eS| 108 71 24 3 - - 7 3 105 4.4
100. 0 65. 7 22.2 2.8 - - 6.5 2.8 24.2
% 5] 106 73 27 6 - - - - 106 4.6
100. 0 68.9 25.5 5.7 - - - - 24. 4
Z DA 8 2 2 - - - 4 8 2.3
100. 0 25.0 25.0 - - - 50. 0 - 1.8
i EpES - - - - - - - - -
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100. 0 60. 7 30. 8 5.6 - - 2.8 - 24.7
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100. 0 68. 3 26. 8 4.9 - - - - 9.4
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100. 0 50. 0 39. 1 8.7 - - 2.2 - 10.6
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100. 0 68. 4 21.1 - - - 10.5 - 4.4
B AR 1 1 - - - - - - 1 5.0
100.0 | 100.0 - - - - - 0.2
FH 2K 111 57 42 5 1 - 3 3 108 4.4
100. 0 51.4 37.8 4.5 0.9 - 2.7 2.7 24.9
HF#E 20 ¢ 3O0RULT 60 28 24 4 1 - 3 - 60 4.2
100. 0 46. 7 40. 0 6.7 1.7 - 5.0 - 13.8
FEE 40 - 50t 33 18 13 1 - - - 1 32 4.5
100. 0 54.5 39. 4 3.0 - - - 3.0 7.4
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100. 0 62.5 25.0 - - - - 12.5 3.2
FE AR R 2 1 1 - - - - - 2 4.5
100. 0 50. 0 50. 0 - - - - 0.5
HE 2k 108 71 24 3 - - 7 3 105 4.4
100. 0 65. 7 22.2 2.8 - - 6.5 2.8 24.2
HE 20 30mARUT 56 39 12 2 - - 3 - 56 4.4
100. 0 69. 6 21.4 3.6 - - 5.4 - 12.9
FE 40 -5 0mft 40 23 11 - - - 4 2 38 4.2
100. 0 57.5 27.5 - - - 10.0 5.0 8.8
FE 6 0Bl E 10 7 1 1 - - - 1 9 4.7
100. 0 70.0 10.0 10.0 - - - 10.0 2.1
HE AR R 2 2 - - - - - 2 5.0
100.0 | 100.0 - - - - - 0.5
HE 2k 106 73 27 6 - - - - 106 4.6
100. 0 68.9 25.5 5.7 - - - - 24. 4
E 20 - 3 0mfNULTF 67 50 16 1 - - - - 67 4.7
100. 0 74. 6 23.9 1.5 - - - - 15.4
HE 40 -5 0t 29 19 7 3 - - - - 29 4.6
100. 0 65.5 24.1 10.3 - - - - 6.7
#E 6 0Omfll b 9 3 4 2 - - - - 9 4.1
100. 0 33.3 44. 4 22.2 - - - - 2.1
HEE AR IR 1 1 - - - - - - 1 5.0
100.0 | 100.0 - - - - - - 0.2
ZOMOE 4k 8 2 2 - - - 4 - 8 2.3
100. 0 25.0 25.0 - - - 50. 0 - 1.8
FOMoE 20 - 30N 4 1 1 - - - 2 - 4 2.3
IR 100. 0 25.0 25.0 - - - 50. 0 - 0.9
FOMDE 40 ¢ 505 3 1 - - - - 2 - 3 1.7
100. 0 33.3 - - - - 66. 7 - 0.7
ZDMoOE 6 0Ll E - - - - - - - - -
FOMDE AR 1 - 1 - - - - - 1 4.0
100. 0 - 100. 0 - - - - - 0.2
] - - - - - - - - -
B17  SkEH - SkEIRI
w3k | 21 13 4 2 - - 2 - 21 4.1
100. 0 61.9 19.0 9.5 - - 9.5 - 4.8
SER Y B— & —THIkE 329 200 100 14 1 - 11 3 326 4.4
100. 0 60. 8 30. 4 4,3 0.3 - 3.3 0.9 75. 1
KR B—H — 78 50 20 3 - - 3 2 76 4.5
100. 0 64. 1 25.6 3.8 - - 3.8 2.6 17.5
I [|] 25 12 5 4 1 - - 1 1 11 4.0
100. 0 41.7 33.3 8.3 - 8.3 8.3 2.5
TR
RTNEAXAT X0 7 A - - - - - - - - -
BRI T VR 6 6 - - - - - - 6 5.0
100.0 | 100.0 - - - - - - 1.4
AT L7 AR UERE 1 1 - - - - - 1 5.0
100.0 | 100.0 - - - - - - 0.2
J REEVE B+ ol (S ALl 158 88 50 3 - - 14 3 155 4.2
100. 0 55. 7 31.6 1.9 - - 8.9 1.9 35.7
BEIREZee: (FEEEHR) 275 173 78 17 1 - 3 3 272 4.5
100. 0 62.9 28. 4 6.2 0.4 - 1.1 1.1 62.7
i EpA - - - - - - - - -
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FE AR R 2 1 1 - - - - 2 3.5
100. 0 - 50. 0 50. 0 - - - - 0.5
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HE AR R 2 1 1 - - - - - 2 4.5
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100. 0 - 100. 0 - - - - - 0.2
ZOMOE 4k 8 2 1 2 - - 3 - 8 2.5
100. 0 25.0 12.5 25.0 - - 37.5 - 1.9
FOMoE 20 - 30N 4 1 - 1 - - 2 - 4 2.0
IR 100. 0 25.0 - 25.0 - - 50. 0 - 0.9
FOMDOE 40 - 50t 3 1 - 1 - - 1 - 3 2.7
100. 0 33.3 - 33.3 - - 33.3 - 0.7
ZDMoOE 6 0Ll E - - - - - - - - -
FOMDE AR 1 - 1 - - - - - 1 4.0
100. 0 - 100. 0 - - - - - 0.2
] - - - - - - - - -
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100. 0 34.7 37.7 10.9 0.6 - 14.0 2.1 75. 6
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100. 0 33.5 35. 4 9.5 - - 16.5 5.1 35.2
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100. 0 36.0 39.6 13.5 2.7 0.9 5.4 1.8 25.0
HF#E 20 ¢ 3O0RULT 60 22 21 10 3 1 3 - 60 3.9
100. 0 36.7 35.0 16.7 5.0 1.7 5.0 - 13.8
FEE 40 - 50t 33 11 16 5 - - 1 - 33 4.1
100. 0 33.3 48.5 15.2 - - 3.0 - 7.6
Fik 6 OmfULE 16 7 5 - - - 2 2 14 3.9
100. 0 43.8 31.3 - - - 12.5 12.5 3.2
FE AR R 2 - 2 - - - - - 2 4.0
100. 0 - 100. 0 - - - - 0.5
HE 2k 108 51 34 11 1 2 7 2 106 4.0
100. 0 47.2 31.5 10.2 0.9 1.9 6.5 1.9 24.3
HE 20 30mARUT 56 24 22 8 - 1 1 - 56 4.2
100. 0 42,9 39.3 14.3 - 1.8 1.8 - 12.8
FE 40 -5 0mft 40 20 11 3 - - 5 1 39 3.9
100. 0 50. 0 27.5 7.5 - - 12.5 2.5 8.9
FE 6 0Bl E 10 5 1 - 1 1 1 1 9 3.6
100. 0 50. 0 10.0 - 10.0 10.0 10.0 10.0 2.1
HE AR R 2 2 - - - - - - 2 5.0
100.0 | 100.0 - - - - - 0.5
HE 2k 106 50 32 17 6 - 1 - 106 4.2
100. 0 47.2 30. 2 16.0 5.7 - 0.9 - 24.3
E 20 - 3 0mfNULTF 67 31 19 12 4 - 1 - 67 4.1
100. 0 46. 3 28. 4 17.9 6.0 - 1.5 - 15.4
HE 40 -5 0t 29 15 9 4 1 - - - 29 4.3
100. 0 51.7 31.0 13.8 3.4 - - - 6.7
#E 6 0Omfll b 9 4 4 1 - - - - 9 4.3
100. 0 44. 4 44. 4 11.1 - - - - 2.1
HEE AR IR 1 - - - 1 - - - 1 2.0
100. 0 - - - 100. 0 - - - 0.2
ZOMOE 4k 8 2 1 - 1 - 4 - 8 2.0
100. 0 25.0 12.5 - 12.5 - 50. 0 - 1.8
FOMoE 20 - 30N 4 1 - - 1 - 2 - 4 1.8
IR 100. 0 25.0 - - 25.0 - 50. 0 - 0.9
FOMDE 40 ¢ 505 3 1 - - - - 2 - 3 1.7
100. 0 33.3 - - - - 66. 7 - 0.7
FOMDE 6 0Ll L - - - - - - - - -
FOMDE AR 1 - 1 - - - - - 1 4.0
100. 0 - 100. 0 - - - - - 0.2
] - - - - - - - - -
B17  SkEH - SkEIRI
w3k | 21 12 4 2 - 1 2 - 21 4.0
100. 0 57. 1 19.0 9.5 - 4.8 9.5 - 4.8
SER Y B— & —THIkE 329 146 110 41 12 1 17 2 327 4.0
100. 0 44, 4 33.4 12.5 3.6 0.3 5.2 0.6 75.0
KR B—H — 78 34 27 8 1 1 5 2 76 4.0
100. 0 43.6 34.6 10. 3 1.3 1.3 6. 4 2.6 17.4
I [|] 25 12 5 4 1 1 - 1 - 12 3.8
100. 0 41.7 33.3 8.3 8.3 - 8.3 - 2.8
TR
RTNEAXAT X0 7 A - - - - - - - - -
Wil AT VIR E 6 1 4 1 - - - - 6 4.0
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AT L7 AR UERE 1 1 - - - - - - 1 5.0
100.0 | 100.0 - - - - - - 0.2
J REEVE B+ ol (S ALl 158 70 41 23 5 3 14 2 156 3.8
100. 0 44, 3 25.9 14.6 3.2 1.9 8.9 1.3 35. 8
BEIREZee: (FEEEHR) 275 125 100 28 9 - 11 2 273 4.1
100. 0 45.5 36. 4 10.2 3.3 - 4.0 0.7 62. 6
i EpA - - - - - - - - -
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100. 0 46. 8 38.7 10. 8 - - 2.7 0.9 25.2
eS| 108 63 29 4 2 - 9 1 107 4.2
100. 0 58.3 26.9 3.7 1.9 - 8.3 0.9 24.5
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100. 0 45.3 29.2 16.0 7.5 - - 1.9 23.9
D, 8 3 - - 1 - 4 - 8 2.1
100. 0 37.5 - - 12.5 - 50. 0 - 1.8
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B 2R 107 51 38 8 3 - 7 - 107 4.1
100. 0 47.7 35.5 7.5 2.8 - 6.5 - 24.5
B 20 - 30ANLULT 41 20 17 3 1 - - - 41 4.4
100. 0 48.8 41.5 7.3 2.4 - - - 9.4
B 40 - 50N 46 23 14 3 2 - 4 - 46 4.0
100. 0 50. 0 30. 4 6.5 4,3 - 8.7 - 10.6
BiE 6 0Ll E 19 8 7 2 - - 2 - 19 3.9
100. 0 42.1 36. 8 10.5 - - 10.5 - 4.4
B AR 1 - - - - - 1 1 0.0
100. 0 - - - - - 100.0 - 0.2
FH 2K 111 52 43 12 - - 3 1 110 4.3
100. 0 46. 8 38.7 10. 8 - - 2.7 0.9 25.2
HF#E 20 ¢ 3O0RULT 60 28 22 7 - - 3 - 60 4.2
100. 0 46. 7 36.7 11.7 - - 5.0 - 13.8
FEE 40 - 50t 33 16 14 3 - - - - 33 4.4
100. 0 48.5 42,4 9.1 - - - - 7.6
Fik 6 OmfULE 16 8 6 1 - - - 1 15 4.5
100. 0 50. 0 37.5 6.3 - - - 6.3 3.4
FE AR R 2 - 1 1 - - - - 2 3.5
100. 0 - 50. 0 50. 0 - - 0.5
HE 2k 108 63 29 4 2 - 9 1 107 4.2
100. 0 58. 3 26.9 3.7 1.9 - 8.3 0.9 24.5
HE 20 30mARUT 56 32 19 2 - - 3 - 56 4.3
100. 0 57. 1 33.9 3.6 - - 5.4 - 12.8
FE 40 -5 0mft 40 23 9 1 1 - 6 - 40 3.9
100. 0 57.5 22.5 2.5 2.5 - 15.0 - 9.2
FE 6 0Bl E 10 6 1 1 1 - - 1 9 4.3
100. 0 60. 0 10.0 10.0 10.0 - - 10.0 2.1
HE AR R 2 2 - - - - 2 5.0
100.0 | 100.0 - - - - 0.5
HE 2k 106 48 31 17 8 - - 2 104 4.1
100. 0 45.3 29. 2 16.0 7.5 - - 1.9 23.9
E 20 - 3 0mfNULTF 67 29 19 11 7 - - 1 66 4.1
100. 0 43.3 28. 4 16. 4 10. 4 - - 1.5 15. 1
HE 40 -5 0t 29 14 9 4 1 - - 1 28 4.3
100. 0 48. 3 31.0 13.8 3.4 - - 3.4 6.4
#E 6 0Omfll b 9 5 2 2 - - - - 9 4.3
100. 0 55. 6 22.2 22.2 - - - - 2.1
HEE AR IR 1 - 1 - - - - - 1 4.0
100. 0 - 100. 0 - - - - - 0.2
ZOMOE 4k 8 3 - - 1 - 4 - 8 2.1
100. 0 37.5 - - 12.5 - 50. 0 - 1.8
FOMoE 20 - 30N 4 1 - 1 - 2 - 4 1.8
IR 100. 0 25.0 - 25.0 - 50. 0 - 0.9
FOMDE 40 ¢ 505 3 1 - - - - 2 - 3 1.7
100. 0 33.3 - - - - 66. 7 - 0.7
ZDMoOE 6 0Ll E - - - - - - - - - -
FOMDE AR 1 1 - - - - - - 1 5.0
100.0 | 100.0 - - - - - - 0.2
] - - - - - - - - - -
B17  SkEH - SkEIRI
w3k | 21 10 4 3 1 - 3 - 21 3.7
100. 0 47.6 19.0 14. 3 4.8 - 14. 3 - 4.8
SER Y B— & —THIkE 329 161 109 29 11 - 16 3 326 4.1
100. 0 48.9 33.1 8.8 3.3 - 4.9 0.9 74. 8
KR B—H — 78 41 23 9 1 - 3 1 77 4.2
100. 0 52.6 29.5 11.5 1.3 - 3.8 1.3 17.7
I [|] 25 12 5 5 - 1 - 1 - 12 3.9
100. 0 41.7 41.7 - 8.3 - 8.3 - 2.8
TR
RTNEAXAT X0 7 A - - - - - - - - - -
Wil AT VIR E 6 3 3 - - - - - 6 4.5
100. 0 50. 0 50. 0 - - - - - 1.4
AT L7 AR UERE 1 1 - - - - - 1 5.0
100.0 | 100.0 - - - - - 0.2
J REEVE B+ ol (S ALl 158 74 52 15 3 - 13 1 157 4.0
100. 0 46. 8 32.9 9.5 1.9 - 8.2 0.6 36.0
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i EpA - - - - - - - - -




16 @BEREBHBOLICHT MM (F—v2 - BHTRL)

fI1 et (- i)

X S 2 S PN %
7z 0 i 0 7= £
i Titd it N N AN I i o
& pis el Tt Tt L [i] &
¥
=
ESE N 440 333 85 5 1 14 2 438 4.6
100. 0 75.7 19. 3 1.1 0 3.2 0.5 100. 0
B 107 79 27 - - 1 - 107 4.7
100. 0 73.8 25.2 - - 0.9 - 24.4
ik 111 73 29 4 1 3 1 110 4.5
100. 0 65. 8 26. 1 3.6 0.9 2.7 0.9 25. 1
eS| 108 85 15 1 - 6 1 107 4.6
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100. 0 87.7 12.3 - - - - 24.2
D, 8 3 1 - - 4 8 2.4
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FH 2K 111 73 29 4 1 3 1 110 4.5
100. 0 65. 8 26. 1 3.6 0.9 2.7 0.9 25. 1
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100. 0 60. 0 28.3 5.0 1.7 5.0 - 13.7
FEE 40 - 50t 33 26 6 1 - - - 33 4.8
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100. 0 50. 0 50. 0 - - - 0.5
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